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<?xml version="1.0" encoding="UTF-8"7>
CMCCI_IN200100UV01 ITSVersion="XML_1.0” xsi:schemalocation="urn:hl7-org:v3 MCCI_IN200100UVOL. xsd” xmins="urn:hl7-org:v3” xmlns:xsi="http://www. 3. org/
2001/XMLSchema—-instance”™ ’
<id extension="N.1.2"” root="2.16.840. 1. 113883. 3. 989. 2. 1. 3.22"/>
<¢l— N.1.2: Batch Number —>
(creationTime value="20101214151617"/>
<{l-— N.1.5: Date of Batch Transmission —> )
<responseModeCode code="D"/> . .
<interactionld extension="MCCI_IN200100UVO1” root="2.16.840. 1. 113883.1.6"/> .
<name code="N.1.1” codeSystem="2.16.840.1.113883.3.989.2.1.1.1"/>
<l-- N.1.1: Type of Messages in Batch —>
<l— Message #1 —>
<PORR_IN0490160UV>
<id extension="N.2.r.1” root="2.16.840. 1. 113883.3.989.2.1.3.17/>
¢}—— N.2.r.1: Message Identifier —>
{creationTime value="20101214151617"/>
<l-- N.2.r.4: Date of Message Creation ——>
{interactionId extension="PORR_IN049016UV” root="2.16.840.1. 113883..1.67/>
<processingCode code="P"/>
{processinglodeCode. code="T"/>
<acceptAckCode code="AL"/>
<receiver typeCode="RCV">
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.Z2.r.3” root="2.16.840:1.113883.3.989.2. 1. 3. 12”/>
¢!— N.2.r.3: Message Receiver Identlfler —>
{/device>
{/receiver>
<sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N, 2.r.2” root="2. 16. 840, 1, 113883, 3.989.2.1.3.117/>
(t— N.2.r.2: Message Sender Identifier -->
</deviced
{/sender>
<controlActProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TE049016UV" codeSystem="2. 16. 840. 1. 113883. 1. 18"/>
<I— HL7 Trigger Event ID —>
CeffectiveTime value="20101214151617"/>
<l-- C.1.2: Date of Creation —>
<subject typeCode="SUBJ">
<investigationEvent classCode="INVSTG” moodCode="EVN">
<id extension="C.1.1” root="2, 16,840, 1.113883.3.989.2.1.3.17/>
<!—'C.1.1: Sender’s (case) Safety Report Unique Identifier —>
<id extension="C.1.8.1” root="2.16.840.1.113883.3.989.2.1.3.2"/>
<l— €. 1.8.1: Worldwide Unique Case Identification Number —>
<id extension="J2.1b” root="2.16.840.1.113883.3.989.5.1.3.2.3.1"/>
<I— @eaJ2. 1b: WMAES (BF) —
<ecode code="PAT_ADV_EVNT” codeSystem='2. 16, 840. 1. 113883. 5.47/>
<text>H. I</text>
<l— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Addltlonal Relevant Information ——>
{statusCode code="active”/>
<|— 86@J2.7.1 5B7. ﬂe;uTl:ﬁ -
<effectiveTime>
<low value="20090101"/>
<l— C.1.4: Date Report Was First Recelved from Source ——)
{/effectiveTime>
<availabilityTime value="20090101"/>
<l— C.1.5: Date of Most Recent Information for This Report —>
<reference typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1.-1. 27" displayName="documentsHeldBySender”/>
<titledC.1.6. 1. r. I</title> )
¢l-— C.1.6.1.r.1: Documents Held by Sender (repeat as necessary) #l ——>
<text mediaType="application/pdf” representation="B64 >C.1.6.1.r.2</text>
(I— C.1.6.1.1.2: Included Documents #1 —> .
</document> .
{/reference>
<reference ‘typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
(code code="1" codeSystem="2. 16. 840. 1, 113883. 3.989. 2. 1. 1. 27" displayName="documentsHeldBySender”/>
<title>C. 1. 6. 1. r. 1</title>
<l— C.1.6.1.r. 1: Documents Held by Sender (repeat as necessary) #2 ——>
(text mediaType="image/jpeg” representation="B64” compression="DF">C.1.86. 1. r.2<{/textd>
¢{I-- C.1.6.1.x.2: Included Documents #2 —>
</document>
{/reference>



{reference typeCode="REFR™>
{document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem=" 2.16.840. 1. 113883. 3.989. 2. 1. 1. 27" displayName=" lxteratureReference />
<titledJ2. 17.x</titled
<l— @88]2.17.r RBR/HWROLE #1 —
(text mediaType="application/pdf” representation="B64">C.4.r.2</text>
<)—- C.4.r1.2: Included Documents #1 —>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
¢l-= C.4.r.1: Literature Reference(s) #1 ~—>
{participation typeCode="AUT">
¢assignedEntity classCode="ASSIGNED">
(representedOrganization classCode="ORG” determinerCode="INSTANCE">
<asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE">
{code code="J2.15.1r" codeSystem="1.0.3166.1.2.2"/>
<I|— @@@J2.15.r AFKH #1 >
</location>
{/asLocatedEntity>
{/representedOrganization>
</assignedEntity>
</participation>
</document>
</reference>
<reference typeCode="REFR”>
<document classCade="DOC” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2 1.1.277 d1splayName— literatureReference /)
<titledJ2. 17. x</titled
<1— @eay2. 17.r B /HROLER #2 —>
(text mediaType="application/pdf” representation="B64">C.4.r.2<{/text>
<l-— C.4.r.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1<{/bibliographicDesignationText>
{l-- C.4.r.1: Literature Reference(s) #2 ——>
(participation typeCode="AUT">
<asslgnedEnt1ty classCode="ASSIGNED”>
<represented0rganlzat10n classCode="0RG” determinerCode="INSTANCE™>
<asLocatedEnt1ty classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
{code code="J2.15.r" codeSystem="1.0.3166.1.2.2"/>
<1—— @80]J2.15.r AKE #2 —>
{/location>
{/asLocatedBntity>
{/representedOrganization>
¢/assignedEntity>
</participation>
</document>
{/reference>
<component typeCode="COMP">
(adverseEventAssessment classCode="INVSTG" moodCode="EVN">
<subjectl typeCode="SB]”>
{primaryRole  classCode="INVSB]">
{playerl classCode="PSN” determ1nerCode- INSTANCE” >
<name>D. 1<{/name>
¢}-— D.1: Patient (name or initials) —>
<administrativeGenderCode code="D.5” codeSystem="1.0.5218"/>
<l-- D.5 Sex —>
<birthTime value="20090101"/>
<!{-—— D.2.1: Date of Birth —>
{deceasedTime value="20090101"/>
<!— D.9.1: Date of Death —>
CasIdentifiedEntity classCode="IDENT">
<id extension="D.1.1.1” root="2.16.840.1.113883.3.989.2.1.3.7"/>
¢1— D.1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (GP Medical Record Number) —>
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 4" displayName="GP"/> .
{/asldentifiedEntity>
<asIdentifiedEntity classCode="IDENT">
<id extension="D.1.1.2" root="2.16.840. 1. 113883.3.989.2.1.3. 8'_'/)
¢!— D:1.1,2: Patient Medical Record Number(s) and Source(s) of the Record Number (Specialist Record Number) —>
<code code="2" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2. 1. 1. 4” displayName="Specialist”/>
{/asIdentifiedEntity>
<asIdentifiedEntity classCode="IDENT">
<id extension="D. 1. 1.3” root="2. 16, 840.1.113883.3.989.2.1.3.9"/>
¢<1— D.1.1.3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record Number) —>
<code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 4" displayName="Hospital Record”/>
{/asIdentifiedEntity>
CasldentifiedEntity classCode="IDENT™>



<id extension="D.1.1.4" root="2. 16.840. 1. 113883. 3. 989.2.1.3.10"/> .
<!— D.1.1.4: Patient Medical Record Number(s) and Source(s) of the Record Number (Investigation Number) —>
<code code="4" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1.4” displayName="Investigation”/>
</asldentifiedEntity>
<role classCode="PRS">
<code code="PRN” codeSystem="2.16.840. 1. 113883.5. 111"/>
<associatedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>D. 10. 1{/name> )
<}=- D.10.1: Parent Identification —>
<administrativeGenderCode code="D. 10.6” codeSystem="1.0.5218”"/>
¢I— D.10.6: Sex of Parent —>
<birthTime value="20090101"/>
<!-- D.10.2.1: Date of Birth of Parent -=>
</associatedPerson>
<subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="age”/>
{value xsi:type="PQ” value="10" unit="D.10.2.2b"/>
<I-- D.10.2.2a: Age of Parent (number) ——>
<!— D.10.2.2b: Age of Parent (unit) ——>
{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
<code code="22" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="lastMenstrualPeriodDate”/>
<value xsi:type="TS” value="20090101"/>
¢(}— D.10.3: Last Menstrual Period Date of Parent —>
{/observation>
</subjectOf2>
<subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
(code code="7" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” displayName="bodyWeight”/>
<value xsi:type="PQ” value="50" unit="kg"/>
<l-- D.10.4: Body Weight (kg) of Parent -—> .
{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
<code. code="17" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19” displayName="height”/>
<value xsi:type="PQ” value="160" unit="cm”/>
¢J--D,10.5: Height (cm) of Parent —>
{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ”>
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 20” displayName="relevantMedicalHistoryAndConcurrentConditions”/>
{component typeCode="COMP”> .
{observation classCode="0BS” moodCode="EVN">
<code code="D.10.7.1.r.1b” codeSystem="2. 16. 840. 1. 113883. 6. 163” codeSystemVersion="D. 10.7.1.1.1a"/>
<!— D.10.7.1.r.1a: MedDRA Version for Medical History #1 ——>
¢1== D.10.7.1.1.1b: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #1 —>
<effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
¢!-- D.10.7.1.r.2: Start Date #1 ——>
<high value="20090101"/>
<}— D.10.7.1.r.4: End Date #1 —>
</effectiveTime>
<outboundRelationship2 typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
{value xsi:type="ED">D.10.7.1.r.5</value>
¢1~-D.10.7.1.r.5: Comments #1 ——>
</observation>
</outboundRelationship2>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{code code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="continuing”/>
(value xsi:type="BL” value="true”/>
¢}~ D.10. 7. 1.x.3: Continuing #1 —>
</observation> :
</inboundRelationship>
{/observation>
</component>
<component typeCode="COMP">
Cobservation classCode="0BS” moodCode="EVN">



<code code="D.10.7.1.r.1b” codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="D. 10.7.1.r.1a"/>
¢1—— D.10.7.1.r. la: MedDRA Version for Medical History #2 —>
<!— D.10.7.1.r. 1b: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #2 -->
CeffectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
<!{—-D.10.7.1.r.2: Start Date #2 —>
<high value="20090101"/>
<l—D,10.7.1.r.4: End Date 2 —>
</effectiveTime>
{outboundRelationship? typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
Ccode code="10" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED"DD. 10.7. L. r. 5¢/valued
<=~ D.10.7.1.r.5: Comments #2 —>
</observation>
</outhoundRelationship2>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS" moodCode="EVN">
(code code="13" codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 19" displayName="continuing />
<value xsi:type="BL” value="true”/>
¢}— D.10.7.1.1.3: Continuing #2 —>
</observation>
</inboundRelationship>
</observation>
{/component>
(component typeCode="COMP">
Cobservation. classCode="0BS” moodCode="EVN">
<code code="18" codeSystem="2, 16, 840. 1. 113883, 3. 989. 2. 1 1.19” dlsplayName— historyAndConcurrentConditiohText”/)
<value xsi:type="ED™>D.10.7.2<{/value>
1= D.10.7.2: Text for Relevant Medical History and Concurrent Conditions of Parent —>
</observationd
</component>
</organizer>
</subject0f2>
¢subjectOf2 typeCode="SBJ">
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="2" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 20" displayName="drugHistory”/>
<component typeCode="COMP”>
(substanceAdministration classCode="SBADM” moodCode="EVN">
CeffectiveTime xsi:type="IVL_TS”>
<low value="200901017/>
<}— D.10.8.r.4: Start Date #1 —>
<high value="20090101"/>
<l-- D.10.8.r.5: End Date #1 —->
</effectiveTime>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
¢kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D. 10.8.r.2b” codeSystem="TBD-MPID” codeSystemVer51on— D. 10 8 r.2a"/>
<!-- D.10.8.r. 2a: MPID Version Date / Number #I —>
<{— D.10.8.1.2b: Medicinal Product Identifier (MPID) #1 —>
<name>D. 10. 8. r. 1{/name>
¢1-- D.10.8.r.1: Name of Drug as Reported #l —>
</kindOfProduct>
{/instance0fKind>
</consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16.840. 1. 113883. 3. 889. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="D.10.,8.r.6b” codeSystem="2.16.840. 1. 113883. 6, 163" codeSystemVersion="D. 10, 8.r.6a"/>
<1— D.10.8.r.6a: MedDRA Version for Indication #1 —>
<l~- D.10.8.r.6b: Indication (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS">
{observation classCode="0BS” moodCode="EVN">
Ccodé code="29" codeSysten="2.16.840.1; 113883. 3. 989.2. 1. 1. 19" -displayName="reaction”/>
(value xsi:type="CE” code="D. 10.8.r.7b” codeSystem="2.16.840. 1. 113883. 6, 163" codeSystemVersion="D, 10.8.r. 7a"/>
<1-~ D.10.8.r.7a: MedDRA Version for Reaction #1 —> ‘ :
<l— D.10.8.1.7b: Reactions (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{component typeCode="COMP”>



¢substanceAdministration classCodé="SBADM” moodCode="EVN">"
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢l— D.10.8.r.4: Start Date #2 —>
<high value="20090101"/>
<!— D.10.8.r.5: End Date #2 —>
{/effectiveTime> )
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT® determinerCode="KIND">
<code code="D. 10.8.r.3b"” codeSystem="TBD-PhPID” codeSystemVersion="D.10.8.x.3a"/>
<1-- D.10.8.r.3a: PhPID Version Date / Number #2 —-->
<!— D.10.8.r.3b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>D, 10. 8. r. 1{/name>
¢l-— D.10.8.r.1: Name of Drug as Reported #2 —>
</kindOfProduct>
</instance0fKind>
</consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS” moodCode="EVN" >
<code code="19" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” displayName="indication”/>
<value xsiitype="CE” code="D.10.8.r.6b” codeSystem="2.16.840. 1. 113883.6. 163" codeSystemVersion="D.10.8.r.6a"/>
<}—— D.10.8.r.6a: MedDRA Version for Indication #2 —>
<l-- D.10.8.r.6b: Indication (MedDRA code) #2 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
<observation classCode="0BS” moodCode="EVN">
(code code="29" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reaction”/>
Cvalue xsi:type="CE” code="D.10.8.r.7b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D. 10.8.r.7a"/>
<!— D.10.8.r.7a: MedDRA Version for Reaction #2 —>
<{!— D.10.8.1.7b: Reactions (MedDRA code) #2 —>
</observation>
{/outboundRelationship2>
{/substanceAdministration>
</component>
{/organizer>
{/subject0f2>
{/role>
</playerl>
<subject0f1 typeCode="SBJ”>
{researchStudy classCode="CLNTRL” moodCode="EVN">
<id extension="C.5.3” -root="2. 16. 840. 1, 113883. 3. 989. 2. 1. 3.5"/>
<!— C.5.3: Sponsor Study Number —>
<code code="C.5.4” codeSystem="2. 16.840. 1. 113883. 3.989.2.1.1.8"/>
<1— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed ——>
<title>C.5.2</title>
<l— C.5.2: Study Name —>
<authorization typeCode="AUTH™>
<studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.1” root="2.16.840. 1. 113883, 3.989.2.1.3.6"/>
<!— C.5.1.r.1: Study Registration Number #1 —->
<author typeCode="AUT">
<territorialAuthority classCode="TERR”>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="C.5.1.r.2" codeSystem="1.0. 3166.1.2.2"/>
<l— C.5.1.r.2: Study Registration Country #1 ——>
<{/governingPlace>
{/territorialAuthority>
</author>
{/studyRegistration>
</authorization>
<authorization typeCode="AUTH™>
¢studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.1” root="2. 16.840.1. 113883.3.989.2.1.3.67/>
¢I— C.5.1.x.1 Study Registration Number #2 —->
Cauthor typeCode="AUT">
<territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSystem="1, 0. 3166. 1.2.2"/>
<!-- C.5.1.r.2: Study Registration Country #2 —>
</governingPlace>
</territorialAuthority>
</author>
{/studyRegistration>



{/authorization>
{/researchStudy>
</subject0f1>
<subjectOf2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" displayName="age”/>
¢value xsi:type="PQ” value="10" unit="D.2.2b"/>
<1— D.2.2a: Age at Time of Onset of Reaction / Event (number) ——>
(}— D.2.2b: Age at Time of Onset of Reaction / Event (unit) —>
</observation>
{/sub ject0f2>
<subject0f2 typeCode="SB]"> .
{observation classCode="0BS” moodCode="EVN">
Ccode code="16" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 19" displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="D.2.2.1b"/>
¢!— D.2.2. la: Gestation Period When Reaction / Event Was Observed in the Foetus (number) —>
<1— D.2.2. 1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) —->
{/observation>
</sub ject0f2>
{subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="ageGroup />
{value xsi-type— CE” code="D. 2. 3" codeSystem="2. 16. 840. 1. 113883.3.989.2.1.1.9 />
¢1— D.2.3: Patient Age Group (as per reporter) —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]”>
(observation classCode="0BS” moodCode="EVN">
{code code="T" codeSystem="2.16. 840. 1. 113883, 3.989.2.1.1. 197 displayName= bodyWelght”/)
<value xsi:type="PQ” value="48.2" unit="kg”/>
<1=— D.3: Body Weight (kg) ——>
{/observation> ’
</sub ject0f2>
<sub ject0f2 typeCode— SBJ™>
(observation classCode="0BS” moodCode="EVN">
<code code="17" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1.19” displayName="height”/>
(value xsi:type="PQ” value="152" unit="cm”/>
<l— D.4: Height (cm) —>
</observation>
{/subject0f2>
<subject0f2 typeCode="SBI">
{observation classCode="0BS” moodCode="EVN">
<code code="22" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19" displayName="lastMenstrualPeriodDate”/>
<value xsi:type="TS” value="20090101"/>
¢{l— D.6: Last Menstrual Period Date ——>
{/observation>
</sub ject0f2>
¢subjectOf2 typeCode="SBJ">
(organizer classCode="CATEGORY” moodCode=" EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 20" displayName= "relevantMedicalHistoryAndConcurrentConditions”/>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
(code code="D.T.1.r.1b" -codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="D. 7. 1.r.1a”/>
¢}— D.7.1.r. 1a: MedDRA Version for Medical History #1 —>
(1= D.7.1.r.1b: Medical History (disease / surgical procedure / etc.) (MedDRA- code) #1 -
(effectiveTime xsi:type="IVL_TS">
Clow value="20090101"/>
¢}— D.7.1.r.2: Start Date #1 ——>
<high value="20090101"/>
<!— D.7.1.r.4: End Date #1 —>
{/effectiveTime>
{outboundRelationship2 typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN"> .
(code code="10" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" displayName=" comment'/>
<value xsi:type="ED">D,7.1.r.5</value>
{l— D.7.1.r.5: Comments #1 —>
{/observation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="EXPL”>
<observation classCode="0BS” moodCode="EVN">
<code code="38" -codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" displayName=" famllyﬂlstory “/>
(value xsi:type="BL” value="true”/>
<!— D.7.1.r.6: Family History #1 —>
{/observation>
</outboundRelationship2>



<inboundRelationship typeCode="REFR”>
Cobservation classCode="0BS” moodCode="EVN">
<code code="13" codeSystem="2,. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="continuing”/>
(value xsi:type="BL" value="true”/> ’
{!— D.7.1.r.3: Continuing #1 —>
</observation> .
{/inboundRelationship>
</observation>
{/component>
{component typeCode="COMP"> )
<observation classCode="0BS” moodCode="EVN">
<code code="D.7.1.r.1b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D.7.1.r.1a"/>
<!-- D.7.1.r. la: MedDRA Version for Medical History #2 —>
<1-- D.7.1.x.1b: Medical history (disease / surgical procedure / etc.) (MedDRA code) #2 ——>
<effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/> )
<l-=D.7.1.r.2: Start Date #2 —>
<high value="20090101"/>
<l-- D.7.1.r.4: End Date #2 —>
</effectiveTime> '
CoutboundRelationship2 typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19” displayName="comment” />
{value xsi:type="ED">D.7.1.r. 5</value>
1= D.7.1.r.5: Comments #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="EXPL">
<observation classCode="0BS” moodCode="EVN">
<code code="38" codeSystem="2, 16, 840, 1, 113883, 3.989. 2. 1. 1. 19" displayName="fanilyHistory”/>
Cvalue xsi:type="BL” value="true”/>
¢!~ D.7.1.r.6: Family History #2 —>
</observation>
{/outboundRelationship2>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
Lcode code="13" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” displayName="continuing”/>
<value xsi:type="BL” value="true”/>
<1-- D.7:1.r.3: Continuing #2 —>
</observation>
¢/inboundRelationship>
{/observation>
</component>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN"> ) ,
<code code="18" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19”7 displayName="historyAndConcurrentConditionText”/>
<value xsi:type="ED”>D.7.2<{/value>
<l-- D.7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction / event) —>
{/observation>
</component>
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="concomitantTherapy”/>
<value xsi:type="BL” value="true”/>
<!— D.7.3: Concomitant Therapies —>
</observation>
</component>
{/organizer>
{/subject0f2>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1. 20" displayName="drugHistory”/>
<component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
CeffectiveTime xsi:type="IVL_TS™> .
<low value="20090101"/>
(!~ D.8.r. 4 Start Date #1 —>
<high value="20090101"/>
¢l-— D.8.r.5: End Date #1 >
</effectiveTime>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D.8.T.2b" codeSystem="TBD-MPID” codeSystemVersion="D.8.r.2a"/>
<i-- D.8.r.2a: MPID Version Date / Number #1 —>

-7 -



¢1——'D.8.1.2b: Medicinal Product Identifier (MPID) #1 ——>
{name>D. 8. r. 1{/name>
1=~ D.8.r.1: Name of Drug as Reported #1 —>
. ¢/kindOfProduct>
¢/instance0fKind>
</consumable>
<outboundRelationship2 typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="indication”/>
<value xsi:type="CE” code="D.8.r.6b" codeSystem="2, 16. 840. 1. 113883. 6. 163" codeSystemVersion="D.8.r. 6a"/>
¢!=—— D.8.x.6a: MedDRA Version for Indication #1 —>
1= D.8.r.6b: Indication (MedDRA code) #1 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS">
<observation classCode="0BS” moodCode="EVN">
<code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reaction”/>
(value xsi:type="CE” code="D,8.r.7b" codeSystem="2. 16..840. 1. 113883, 6. 163" codeSystemVersion="D.8.r.7a"/>
¢l=— D.8.r.7a: MedDRA Version for Reaction #1 —>
¢l=— D.8.1.7b: Reaction (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
</component>
<component typeCode="COMP”>
{substanceAdministration classCode="SBADM" moodCode="EVN">
<effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
<l-—- D.8.r. 4: Start Date #2 —>
<high value="20090101"/>
<l-- D.8.r.5: End Date #2 ~—>
</effectiveTime>
<consumable typeCode="CSM™>
<instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<code code="D.8.r.3b” codeSystem="TBD-PhPID” codeSystemVersion="D.8.r.3a"/>
<l-- D.8.r.3a: PhPID Version Date / Number —>
¢}— D.8.1.3b: Pharmaceutical Product Identifier (PhPID) #2 ——>
<name>D. 8. r. 1{/name>
¢!-~ D.8.r.1: Name of Drug as Reported #2 —>
</kindOfProduct>
</instanceOfKind>
{/consumable>
{outboundRelationship2 typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
<code code="19" -codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" displayName="indication”/>
<value xsiitype="CE” code="D.8.r.6b” codeSystem="2.16.840. 1. 113883, 6. 163" codeSystemVersion="D. 8. r. 6a”/>
¢l— D.8.r.6a: MedDRA Version for Indication #2 —>
<|— D.8.r.6b: Indication (MedDRA code) #2 —>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="CAUS”>
{observation classCode="0BS” moodCode="EVN"> .
Ccode code="29" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1.19” displayName="reaction”/> B
(value xsi:type="CE” code="D.8.r.7b” codeSystem="2. 16. 840 1. 113883, 6. 163" codeSystemVersion="D.8.r.7a"/>
¢l-- D.8.r.7a: MedDRA Version for Reaction #2 —>
<!=— D.8.r.7b: Reaction (MedDRA code) #2 —>
</observation>
</outboundRelationship2>
</substanceAdministration>
{/component>
</organizer>
</subject0f2>
<subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
{Gode code="32" codeSystem="2. 16.840. 1. 113883. 3, 989. 2. 1. 1. 197 displayName="reportedCause0OfDeath”/>
<value xsi:type="CE” code="D. 9. 2. r. 15" ‘codeSystem="2. 16. 840; 1. 113883. 6. 163" codeSystemVersion="D. 9. 2. r. 1la”>
<{— D.9.2.r.la: MedDRA Version for Reported Cause(s) of Death #1 —> )
Qfﬂ&lnwikwnden@)dDﬂm(m@McM@#l—>
<originalText>D. 9. 2. r. 2¢/originalText>
¢!— D.9.2.1.2: Reported Cause(s) of Death (free text) #1 —>
</value>
</observation>
</subject0f2>
<subjectOf2 typeCode="SBJ">



{observation classCode="0BS” moodCode="EVN">
<code code="32" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reportedCauseQfDeath”/>
<value xsi:type="CE” code="D.9.2.r.1b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D.9.2.r.1a">
<!-——D.9.2.r.la: MedDRA Version for Reported Cause(s) of Death #2 —>
<l--D.9.2.r.1b: Reported Cause(s) of Death (MedDRA code) #2 —>
<originalText>D. 9, 2. r. 2¢/originalText>
<l-- D.9.2.r.2: Reported Cause(s) of Death (free text) #2 —>
</value>
" ¢/observation>
</subject0f2>
<subjectOf2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="autopsy”/>
Cvalue xsi:type="BL” value="true”/>
<!— D.9.3 Was Autopsy Done? —>
<outboundRelationship2 typeCode="DRIV">
<observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19” displayName="cause0fDeath”/>
<value xsi:type="CE” code="D.9.4.r.1b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D.9.4.r.1a">
{!=— D.9.4.r. 1a:" MedDRA Version for Autopsy-determined Cause(s) of Death f#1 —>
<!-- D.9.4.r.1b Autopsy-determined Cause(s) of Death (MedDRA code) #1 —->
<originalText>D. 9. 4. r. 2</originalText>
<!=—— D.9.4.r.2: Autopsy-determined Cause(s) of Death (free text) #1 ——>
</value>
</observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="DRIV">
{observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2.16.840. 1. 113883. 3. 989, 2..1. 1. 19” displayName="cause0fDeath”/>
<value xsi:type="CE” code="D.9.4.r.1b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D.9.4.r.1a”>
<!— D.9.4.r la: MedDRA Version for Autopsy—determined Cause(s) of Death #2 ——>
<!— D.9.4.r. 1b Autopsy-deternined Cause(s) of Death (MedDRA code) #2 -->
<originalText>D. 9. 4. r. 2</originalText>
<!~— D.9.4. 71, 2: Autopsy-determined Cause(s) of Death (free text) #2 —->
</value>
</observation>
{/outboundRelationship2> -
{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ”>
{observation classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6f4657f"/>
{code code="29" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1. 19" displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS™>
<{low value="20090101"/>
<!— E.i.4: Date of Start of Reaction / Event #l —>
<high value="20090102"/>
¢{!— E.i.5: Date of End of Reaction / Event #1 ——>
{/effectiveTime>
(value xsi:type="CE” code="E. i.2.1b” codeSystem="2.16.840. 1. 113883.6. 163" codeSystemVersion="E. i.2.1a">
<l-— E.i.2.1a: MedDRA Version for Reaction / Event #1 —>
{l— E.1.2.1b: Reaction / Event (MedDRA code) #1 —>
<originalText language="E.1i.1.1b">E.1i.1.1la{/originalText>
<l-- E.1i.l.1a: Reaction / Event as Reported by the Primary Source in Native Language #1 -—>
<l— B.1i.1.1b: Reaction / Event as Reported by the Primary Source Language #1 ——>
</value> ’
<location typeCode="LOC™>
<locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
{!— E.i.9: Identification of the Country Where the Reaction / Event Occurred #1 —>
</locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code ‘code="30" codeSystem="2. 16:840. 1.-113883. 3.989.2.1. 1. 19”7 -displayName="reactionForTranslation”/>
{value xsi:type="ED"E. 1.1, 2</value>
{!— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #1 -->
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” displayName="termHighlightedByReporter” />
<value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16, 840. 1. 113883. 3.989.2.1.1.10"/>
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¢}— E.i.3.1: Term Highlighted by the Reporter #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16. 840, 1.113883. 3,989, 2.1.1. 19" d1sp1ayName— "resultsInDeath”/>
~ <value xsi:type="BL" value="true”/>
¢I— E.i.3.2a: Results in Death #1 —>
{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
(code code="21" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19” displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢!—— E.i.3.2b: Life Threatening #1 —>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
(code code="33" codeSystem="2.16.840. 1. 113883. 3, 989. 2. 1. 1. 19” displayName="requiresInpatientHospitalization”/>
(value xsi:type="BL” value="true”/>
¢!— E.i.3.2c: Caused / Prolonged Hospitalisation #1 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS" moodCode— EVN™>
(code code="35" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 197 displayName="resultsInPersistentOrSignificantDisability”/>
(value xsi:type="BL” nullFlavor="NI"/>
¢!-- E.i.3.2d: Disabling / Incapacltatlng #1—>
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
Ccode code="12" codeSystem="2. 16.840. 1, 113883. 3. 989. 2. L. 1. 19” displayName= congenxtalAnomalyBLrthDefect />
<value xsi:type="BL” nullFlavor="NI"/> "
¢!-- E.i.3.2e: Congenital Anomaly / Birth Defect #1 —>
{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
(code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName= otherMedlcallyImpcrtantCondltxon />
(value xsi:type="BL” value="true”/>
¢l-- E.i.3.2f: Other Medically Important Condition #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883..3.989. 2. 1. 1. 19" displayName="outcome />
" ¢value xsi:type="CE” code="E.i.7” codeSystem="2.16.840.1.113883.3.989.2.1. 1. 11"/>
¢l-— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #1 —->
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName= medlca1Conf1rmat10nByHealthProfe551onal />
(value xsi:type="BL” value="true”/>
¢l-~ E.1.8: Medical Confirmation by Healthcare Professional #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
Ccode code="11" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 10" displayName="7R4} <L />
<value xsi:type="CE” code="J2.14.1i" codeSystem="2. 16, 840. 1. 113883, 3.989.5.1.3.2.1.8"/>
<I-- @00J2.14.1 kA0 - BEAD #1 —> : '
{/observation>
</outboundRelationship2>
¢/observationd

</sub ject0f2>

<subject0f2 typeCode="SBJ">
<observation classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8—4e6c-93e9-5b860b314220"/>
<code code="29" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2 1.1.19” displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢!-- E.i.4: Date of Start of Reaction / Event #2 —>
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{width value="24" unit="E.i.6b"/>
<]— E.i.6a: Duration of Reaction / Event (number) #2 ——>
<l-— E.i.6b: Duration of Reaction / Event (unit) #2 —>
</effectiveTime>
<value xsi:type="CE” code="E.i.2. 1b” codeSystem="2.16. 840. 1. 113883. 6. 163" codeSystemVersion="E.i.2 1a”>
<l— E.i.2.1a: MedDRA Version for Reaction / Event #2 —>
<!— E.i.2.1b: Reaction / Event (MedDRA code) #2 —>
CoriginalText language="E.i.1.1b™>E. i. 1. la{/originalText>
<!— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #2 ——>
¢!— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #2 —>
</value>
<location typeCode="LOC™>
KlocatedEntity classCode="LOCE”>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”™>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
<l-—— E.i.9: Identification of the Country Where the Reaction / Event Occurred #2 ——>
</locatedPlace>
{/locatedEntity>
</location> .
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="reactionForTranslation”/>
<value xsi:type="ED"DE.i. l.2</value>
¢!— E.1.1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16.840. 1. 113883, 3, 989.2.1.1.10"/>
{}~~ E.i.3.1:Term Highlighted by the Reporter #2 —->
</obsexrvation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. L. 1. 19” displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
¢}— E.i.3.2a: Results in Death #2 -->
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN"> . )
<code code="21" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
"¢l—— E.1.3.2b: Life Threatening #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="requiresInpatientHospitalization”/>
Cvalue xsi:type="BL” value="true”/> ' '
<l— E.1i.3.2c: Caused / Prolonged Hospitalisation #2 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2, 1. 1. 19” displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nullFlavor="NI"/> '
¢l-- E.i.3.2d: Disabling / Incapacitating #2 ——>
</observation> .~
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
<cade code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢l-- E.1i.3.2e: Congenital Anomaly / Birth Defect #2 ~->
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” displayName="otherMedicallyImportantCondition”/>
Cvalue xsi:type="BL” value="true”/>
<l— B.1i.3.2f: Other Medically Important Condition #2 —>
</observation>
</outboundRelationship2>
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CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2. 16.840.1.113883.3,989.2.1.1.19" displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2. 16. 840.1. 113883.3.989. 2, 1. 1. 11"/>
<!— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #2 —>
</observation> ’
</outboundRelationship2>
¢outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> )
{code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>
(value xsi:type="BL” value="true”/>
¢l-- E.i.8: Medical Confirmation by Healthcare Professional #2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
Ccode code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3. 2. 1. 10” displayName="4" - BEA"/>
{value xsi:type="CE” code="J2.14.1" codeSystem="2. 16. 840. 1. 113883. 3.989. 5.1.3.2.1.8"/>
<1 @e@J2.14.1 K0 - BExn #2 -
{/observation>
</outboundRelationship2>
</observation>
</sub ject0f2>
<subject0f2 typeCode="SBJ">
(ohservation classCode="0BS” moodCode="EVN">
<id root="3a8626cb—9f1b~4ea8-8a0f-e0ff34430adf”/>
(code code="29" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.19” displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS">
Kwidth value="24" unit="E.i.6b"/>
¢!-- E.i.6a: Duration of Reaction / Event (number) #3 —>
¢!—- E.i.6b: Duration of Reaction / Event (unit) #3 —>
’ <high value="20101201"/>
¢l— E.i.5: Date of End of Reaction / Event #3 —>
</effectiveTime>
<value xsi:type="CE” code="E.1i.2.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="E. i. 2. 1a”>
¢!— E.i.2.1a: MedDRA Version for Reaction / Event #3 —>
¢l1-- E.i.2.1b: Reaction / Event (MedDRA code) #3 ——>
<originalText language="E.i. 1. 1b">E. i. 1. la{/originalText>
¢l— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #3 —>
¢I-~ E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #3 —>
</value>
<location typeCode="LOC">
<locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E.i.9” codeSystem="1.0.3166.1.2.27/>
<l-— E.i.9: Identification of the Country Where the Reaction / Event Occurred #3 —>
</locatedPlace>
<{/locatedEntity>
</location>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="30" codeSystem="2. 16.840. 1. 113883. 3.989.2.1.1.19” displayName="reactionForTranslation”/>
<value xsi:type="ED™E.1i. L. 2¢/value>
<l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2.16. 840, 1. 113883.3.989.2.1.1.19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16.840. 1. 113883. 3.989.2.1.1.107/>
¢l—- E.i.3.1:Term Highlighted by the Reporter #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
Ccode code="34" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19” displayName="resultsInDeath”/>
¢value xsi:type="BL” value="true”/>
¢!— E.i.3.2a: Results in Death #3 —>
{/observation>
</outboundRelationship2>
CouthoundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2.16. 840. 1. 113883. 3.989.2.1.1.19” displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢(}=- E.i.3.2b: Life Threatening #3 ——> P
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{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>

{observation classCode="0BS” moodCode="EVN">

<code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989.2.1.1. 19”7
<value xsi:type="BL” value="true”/>
<l— E.i.3.2c: Caused / Prolonged Hospitalisation #3 —>
</observation)
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="35"
(value xsi:type="BL” nullFlavor="NI"/>
<¢!— E.i.3.2d: Disabling / Incapacitating #3 —>

{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">

{observation classCode="0BS” moodCode="EVN">

<code code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989 2.1.1.19"
<value xsi:type="BL” nullFlavor="NI"/>
¢l—- E.i.3.2e: Congenital Anomaly / Birth Defect #3 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT"> -
{observation classCode="0BS” moodCode="EVN">
{code code="26"
<value xsi:type="BL” value="true”/>
<l—— E.i.3.2f: Other Medically Important Condition #3 —>

{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">

{observation classCode="0BS” moodCode="EVN">

{code code="27"
<value xsi:type="CE”

codeSystem="2. 16. 840. 1. 113883. 3. 989.2.1. 1. 197

codeSystem="2. 16. 840, 1. 113883. 3.989.2.1. 1. 19”

codeSystem="2. 16. 840, 1. 113883. 3. 989.2.1. 1. 197
code="E. i.7” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 11"/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>

displayName="outcome” />

¢(I-— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>

{/observation>”
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19”
(value xsi:type="BL” value="true”/>

displayName="medicalConfirmationByHealthProfessional”/>

{l— E.i.8: Medical Confirmation by Healthcare Professional #3 —>

{/observationd
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="11"
(value xsi:type="CE” code="J2.14.i"
<I— @@eJ2.14.1 K40 - Bt #3 —>
{/observation)
</outboundRelationship2>
{/observation>

{/subject0f2>
<subject0f2 typeCode="SBJ”">

{observation classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80ff-dd8415f4f8a5"/>
<code code="29"
<effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="IVL_TS”>
<low value="20090101"/>
(l-- E.i.4: Date of Start of Reaction / Event #4 —>
<high value="201012017/>
¢l-— E.i.5: Date of End of Reaction / Event #4 ——>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<width value="24" unit="E.i.6b"/>
¢I=~ E.i.6a: Duration of Reaction / Event (number) #4 —>
¢!—— E.i.6b: Duration of Reaction / Event (unit) #4 —>
</comp>
</effectiveTime>
<value xsi:type="CE” code="E. i.2.1b”
¢!-— E.i.2.1a: MedDRA Version for Reaction / Event #4 —>
¢!-— E.i.2.1b: Reaction / Event (MedDRA code) #4 —>
CoriginalText language="E.i.l.1b">E. i.1.1a</originalText>

codeSysten="2. 16. 840, 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" displayName="54n - BER"/>
codeSystem="2. 16. 840. 1. 113883. 3.989.5.1.3.2.1.8"/>

codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="reaction”/>

codeSystem="2. 16, 840. 1. 113883, 6. 163" codeSystemVerslon— E.i.2.1a™>

¢|— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #4 —>
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¢1=— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language # —>
{/value>
<location typeCode="LOC">
(locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” detérminerCode="INSTANCE™>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
¢l-- B.i.9: Identification of the Country Where the Reaction / Event Occurred #4 ——)
</locatedPlace>
</locatedEntity>
</location>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2.16.840.1.113883.3.989.2. 1. 1. 19 displayName="reactionForTranslation”/>
<value xsi:type="ED”DE.i.l.2<{/value>
¢l— E.i.1.2: Reaction / Event as Reported by the Prlmary Source for Translation #4 —>
{/observation>
</outboundRelat10nsh1p2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<cade code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1.1.19” displayName=" termH1ghl1ghtedByReporter />
(value xsi:type="CE” code="E.i.3.1" codeSystem="2.16.840. 1.113883.3.989.2.1. 1. 107/>
¢l—— E.i.3.1:Term Highlighted by the Reporter #4 —>
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="" PERT”>
{ohservation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1.1.19" displayName="resultsInDeath”/>
¢value xsi:type="BL” value="true”/>
<l-~ E.i.3.2a% Results inh Death #4 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
¢observation classCode="0BS” moodCode="EVN">
(code code="21" codeSystem="2.16.840. 1. 113883. 3.989.2.1.1.19” displayName="isLifeThreatening”/>
{value xsi:type="BL” nullFlavor="NI"/>
<l-- E.i.3.2b: Life Threatening #4 —>
</observation>
</outboundRelationship2>
CoutboimdRelationship? typeCode="PERT"> -
{observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16. 840. 1. 113883, 3. 689. 2. 1. 1. 19 displayName="requiresInpatientHospitalization”/>
(value xsi:type="BL” value="true”/>
¢l-— E.i.3.2c: Caused / Prolonged Hospitalisation #4 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
{code code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989 2.1.1.19” displayName= resultsInPers1stent0r51gn1f1cantD1sabllxty />
<value xsi:type="BL" nullFlavor="NI"/>
¢l— E.i.3.2d: Disabling / Incapacitating #4 —>
{/observation>
</outboundRelationship2>
(outboundRelationship? typeCode="PERT” >
{observation classCode="0BS” moodCode="EVN">
(code code="12" codeSystem="2. 16. 840. 1.-113883. 3. 989. 2. 1 1.19” displayName="congenitalAnomalyBirthDefect”/>
¢value xsi:type="BL” nullFlavor="NI"/>
(l— E.i.3.2e: Congenital Anomaly / Birth Defect #4 —>
</observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
(observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName= otherMedlcallyImportantCondltlon c/>
<value xsi:type="BL” value="true”/>
¢l-~ E.i.3.2f: Other Medically Important Condition #4 —>
</observation>’
{/outboundRelationship2>
CoithotindRelationship? typeCode="PERT™> - -
{observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 19” displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1. 113883.3.989.2.1. L.11"/>
<!— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #4 —>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>

- 14 ~



Ccode code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName= medlcalConflrmat1onByHea1thProfesslonal />
<value xsi:type="BL” value="true”/>
¢l-— E.i.8: Medical Confirmation by Healthcare Professional #4 —>
{/observation>
* {/outboundRelationship2>
<outboundRelatjonship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="3R4n - BE&n"/>
<value xsi:type="CE” code="J2.14.1i” codeSystem="2.16. 840. 1. 113883.3.989.5.1.3.2.1.8"/>
<i-- @8@J2. 14. 1 k%0 - BEA #4 —>
{/observationd>
</outboundRelationship2>
{/observation>
</subject0f2>
(subject0f2 typeCode="SBJ”>
{observation classCode="0BS” moodCode="EVN">
<id root="1071064c~cf10-4a3b-83c1-34f9ddb7eabd”/> .
{code code="28" codeSystem="2.16. 840. 1. 113883, 3, 989. 2. 1, 1. 19” displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS™>.
<low value="200901017/>
{!— E.1i.4: Date of Start of Reaction / Event #5 —>
</effectiveTime> .
<value xsi:type="CE” code="E.1i.2.1b" codeSystem="2, 16, 840. 1. 113883. 6. 163" codeSystemVersion="E, i, 2, 1a">
{!-— E.i.2.1a: MedDRA Version for Reaction / Event #5 —>
<}— E.i.2.1b: Reaction / Event (MedDRA code) #5 —>
CoriginalText language="E.i.l.1h"DE.1. 1. 1al/originalText>
<t-— E.i.l.la: Reaction / Event as Reported by the Primary Source in Native Language #6 —>
<{}—— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #5 —->
</value>
<location typeCode="L0C”>
<locatedEntity classCode="LOCE”>
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
Ccode code="E.i.9” codeSystem="1.0. 3166.1.2.2"/>
{!-—— B.i.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
</locatedPlace>
</locatedEntity>
</location>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="30" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>
<value xsi:type="ED">E.1i. l.2<{/value>
{!— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. L. 1. 19” displayName="teruHighlightedByReporter”/>
<value xsi:type="CE” code="E.1i.3.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.10"/>
<{—— E.i.3.1:Term Highlighted by the Reporter #5 —>
</observationd>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19” displayName="resultsInDeath”/>
¢value xsi:type="BL” value="true”/>
¢l-— E.i.3.2a’ Results in Death #5 ——
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢l-- E.i.3.2b: Life Threatening #5 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{cbservation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true”/>
¢l-- E.i.3.2c: Caused / Prolonged Hospitalisation #5 -—>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2.16. 840. 1. 113883, 3, 989. 2. 1. 1. 19”7 displayName="resultsInPersistentOrSignificantDisability”/>

_15_



¢value xsi:type="BL” nullFlavor="NI"/>
¢!— E.i.3.2d: Disabling / Incapacitating #5 —>
{/cbservation>
</outboundRelationship2>
(outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem=’2.16;840.1.113883.3.989.2.1.1.19”'displayName=”congenitalAnomalyBirthDefect”/)
(value xsi:type="BL". nullFlavor="NI"/>"
¢l— E.i.3.2e: Congenital Anomaly / Birth Defect #5 —>
{/cbservation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
(observation classCode="0BS” moodCode="EVN">
(code code="26" codeSystem="2.16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” displayName="otherMedicallylmportantCondition”/>
(value xsi:type="BL” value="true”/>
{1— E.i.3.2f: Other Medically Important Condition #5 —
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="BYN">
(code code="27" codeSystem="2. 16.840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 11"/>
(l-- E.i.7: Outcome of Reaction / Event at the Time of Last Observation #5 —>
{/observation>
<{/outboundRelationship2>
¢outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 19” displayName= medlcalConflrmatlonByHealthProfesslonal />
(value xsi:type="BL" value="true”/>
¢{}— E.i.8: Medical Confirmation by Healthcare Professlonal #5 -—>
{/observation> !
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
(code code="11" codeSystem="2.16.840. 1. 113883. 3, 989. 5. 1.3.2. 1. 10" displayName="5K40 - BES"/>
(value xsi:type="CE” code="J2.14.1i” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 8 )
<l-- @80J2. 14.1 K40 - BE& #5 —> :
{/observation>
{/outboundRelationship2>
</observation>
</subject0f2>
(subject0f2 typeCode="SBJ”>
{observation classCode="0BS” moodCode="EVN">
<id root="1£927283-10b6-4334-9d43-e925640fb18£"/>
¢code code="29" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 19" displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS™>
<high value="20090101"/>
¢!-- E.i.4: Date of Start of Reaction / Event #6 —>
</effectiveTime>
(value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16. 840. 1. 113883. 6. 163" codeSystemVersion="E. i. 2. 1la”>
<1-— B.1i.2.1a: MedDRA Version for Reaction / Event #6 ——>
1= E.i.2 1b: Reaction / Event (MedDRA code) #6 —>
{originalText language="E.1i.1.1b">E. i. L. la</originalText>
{l— E.i.1.1la: Reaction / Event as Reported by the Primary Source in Native Language #6 —>
¢<I— B.i.1.1b: Reaction / Event as Reported by the Primary Source Language #6 ——>
</value> '
<location typeCode="LOC">
<locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
¢l—= E.1i.9: Identification of the Country Where the Reaction / Event Occurred #6 ——>
{/locatedPlace>
</locatedEntity>
" </location>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2. 16. 840. 1.113883. 3. 989. 2. 1. 1. 19” . displayName="reactionForTranslation”/>
(value xsi:type="ED">E.i.1. 2¢/value>
¢!—— E.i.1.2: Reaction / Event as Reported by the Prlmary Source for Translation #6 —>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN™>
(code code="37" codeSystem="2. 16.840. 1.113883. 3, 989.2.1.1.19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16. 840. 1. 113883, 3. 989.2. 1. 1. 10"/>

- 16 -



¢!-- E.i.3.1:Term Highlighted by the Reporter #6 —>
</cbservation)
</outboundRelationship2> -
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
¢!-- E.i.3.2a: Results in Death #6 —>
</observation> :
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
<l-- E.i.3.2b: Life Threatening #6 —>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true”/> ~
<¢{— E.i.3.2c: Caused / Prolonged Hospitalisation #6 —>
</observation>
</outboundRelationship2>
<outhoundRelationship2’ typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> . .
{code code="35" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2.1.1.19" displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI"/>
<l— E.1i.3.2d: Disabling / Incapacitating #6 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation,classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” displayName="congenitalAnomalyBirthDefect”/>
Cvalue xsi:type="BL” nullFlavor="NI"/>
<1-- B.i.3.2e: Congenital Anomaly / Birth Defect #6 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> :
<code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
¢l— E.i.3.2f: Other Medically Important Condition #6 —>
</observation> '
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 197 displayName="outcome”/>
¢value xsiitype="CE” code="E.i.7” codeSystem="2. 6. 840. 1. 113883.3.989.2.1.1.11"/>
<!-— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #6 ——>
</observation> :
(/outboundRelatlonshlpZ)
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="24" codeSystem="2, 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>
Cvalue xsi:type="BL” value="true”/>
<!— E.1i.8: Medical Confirmation by Healthcare Professional #6 —>
<{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10" dlsplayName— "HEn - BEENT/>
<value xsi:type="CE” code="J2.14.i” codeSystem="2. 16, 840.1.113883.3.989.5.1.3.2.1.8 7 />
<1— @@@J2.14. i K4 - BEsm #6 —>
{/observation)
{/outboundRelationship2>
{/observation>
</subject0f2>
<subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb-cel4bc279d8e”/>
{code code="29" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2, 1. 1. 197 displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS">
<width value="24" unit="E.i.6b"/>
¢l-~ E.i.6a: Duration of Reaction / Event (number) #7 —>
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¢!—— E.i.6b: Duration of Reaction / Event (unit) #7 —>
</effectiveTime>
<value xsi‘type="CE” code="E.i.Z2.1b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion=”E.i.2.la”>
¢!=— E.i.2.1a: MedDRA Version for Reaction / Event #7 —=>
({—— E.1i.2.1b: Reaction / Event (MedDRA code) #7 -->
<originalText language="E.i.1.1b">E.i. 1. 1a{/originalText>
¢l— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #7 -—>
¢{!——E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Language #7 —~>
</value>
<location typeCode="LOC">
<locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.i.9" codeSystem="1.0.3166.1.2.2"/>
¢l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #7 —>
</locatedPlace>
</locatedEntityd>
</location>
<outbotindRelationship? typeCode="PERT™>
(observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem='2.16.840.1.113883.3.9@9,2.1.1.19' displayName="reactionForTranslation”/>
<value xsi:type="ED”DE.i. l.2</value>
<l-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 ——>
</observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1 19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. '1.113883.3.989.2.1.1.10"/>
<l— B.i.3.1:Term nghlxghted by the Reporter #7 ——>
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” displayName="resultsInDeath”/>
¢value xsi:type="BL” value="true”/>
<l—— E.i.3.2a: Results in Death #7 —->
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN"> .
<code code="21" codeSystem="2: 16. 840. 1, 113883. 3. 989. 2. 1. 1. 19” displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/> ‘
<l-— E.i.3.2b: Life Threatening #7 —>
</observation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16.840. 1. 113883, 3,989. 2.1.1.19” displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true”/>
¢{l— E.i.3.2c: Caused / Prolonged Hospitalisation #7 —>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> )
<code code="35" codeSystem="2. 16, 840. 1. 113883, 3.989. 2. 1. 1. 19” displayName="resultsInPersistentOrSignificantDisability”/>
<value -xsi:type="BL” nullFlavor="NI"/>
¢<!— E.1.3.2d: Disabling'/ Incapacitating #7 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 197 displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢l-- E.i.3.2e: Congenital Anomaly / Birth Defect #7 —->
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2.16.840. 1.113883.3.989.2.1.1.19" displayNeme="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
<l—- B.i.3.2f: Other Medically Important Condition #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
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<code code="27" codeSystem="2. 16. 840. 1, 113883. 3. 989, 2. 1. 1. 19” displayName="outcome”/>
¢value xsi:type="CE” code="E.i. 7" codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 11"/>
{}-- E.i.7: Outcome of Reaction / Event at the Time of Last Observation #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true"/>
<l—— E.i.8: Medical Confirmation by Healthcare Professional #7 —->
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2.16.840. 1. 113883. 3.989. 5. 1.3.2. 1. 10" displayName="5R%n - BE4N"/>
<value xsi:type="CE” code="J2.14.i" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.8"/>
<|—— @0@]2.14.1 K50 - BEAD #7 —>
{/observation>
</outboundRelationship2>
{/observation>
</subject0f2>
<subjectOf2 typeCode="SBJ">
Cobservation classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263443e0”/>
<code code="29" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reaction”/>
<effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_TS">
<low value="20090101"/>
{l-— B.i.4: Date of Start of Reaction / Event fi8 —>
<width value="24" unit="E.i.6b"/>
<!-- E.1i.6a: Duration of Reaction / Event (number) #8 —>
¢I-— E.1i.6b: Duration of Reaction / Event (unit) #8 —->
</comp>
<comp xsi:type="IVL_TS” operator="A">
<high value="20101201"/>
<!— E.i.5: Date of End of Reaction / Event #8 —>
</comp>
<{/effectiveTime) -
(value xsi:type="CE” code="E.1i.2.1b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="E.i.2.1a">
¢l-— E.i.2.1a: MedDRA Version for Reaction / Event #8 ——>
<l-— E.i.2.1b: Reaction / Event (MedDRA code) #8 —->
CoriginalText language="E.i.1l.1b"E. i. 1. la</originalText>
<l—— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #8 —>
<l— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #8 —>
{/value>
<location typeCode="LOC”>
<locatedEntity classCode="LOCE”>
<locatedPlace classCode="COUNTRY” determlnerCode— INSTANCE™>
<code code="E.1i.9” codeSystem="1.0.3166.1.2.2"/>
<I— E.i.9: Identification of the Country Where the Reaction / Event Occurred #8 —>
</locatedPlace>
</locatedEntityd>
<{/lacation>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2. 16.840. 1. 113883 3.989.2.1.1.19” displayName="reactionForTranslation”/>
<value xsi:type="ED”>E.1i. l.2¢</value>
<l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
" <{observation classCode="0BS” moodCode="EVN">
<code code="37" codeSysten="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19”7 - displayName=" termHLghlLghtedByReporter />
<value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16. 840. 1. 113883. 3.989.2.1.1.10"/>
<l-- E.i.3.1:Term Highlighted by the Reporter #8 ——>
{/observation> .
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
<!-- E.i.3.2a: Results in Death #8 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
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{observation classCode="0BS” moodCode="EVN">
<code code="21"
{value xsi:type="BL” nullFlavor="NI"/>
¢(!—~ E.i.3.2b:. Life Threatening #8 -—>

{/observation>

</outboundRelationship2>
<outboundRelationship? typeCode="PERT”>

{observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1 18"
<value xsi:type="BL” value="true”/>
¢!— E.i.3.2c: Caused / Prolonged Hospitalisation #8 —>

</observation>

</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">

{observation classCode="0BS” moodCode="EVN">
{code code="35"

" <value xsi:type="BL” nullFlavor="NI"/>

<l— E.i.3.2d: Dlsabllng / Incapacitating #8 —>
</observat10n>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">

{observation classCode="0BS” moodCode="EVN">
<code code="12"
<value xsi:type="BL” nullFlavor="N1"/>
¢l— E.i.3.2e: Congenital Anomaly / Birth Defect #8 ——>

{/observation>

</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">

{observation classCode="0BS” moodCode="EVN">
{code code="26"
(value xsi:type="BL” value="true”/>
¢l— R.i.3.2f: Other Medically Important Condition #8 —>

{/observation>

</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">

Cobservation classCode="0BS” moddCode="EVN">

<code code="27" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 197

codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19”

codeSysten="2. 16. 840. 1. 113883. 3. 989.2. 1. 1. 19"

codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19”7

codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1, 197

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName=”resultsInPérsistentOrSignificantbisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>

displayName="outcome”/>

¢value xsi:type="CE” code="E.i. 7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 11"/>
<l— B.i.7: Outcome of Reaction / Event at the Time of Last Observation #8 —>

{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

(code code="24" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1. 19"

(value xsi:type="BL” value="true”/>

displayName="medicalConfirmationByHealthProfessional”/>

<l~- E.i.8: Medical Confirmation by Healthcare Profess1onal # —>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

<code code="11" codeSystem="2.16.840. 1. 113883. 3.989. 5. 1. 3.2.'1. 107 displayName=">RH « BE&n” />

<value xsi:type="CE” code="J2.14.i"
<l— @@eJ2.14.i K - BEAn #8 —>
{/observation>
</outboundRelationship2>
{/observation>

</subject0f2>
<subjectOf2 typeCode="SBJ">

{organizer classCode="CATEGORY” moodCode="EVN">

codeSystem="2. 16. 840. 1. 113883. 3.989.5.1.3.2.1.8"/>

<code code="3" codeSystem="2. 16. 840. 1, 113883.3.989.2. 1. 1. 20” displayName= testsAndProceduresRe1evantToTheInvest1gat1on />

{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">

<code code="F.r.2.2b” codeSystem="2. 16.840. 1. 113883, 6. 163" codeSystemVersion="F.r.2.2a">

¢{!—— F.r.2.2a‘ MedDRA Version for Test Name #1 ——>
¢l F.r.2.2b: Test Name (MedDRA code) #1 ——>
<originalText>F. r. 2. 1{/originalText>
<l—F.r. 2.1 Test Name (free text) #1 —>

</code>

CeffectiveTime value="20090101"/>

¢}— F.r.1: Test Date #1 —>

<value xsi:type="IVL_PQ">
{center value="10" unit="mg/d1"/>
¢<!— PF.r.3.2: Test Result (value / qualifier) #1 —>
¢(I— F.r.3.3: Test Result (unit) #1 —>

</value>
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{interpretationCode code="F.r.3.1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 12”/>
¢{!-- F.r.3.1: Test Result (code) #1 -——>
{referenceRange typeCode="REFV”)
{observationRange classCode="0BS” moodCode="EVN, CRT">
(value xsi:type="PQ” value="40" unit="mg/d1”/>
{1—- F.r.4: Normal Low Value #1 —>
<interpretationCode code="L” codeSystem="2. 16. 840. 1, 113883. 5.83"/>
</observationRange>
</referenceRange>
<referenceRange typeCode="REFV">
{observationRange classCode="0BS. moodCode="EVN.CRT">
<value xsi:type="PQ" value="110" unit="wg/dl”/>
<l=- F.r.5: Normal High Value §1—>
{interpretationCode code="H" codeSystem="2. 16.840. 1. 113883. 5.83"/>
<{/observationRange>
</referenceRange>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
(code code="10" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
{value xsi:type="ED">F.r.6</value>
{}—= F.r.6: Comments (free text) #1 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation classCode="0BS” moodCode="EVN"> ,
{code code="25" codeSystem="2.16.840. 1. 113883. 3,989, 2. 1. 1. 19” displayName="morelnformationAvailable”/>
<value xsi:type="BL” value="true"/> :
<I--F.r.7: More Information Available #1 —>
{/observationd>
</outboundRelationship2>
{/observation>
</component>
<component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b” codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="F.r.2.2a">
<{l— F.r.2.2a: MedDRA Version for Test Name #2 —> ‘
¢l=— F.r.2.2b: Test Name (MedDRA code) #2 -—>
{originalText)F. r. 2. 1</originalText>
(- F.r.2.1: Test Name (free text) #2 —>
</code>
CeffectiveTime value="20090101"/>
¢l-= F.r.1: Test Date #2 —>
<value xsi:type="IVL_PQ™>
<low nullFlavor="NINF"/>
<high value="10" unit="mg/d1” inclusive="false”/>
</value>
<I-— F.r.3.2: Test Result (value / qualifier) #2 —>
<!— F.r.3.3: Test Result (unit) #2 -->
<I— LT 10 mg/dl #2 ——>_
{/observation>
{/component)
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r.2,2a">
¢!-— F.r.2.2a: MedDRA Version for Test Name #3 —->
{l-= F.r.2.2b: Test Neme (MedDRA code) #3 -->
<originalText>F. r. 2, I{/originalText>
{— F.r.2.1: Test Name (free text) #3 ——>
{/code>
<effectiveTime value="20090101"/>
{!-—— F.r.1: Test Date #3 —>
<value xsi:type="IVL_PQ">
<low nullFlavor="NINF"/>
<high value="10" unit="mg/dl” inclusive="true”/>
{/value>
<l—- F.r.3.2: Test Result (value / qualifier) #3 —>
¢}~ F.r.8.3: Test Result (unit) #3 —>
(l-— LE 10 mg/dl #3—>
{/observation>
</component>
<component typeCode="COMP”> .
Cobservation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b” codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="F.r.2:2a">
<}—— F.r.2.2a: MedDRA Version for Test Name #4 ——>
<}—— F.r.2.2b: Test Name (MedDRA code) #4 —>
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<originalText>F. r. 2. 1{/originalText>
(= F.r.2.1: Test Name (free text) #4 ——>
{/code>
<effectiveTime value="20090101"/>
<l=— F.r.1: Test Date #4 —>
<value xsi:type="IVL_PQ™>
<low value="10" unit="mg/dl” inclusive="false”/>
<high nullFlavor="PINF"/>
</value>
(l-— F.r.3.2: Test Result (value / qualifier) #4 ——>
¢<I— F.r.3.3: Test Result (unit) #4 -->
<!-- GT 10 mg/dl #4 —>
</observation>
</component>
<component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN"> . .
<code code="F.r.2.2b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2, 2a">
{— F.r.2.2a: MedDRA Version for Test Name #5 —>
(l—— F.r.2.2b: Test Name (MedDRA code) #5 ——>
<originalText>F. r. 2. I</originalText>
(l== F.r.2.1: Test Name (free text) #5 —>
</code>
CeffectiveTime value="20090101"/>
{I— F.r.1: Test Date #5 -—>
<value xsi:type="IVL_PQ™>
(low value="10" unit="mg/d1” inclusive="true”/>
¢high nullFlaver="PINF"/>
{/value>
(l— F.r.3.2: Test Result (value / qualifier) #5 —>
<!—— F.r.3.3: Test Result (unit) #5 —>
<!— GE 10 mg/dl #5 —>
{/observation>
</componext>
{component typeCode="COMP">
(observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
¢l== F.r.2.2a: MedDRA Version for Test Name #6 —>
(l— F.1.2.2b: Test Name (MedDRA code) #6 —->
CoriginalText)F. r. 2. 1</original Text>
(}— F.r.2.1: Test Name (free text) #6 ——>
{/code>
CeffectiveTime value="20090101"/>
¢}-- F.r.1: Test Date #6 —>
(value xsi:type="ED”DF.r. 3. 4</value>
(1= F.r.3.4: Result Unstructured Data (free text) #6 —>
</observation> '
</component>
{/organizer>
</sub ject0f2>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 20" displayName="drugInformation”/>
¢{1— G.k Drug(s) Information (repeat as necessary) #1 —>
<component typeCode="COMP”>
(substanceAdministration classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0ef9ed” />
<consumable typeCode="CSM">
{instanceOfKind classCode="INST">
CkindOfProduct classCode="MMAT” determinerCode="KIND">
¢code code="G.k.2.1.1b” codeSystem="TBD-MPID” codeSystemVersion="G.k.2.1.1a"/>
¢l-- G.k.2.1.1a: MPID Version Date / Number #1 -->
{1== G.k.2.1.1b: Medicinal Product Identifier (MPID) #1 —>
<name>G. k. 2. 2</name>
(1— G.k. 2.2 Medicinal Product Name as Reported by the Primary Source #1 —>
<asManufacturedProduct classCode="MANU">
(subjectOf typeCode="SBJ™>
{approval classCode="CNTRCT” moodCode="EVN">
¢id extension="G.k.3.1” root="2, 16. 840. 1. 113883. 3. 989. 2. 1. 3. /)
()=- G.k.3.1: Authorisation / Application Number #1 —>
<author typeCode="AUT">
(territorialAuthority classCode="TERR">
(territory classCode="NAT” determinerCode=" INSTANCE”>
<code code="G.k.3.2" codeSystem="1.0.3166.1.2.27/>
¢l— G.k 3.2: Country of Authorisation / Application #1 —>
{/territory>
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{/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT">
<policy eclassCode="POLICY” moodCode="EVN">
<code code="J2.5.k” codeSystem="2. 16.840. 1.113883.3.989.5.1.3.2.1.4"/>
<I— @ee]2.5.k: —RAEEREOY A7 EH% #1 —
</policy>
</pertinentInformation>
</approval>
{/subject0f>
{subjectOf typeCode="SB]">
<characteristic classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="H[EIKHF DORIKS>"/>
<value xsi:type="CE" code="J2.4.k" codeSystem="2.16.840. 1, 113883.3.989.5.1.3.2.1.3"/>
<1—- 8088J2. 4. k: FERLKEFORRESS #1 —>
{/characteristie>
</subject0f>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN">
<generalizedMaterialKind classCode="MAT” determinerCode="KIND">
<code>
<originalText>J2. 12¢/originalText>
<1-- @@J2. 12: ?‘“Eﬁﬁ%}dﬂ% -

{/code>
{/generalizedMaterialKind>
{/asSpecializedKind>
<ingredient classCode="ACT1">
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<!— G.k. 2.3.r.3a: Strength (number) #1-1 ——>

<I—- G. k. 2.3.r.3b: Strength (unit) #1-1 —>
{denominator value="1"/>
</quantity> ! .
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.r.2b” codeSystem="TBD~Substance” codeSystemVersion="G.k.2.3.r.2a"/>
<!-- G.k.2.3.1.2a: Substance / Specified Substance TermID Version Date / Number #1-1 —>
{1—— G.k.2.3.r.2b: Substance / Specified Substance TermID #1-1 ——>
<name>G. k. 2. 3. r. 1{/name>
<!— G.k.2.3.r.1: Substance / Speclfled Substance Name #1-1 —>
</ingredientSubstance>
</ingredient>
<ingredient classCode="ACTI”>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<!— G.k.2.3.r.3a: Strength (number) #1-2 —>
<!— G.k.2.3.1.3b: Strength (unit) #1-2 —>
<denominator value="1"/>
</quantity>
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.1.2b” codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a"/>
¢!—- 6.k.2.3.r.2a: Substance / Specified Substance TermlD Version Date / Number #1-2 —>
<!— G.k.2.3.1.2b: Substance / Specified Substance TermID #1-2 —>
<nameG. k. 2. 3. r. 1<{/name>
<!-- 6.k.2.3.1r.1: Substance / Specified Substance Neme #1-2 —>
{/ingredientSubstance>
<{/ingredient>
</kind0fProduct>
{subjectOf typeCode="SBJ”>
<productEvent classCode="ACT” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1, 18” displayName="retailSupply”/>
{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED"> .
<representedOrganization classCode="ORG” determinerCode="INSTANCE”>
<addr> . .
<country>G. k. 2. 4{/country>
<l— G.k.2.4: Identification of the Country Where the Drug Was Obtalned #1 ——)
</addr> -
{/representedOrganization>
{/assignedEntity>
</performer>
</productEvent>
</subject0f>
<subject0f typeCode="SBJ”>
<observationEvent classCode="0BS” moodCode="EVN"> -
{code code="2" codeSystem="2. 16.840. 1. 113883. 3.989.5. 1. 3. 2. 1. 10" displayName="—R¥BERLHDO AFLEK />
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Reaction #1 —>

Reaction #1 ——>

Reaction #2 —>

Reaction #2 ~->

Reaction #3 ——>

Reaction #3 —>

Reaction #4 —>

Reaction #4 —>

(value xsi:type="CE” code="J2.6.k" codeSystem="2. 16, 840. 1. 113883, 3.989.5.1.3.2.1.5"/>

d— 080J2.6.k: —RXAERMOAFER #1 —>
</observationEvent>
</subject0f>

</instanceOfKind>
{/consumable>
{outboundRelationshipl typeCode="SAS">

(pauseQuantity value="10" unit="G.k.9.i.3.1bh"/>

<!— G.k.9.1.3.1a: Time Interval between Beginning of Drug

CactReference classCode="0BS” moodCode="EVN">
<id root="154eh889-058b-45£2-a02f-42d4d6£4657£" />
</actReference>
{/outboundRelationshipld
<outboundRelationshipl typeCode="SAE">
(pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
{l— G.k.9.1.3. 2a: Time Interval between Last Dose of Drug

¢1-—— G.k.9.1.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b—46f2-a02f-42d4d6£4657f"/>
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢I— G.k.9.1.3.la: Time Interval between Beginning of Drug

<!— G.k.9.1.3.1b: Time Interval between Beginning of Drug

CadtReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220"/>
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢l-— G.k.9.i.3.2a: Time Interval between Last Dose of Drug

CactReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4eb6c—-93e9-5b860b314220” />
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<!— G.k.9.1.3.1a: Time Interval between Beginning of Drug

¢l—— G.k.9.i.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="3a8626ch-9f1b—4ea8-8a0f-e0ff34430adf”/>
{/actReference> ]
</outboundRelationshipl>
(outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢l-- 6.k.9.1.3.2a: Time Interval between Last Dose of Drug

¢!— G.k.9.1.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS” moodCode="EVN">
<id root="3a8626ch-9f1b~4ea8-8a0f-e0ff34430adf”/>
</actReference> '
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS”>
<pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<l— 6.k.9.i.3. 1a: Time Interval between Beglnnlng of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4~499c-80ff-dd8415f4f8a5"/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
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Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #1 —

and Start of Reaction / Event (unit) Drug #1, Reaction #1 —>

Administration and Start of Reaction / Event (number) Drug #l,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #2 —

and Start of Reaction / Event (unit) Drug #1, Reaction #2 —>

Administration and Start of Reaction / Event (number) Drug #I,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #3 —

and Start of Reaction / Event (unit) Drug #1, Reaction #3 —>

Administration and Start of Reaction / Event (number) Drug #1,



Reaction #5 —->

Reaction #5 ~->

Reaction #6 ——>

Reaction #6 —>

Reaction #7 —>

Reaction #7 —=>

Reaction #8 —>

Reaction #8 —>

<l— G.k.9.1.3.2a: Time Interval between Last Dose of Drug

<l— G.k.9.i.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS” moodCode="EVN™>
<id root="2e99840f-08b4-499c-80ff-dd8415F4F8a5" />
</actReference>
</outboundRelationshipl> .
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
{!— G.k.9.i.3.1a: Time Interval between Beginning of Drug

d— 6.k.9.1. 3. 1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c~cf10-4a3b-83c1-34f9ddbTeabd”/>
{/actReference> .
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/> )
<l—— 6.k.9.1.3.2a: Time Interval between Last Dose of Drug

A

¢1-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b—83c1-34f9ddbTeabd” />
<{/actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
{}— G6.k.9.1i.3.1a: Time Interval between Beginning of Drug

<I=- G.k.9.1.3.1b: Time Interval between Beginning of Drug

CactReferencé classCode="0BS” moodCode="EVN">
<id root=”lf927283—10b6-4334—9d43-e925640fb18f”/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢{l—— G.k.9.i.3.2a: Time Interval between Last Dose of Drug

{!— G6.k.9.1i.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640fb18£" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
(pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
<1— 6.k.9.i.3.1la: Time Interval between Beginning of Drug

1= G.k.9.1i.3.1b: Time Interval between Beginning of Drug

{actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be—-423f-h6bb—celdbc279d8e” />
{/actReference>
</outboundRelationshipl> . .
CoutboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l— G.k.9.i.3.2a: Time Interval between Last Dose of Drug

<l— G.k.9.i.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-bbbb-cel4bc279d8e”/>

{/actReference>

</outboundRelationshipl>

<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
¢1—"6.k.9.i.3.1a: Time Interval between Beginning of Drug

<!— G.k.9.i.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="al5be092~8070~426d-af04-68632634430"/>
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
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and Start of Reaction / Event (number) Drug #1, Reactioﬁ #4 —

and Start of Reaction / Event- (unit) Drug #1, Reaction #4 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #5 —

and Start of Reaction / Event (unit) Drug #1, Reaction #5 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #I,

and Start of Reaction / Event (number) Drug #1, Reaction #6 ——

and Start of Reaction / Event (unit) Drug #1, Reaction #6 ->

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #7 —-

and Start of Reaction / Event (unit) Drug #1, Reaction #7 —>

Administration and Start of Reaction / Event- (number) Drug #I,

Administration and Start of Reaction / Event (unit) Drug #1,



{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
(— 6.k 9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #i, Reaction #8 —

(actReference classCode— 0BS” moodCode="EVN">
<id root="albbe092-8070-426d-af04-6863263443€0"/>
{/actReference>
</outboundRelationshipl>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
(code code="6" codeSystem="2. 16;840. 1. 113883. 3.989.2.1.1. 19" displayName="blinded”/>
<value xsiitype="BL” value="true”/>
¢1— G.k 2.5: Investigational Product Blinded #1 —->
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP”>
¢l—— G.k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-1 —>
<substanceAdministration classCode="SBADM” moodCode="EVN">
(text>G. k. 4. r. 8{/text>
<]— G.k. 4.r.8: Dosage Text #1-1 ——>
CeffectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS">
¢period value="10" unit="G.k. 4.r.3"/>
¢1— G.k.4.r.2: Number of Units in the Interval #1-1 —=>
(l—— G.k.4.r.3: Definition of the Time Interval Unit #1-1 —>
</comp>
(comp xsiitype="IVL_TS” operator="A">
<low value="20090101"/>
1= G.k. 4.r.4: Date and Time of Start of Drug #I-1 ——>
<high value="200901017/>
(l— G.k.4.1.5: Date and Time of Last Administration #1-1 -—>
{fcomp> ’
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G. k. 4.r.6b"/> :
<l— G.k.4.r.6a: Duration of Drug Administration (number) #1-1 —>
¢l— G.k.4.r.6b: Duration of Drug Administration (unit) #1-1 —>
</comp>
</effectiveTime>
(routeCode code="G. k. 4. 1. 10.2b” codeSystem="2. 16. 840, 1. 113883. 3.989. 2. L. 1. 14" codeSystemVersion="6. k. 4.r. 10. 2a">
¢{1—— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-1 —> )
¢1-- G.k.4.1.10.2b: Route of Administration TermID #1-1 —>
<originalText>G. k. 4. r. 10, 1</originalText>
(l=- G.k.4.1.10.1: Route of Administration (free text) #1-1 -—>
</routeCode>
(doseQuantity value="10" unit="G.k. 4.r.1b"/>
<!-- G.k.4.r.1a Dose (number) #1-1 —>
<!— G.k. 4.r.1b: Dose (unit) #1-1 —>
{consumable typeCode="CSU">
<instanceOfKind classCode="INST">
<{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<l-- G.k.4.r.7: Batch / Lot Number #1-1 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code= G.k.4.r.9‘2b” codeSystem—”TBD—Doschrm” codeSystemVersion="G.k.4.r.9.Za”>

<or1g1nalText>G.k.4.r.9.1</or1g1na1Text>
<}-- G.k.4.7.9.1: Pharmaceutical Dose Form (free text) #1-1 ~=>
.</formCode>
{/kindOfProduct>
</instariceOfKind>
</consumable>
¢inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
(valie xsi‘type="CE? code="G.k.4.r.11.2b” codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystenVersion="G.k.4.r.
11.2a"> .
(l~- G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #1-1 —>
<!— G.k.4.r.11.2b: Parent Route of Administration TermID #1-1 ——>
CoriginalText>G. k. 4, r. 11. 1</originalText>
<= G.k.4.7.11. 1: Parent Route of Administration (free text) #1-1 —>
</value>
</observation>
</inboundRelationship>
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{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
¢!~~ G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #1-2 —>
<substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G.k. 4. r. 8</textd
<!— G.k.4.r.8: Dosage Text #1-2 —>
CeffectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS™>
<period value="10" unit="G.k.4.r.3"/>
{l— G.k.4.r.2: Number of Units in the Interval #1-2 —>
¢!-— G.k.4.r.3: Definition of the Time Interval Unit #1-2 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
<l— G.k. 4.1.4: Date and Time of Start of Drug #1-2 —>
<high value="20090101"/>
(}=— G.k. 4.r.5: Date and Time of Last Admlnlstratlon #1-2 —>
</comp>
</effectiveTime>
<routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16. 840. 1. 113883, 3. 989 2. 1.1, 14" codeSystemVersion="G. k. 4. r. 10. Za >
<!— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-2 —>
<!— G.k.4.1.10,.2b: Route of Administration TermID #1-2 —>
<originalText)G. k. 4. r. 10, 1{/originalText>
¢!— G.k.4.r.10.1: Route of Administration (free text) #1-2 —>
{/routeCode>
<doseQuantity value="10" unit= G.k.4.r.1b”/>
<l-— G.k.4.r.1a Dose (number) #1-2 ——>
<= G.k.4.r.1b: Dose (unit) #1-2 —>
<consumable typeCode="CSM”>
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
. <lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l— G.k.4.r.7: Batch / Lot Number #1-2 —>
{/productInstancelnstance> ’
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVerslon— G.k.4.r.9.2a">
<l—- G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 ——>
{l— G.k.4.1r.9.2b: Pharmaceutical Dose Form TermID #1-2 —>
CoriginalText>G. k. 4. r. 9. 1</original Text>
<!— G.k.4.1r.9.1: Pharmaceutical Dose Form (free text) #1-2 ——>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable> °
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883. 3.989.2.1.1.19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.1l.2b” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4.r.
11.2a"> }
<!— G.k.4.r.11.2a: Perent Route of Administration TermID Version Date / Number #1-2 —>
<= G.k.4.1.11.2b: Parent Route of Administration TermID #1-2 -->
<originalText>G. k. 4. r. 11. I</originalText>
<1—— G.k.4.1.11.1: Parent Route of Administration (free text) #1-2 —>
</value> )
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
<l-—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-3 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
<text>G. k. 4. r. 8</text>
<l-- G.K. 4.r.8: Dosage Text #1-3 —>
<effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS">
(period value="10" unit="G.k.4.r.37/>
(I— G.k.4.r.2: Number of Units in the Interval #1-3 ——>
¢l— G.k.4.r.3: Definition of the Time Interval Unit #1-3 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/> ‘
<l— G.k.4.r.4: Date and Time of Start of Drug #1-3 ——>
<width value="4" unit="G.k.4.r.6b"/>
<l— G.k.4.r.6a: Duration of Drug Administration (number) #1-3 —>
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<!-- G.k.4.1.6b: Duration of Drug Administration (unit) #1-3 ——>
</comp>
</effectiveTime> .
(routeCode code="G. k. 4.r. 10. 2b” codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G.k. 4.r. 10.2a">
(1= G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #1-3 ——>
<t=- G.k. 4.1.10.2b: Route of Administration TermID #1-3 —->
CoriginalText>G. k. 4. r. 10. 1</originalText>
¢1== G.k.4.r.10.1: Route of Administration (free text) #1-3 ——>
</routeCode>.
<doseQuantity value="10" unit="G.k.4.r.1b"/>
¢l=- G.k.4.r.1a Dose (number) #1-3 —->
<!-- G.k.4.r.1b: Dose (unit) #1-3 —>
<consumable typeCode="CSM">
<instanceOfKind ¢lassCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</1lotNumberText>
<!-- G.k.4.r.7: Batch / Lot Number #1-3 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
(FormCode code="G. k. 4.r.9.2b” codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a">
¢1-- G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 —>
¢l-— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-3 —> .
<originalText>G. k. 4. r. 9. 1</originalText>
¢!=—— G.k.4.7.9.1: Pharmaceutical Dose Form (free text) #1-3 ——>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR”>
" <observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" displayNeme="parentRouteOfAdministration”/>
(value xsi:type="CE” code="G.k. 4.T.11.2b" codeSystem="2.16.840. 1. 113883.3.989.2.1.1. 14" codeSystemVersion="G. k. 4. r.
11.2a"> :
: ¢l-— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-3 —>
¢l—— G, k.4.r.11.2b: Parent Route of Administration TermID #1-3 ~—>
<originalText>G. k. 4. r. 11. 1</originalText>
<}— G.k.4.r.11.1: Parent Route .of Administration (free text) #1-3 —>
</value>
<{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
¢1—— G.k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-4 —>
(substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8</text>
<!-— G.k.4.r.8: Dosage Text #l-4 -—>
<effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_TS">
(period value="10" unit="G.k.4.r.3"/>
¢I-- G.k.4.r.2: Number of Units in the Interval #1-4 —>
¢]— G.k.4.1.3: Definition of the Time Interval Unit #1-4 —>
</comp> )
<comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/> .
<}— G.k.4.1.6a: Duration of Drug Administration (number) #1-4 —
<1—- G.k.4.1.6b: Duration of Drug Administration (unit) #1-4 —>
<high value="20090101"/>
¢l— G.k.4.1.5: Date and Time of Last Administration #1-4 —>
</comp> .
. </effectiveTime> . _
<routeCode code="G. k. 4. r. 10.2b” codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 14" codeSystemVersion="G.k. 4.r. 10.2a">
¢l-— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-4 -——>
<1-- G.k.4.r.10.2b: Route of Administration TermID #1-4 —>
CoriginalTextG. k. 4. r. 10. 1</originalText>
}— G.k.4.1r.10.1: Route of Administration (free text) #1-4 —>
{/routeCode> .
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<l-- G.k. 4.r.1a Dose (number) #1-4 ——>
¢l—- G. k. 4.1.1b: Dose (unit) #1-4 —>
<consumable typeCode="CSM™>
<instance0fKind classCode="INST">
¢productInstanceInstance c¢lassCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<1— G.k.4.r.7: Batch / Lot Number #1-4 —>
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</productInstancelnstance> ' :
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="6G.k.4.r.9.2s">
¢}— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number ¥1-4 -—->
<}—- G.k.4.1.9.2b: Pharmaceutical Dose Form TermlD #1-4 —->
<originalText>G. k. 4.r.9. 1</originalText>
<l— G.k.4.1r.9.1: Pharmaceutical Dose Form (free text) #l-4 ——>
{/formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
(value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4 T.
11.2a"> .
<l— G.k.4.r. 11, 2a: Parent Route of Administration TermID Version Date / Number #1-4 —>
<l=- G.k.4.r.11.2b: Parent Route of Administration TermID #1-4 —>
{originalText>G. k. 4. r. 11. 1</eriginalText>
{l=~ G.k.4.r.11.1: Parent Route of Administration (free text) #1-4 ——>
</value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2> .
<outboundRelationship2 typeCode="COMP">
<!=— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
(substanceAdministration classCode="SBADM” moodCode="EVN">
(text>G. k. 4. r. 8/text> .
<l— G.k.4.r.8: Dosage Text #1-5 —>
<effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="IVL_TS">
<low value="20090101"/>
*  <!— G.k.4.r.4: Date and Time of Start of Drug #1-5 ——>
¢high value="20090101"/>
<{I-— G.k.4.r.5° Date and Time of Last Admlnlstratmn #1-5 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
(width value="4" unit="G.k.4.r.6b”/>
<!—— G.k.4.r.6a: Duration of Drug Administration (number) #1-56 —>
<l-- G.k.4.1.6b: Duration of Drug Administration (unit) #1-5 —->
</comp>
{/effectiveTime>
(routeCode code="G.k.4.r.10.2b” codeSystem="2.16. 840. 1. 113883, 3.989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10, 2a">
(}—— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-5 ——> )
<l== G.k.4.1.10.2b: Route of Administration TermID #1-5 -->
<originalText>G. k. 4. r. 10. 1<{/originalText>
¢(!-- G.k.4.1.10.1: Route of Administration (free text) #1-5 —>
</routeCode>
<doseQuantity value="10" unit="6G.k.4.r.1b"/>
<{}— G.k.4.r.1la Dose (number) #1-5 —>
- ) <l— G.k.4.r.1b: Dose (unit) #1-5 —>
" <consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
{l— G.k.4.r.7: Batch / Lot Number #1-5 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm” codeSystemVsrsmn— G.k.4.r.9.22">
{}— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-5 —>
<{!— G.k.4.7.9.2b: Pharmaceutical Dose Form TexmID #1-5 —->
CoriginalText>G. k. 4. 1. 9. 1<{/originalText>
¢}— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-5 —>
{/formCode> '
</kindOfProduct>
¢/instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem-— 2.16.840. 1.113883. 3.989. 2. 1. 1. 197 displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem=" 2 16. 840. 1. 113883, 3, 989. 2. 1. 1. 14" codeSystenVersion="G. k 4.r.
11.22a™>
<}—- G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-5 —>
¢l-- G.k.4.r.11.2b: Parent Route of Administration TermID #1-5 -
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<originalText>G. k. 4. r. 11. 1</originalText>
(1— G.k.4.1.11.1: Parent Route of Administration (free text) #1-5 —>
</value>
</observation>
</inboundRelationship>
</substanceAdministration>
</outboundRelationship2>
CoutboundRelationship2 typeCode="COMP™>
¢l— G.k.4.1: Dosage and Relevant Information (repeat as necessary) #1-6 —>
¢substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8{/text>
<l— G.k. 4.r.8: Dosage Text #1-6 —>
CeffectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS™>
<period value="10" unit="G.k.4.r.3"/>
(] G.k.4.r.2: Number of Units in the Interval #1-6 —>
<!-= G.k.4.r.3: Definition of the Time Interval Unit #1-6 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
¢l—— G.k.4.r.4: Date and Time of Start of Drug #1-6 —>
(width value="4" unit="C.k.4.7.6b7/>
¢l— G.k.4.r.6a: Duration of Drug Administration (number) #1-6 —>
¢!— G.k.4.r.6b: Duration of Drug Administration (unit) #1-6 ——>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
¢l— G.k.4.1r.5: Date and Time of Last Administration #1-6 —>
</comp> -
</effectiveTime> )
<routeCode code="G. k. 4. r. 10.2b” codeSystem=’2.16.840.1.113883.3.989.2.1.1.14' codeSystemVersion="G. k. 4. r. 10. 2a">"
<l— G.k. 4.1.10.2a: Route of Administration TermID Version Date / Number #1-6 —>
<l-- G.k.4.r.10.2b: Route of Administration TermID #1-6 ——>
<originalText>G. k. 4. r. 10. 1</originalText>
<!— G.k.4.r.10.1: Route of Administration (free text) #1-6 —>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!— G.k.4.1r. 1la Dose (number) #1-1 —>
<!-- 6. k. 4.r. 1b: Dose (unit) #1-1 —>
<consumable typeCode="CSM">
(instance0fKind classCode=~"INST"> .
<{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
B <l-- G.k.4.r.7: Batch / Lot Number #1-1 —>
</productInstanceInstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<formCode code="G.k.4.T.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
<l— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6 —>
<1-= G.k.4.r.9. 2b: Pharmaceutical Dose Form TermID #1-6 —>
<originalText>G. k. 4. r. 9. 1</originalText>
_d—GkAmﬂJ:%umwmkﬂDue%m(ﬂ%tﬂﬂ#k6—>
</formCode> .
</kindOfProduct> h
</instanceOfKind>
</consumsble>
CinboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
(code code="28" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 197 displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840.1.113883.3.989.2.1.1.14" codeSystemVersion="G. k. 4. 1.
11.2a"> v ‘
¢1— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #1-6 ——>
¢{1— G.k.4.r.11. 2b: Parent Route of Administration TermID #1-6 ——>
<originalText>G. k. 4. r. 11. 1</originalText>
¢1— G.k.4.r.11.1: Parent Route of Administration (free text) #1-6 —>
</value> :
</observation>
</inboundRelationship>
</substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”> .
<l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-7 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G.k. 4. r. 8</text>
<!-- G.k. 4.r.8: Dosage Text #1-7 ——>
<effectiveTime xsi:type="SXPR_TS™>
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<comp xsiitype="IVL_TS">
{low valueé”20090101”/>
¢1-- G.k.4.1.4: Date and Time of Start of Drug #1-7.——>
<width value="4" unit="G. k. 4.1.6b"/>
¢1— G.k. 4.r.6a: Duration of Drug Administration (number) #1-7 —>
(1— G. k. 4.1.6b: Duration of Drug Administration (unit) #1-7 —>
</comp> :
{comp xsi:type="IVL_T8" operator="A">
<high value="20090101"/>
<!— 6.k.4.r.5: Date and Time of Last Administration #1-7 —>
</comp> -
¢/effectiveTime>
<routeCode code=”G.k.4.r.1d.2b" codeSystem='2.16.840.1.113883.3.989.2.1.1.14” ccdeSystemVersion=”G.k.4.r.10.Za’>
¢l— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-7 —>
<= G.k.4.1.10.2b: Route of Administration TermID #1-7 —>
<origina1Text>G.k.4.r.10.1</originalText>
<F—&k&nwdlMMeﬁAmmnuuMn@memm)m#—ﬁ
</routeCode>
<doseQuantity value="10" unit="6. k. 4.r. 1b"/>
¢1— G.k. 4.x.1a Dose (number) #1-7 -
¢1— G.k.4.r.1b: Dose (unit) #1-7 —>
{consumable typeCode=’CSM’>
¢instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT” determinerCode='INSTANCE”)
ClotNumberText>G. k. 4. . 7</lotNumberText> )
¢(l— G.k.4.r.7: Batch / Lot Number #1-7 —>
(/productInstanceInstancé)
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="6. k. 4.1.9. 2b” ccdeSystem=’TBD-DoseForm' podeSystemVersion=’G.k,4.r.9.23’)
¢1— G.k. 4.r.9. 2a: Pharmaceutical Dose Form TermlD Version Date / Number #1-7 —>
(l— G.k.4.r.9.2b: Pharmaceutical Dose Form TernID #1-7 ——>
<originalText>G.k.4.r.9.l</originalText>
- G.k. 4.1.9.1: Pharmaceutical Dose Form (free text) #1-7 ——>
{/formCode>
</kind0fProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19” disp1ayName=”parentRouteOfAdministration"/>
(value xsi:type="CE” code="G. k. 4.1.11.2b" codeSystem=”2.16.840.1.113883.3.989.2.1.1.14' codeSystemVersion="G. k. 4. 1.
11.2a">
(- G.k. 4.r.11.2a: Parent Route of Administration TernID Version Date / Number #1-7 —>
¢1-- G.k.4.r.11.2b: Parent Route of Administration TermID #1-7 —>
<originalText>G.k.4.r.11.1</originalText>
¢l—- G.k.4.1.11.1: Parent Route of Administration (free text) #1-7 —>
</value>
¢/observation>
¢/inboundRelationship>
¢/substanceAdministration>
¢/outboundRelationship2>
¢outboundRelationship2 typeCcde=’SUMM’>
<observation classCode="0BS" moodCode="EVN">
(code code="14" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19" displayName=’cumu1ativeDoseToReaction"/)
(value xsi:type="PQ” value="10" unit="G. k. 5b"/> ) '
(1— G.k.5a: Cumulative Dose to First Reaction (number) #1 —>
(}— G.k.5b: Cumulative Dose to First Reaction (unit) #1 ——>
{/observation>
(/outboundRelationship2>
(outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
¢code code="16" codeSystem=’2.16‘840.1.113883,3.989.2,1.1.19' displayName='gestationPeriod’/)
(value xsi:type="PQ” value="10" unit="G.k.6b"/>
(l— G.k 6a: Gestation Period at Time of Exposure (number) #1 ——>
(l— G.k.6b: Gestation Period at Time of Exposure (unit) #1 —>
¢/observation>
</outboundRelationship2)
CoutboundRelationship2 typeCode="PERT">
<observation ¢lassCode="0BS” moodCode="EVN"> ]
<code code="31" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19” displayName=”recurranceOfReaction”/>
(value xsi:type="CE” code="G. k.9.1.4” codeSystem=’2.16.840.1.113883.3.989;2.1.1.16’/>
<l— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #1 —>
<outhoundRelationshipl typeCode="REFR">
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889—958b—45f2-aOZf—42d4d6f4657f”/)
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</actReferenced
</outboundRelationship1>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem=’2.16.840.1.113883.3.989.2.1.1.19’ displayName=”recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.i.4” codeSystem='2.16.84O.14113883.3.989.2.1.1.16'/)
<!— 6.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 —>
outboundRelationshipl typeCode="REFR”>
<actReference classCode="0BS” moodCode="EVN">
<id root=”2baa28d6—2998—4e6c—93e9-5b860b3l4220"/>
</actReference>
</outboundRelationship1>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
Cobservation classCode="0BS” moodCode="EVN"> )
{code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. L. L. 19" displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G. k. 10, r” codeSystem='2.16.840.1.113883.3.989.2.1.1.17'/)
<I— 6.k 10.r: Additional Information on Drug (coded) (repeat as necessary) #l-1 —>
{/observation>
</outboundRelationship2)>
outboundRelationship2 typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="9" codeSystem=”2.16.840.1.113883.3.989.2(1.1.19' disp1ayName=”codedDrugInformation’/)
<value xsi:type="CE” code=”G.k.10.r”'codeSystem='2.16.840.1.113883.3.989.2.1.1.17'/)
1= G.k. 10.r: Additional Information on Drug (coded) (repeat as necessary) #1-2 —->
{/observation>
</outboundRelationship2>
outboundRelationship2 typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="2" codeSystem=”2.lG.840.1.113883.3.989.2.1.1.19’ displayName=”additionalInformation'/)
<value xsi:type="ST”>G.k. 11</value>
<!I~- G.k. 11: Additional Information on Drug (free text) #1 —->
{/observation>
</outboundRelationship2>
inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EYN"> .
{code code="19" codeSystem=”2.16.840.1.113883,3.989,2.1.1.19' displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2h" codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="G. k. 7. r. 2a”>
<l— G.k.7.r.2a: MedDRA Version for Indication #1-1 —> )
I~ G.k.7.r.2b: Indication (MedDRA code) #1-1 —>
originalText>G. k. 7.r. 1</originalText>
<l== G.k.7.r.1: Indication as Reported by the Primary Source #1-1 —>
{/valued .
<performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED”>
{code code="3" codeSystem=”2.16.840.1.113883.3.989.2.1.1.21' displayName="sourceReporter”/>
{/assignedEntity>
{/performer)
{/observation>
{/inboundRelationship>
<inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19” displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2b" codeSystem="2. 16. 840, 1. 113883. 6, 163" codeSystemVersion="G. k. 7. r. 2a">
<!~ 6.k.7.r.2a: MedDRA Version for Indication #1-2 -->
<I-- 6.k 7. 1. 2b: Indication (MedDRA code) #1-2 —>
CoriginalText>G. k. 7.r. 1</originalText>
Ad— Gk 7.r.1: Indication as Reported by the Primary Source #1-2 -
{/value)
<performer typeCode="PRF">
assignedEntity classCode="ASSIGNED">
<code code="3" codeSystem=”2.16.840.1.113883.3.989.2.1.1.21’ displayName=”sourceReporter”/)
{/assignedEntity>
{/performer>
{/observation>
</inboundRelationship>
CinboundRelationship typeCode="CAUS">
<act classCode="ACT” moodCode="EVN">
<code code="G. k. 8" codeSystem='2,lG.840.1.11388&.3.989.2.1.1.15”/)
<!— G.k.8: Action(s) Taken with Drug #1 —>
</act>
</inboundRelationship)>
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{/substanceAdministration>
</component>
<!— G.k Drug(s) Information (repeat as necessary) #2 —>
{component typeCode="COMP”>
<substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce~3b3b-45c7-92dd-69e06730c3a3”/>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<kind0OfProduct classCode="MMAT” determinerCode=" KIND >
{code code="G.k.2.1.2b” codeSystew="TBD-PhPID" codeSystemVersion="G. k. 2. 1. 22" />
(-~ G.k.2.1.2a: PhPID Version Date / Number #2 —>
¢!-— G.k.2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 -->
<name>G. k. 2. 2{/name>
¢!— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SB]">
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1” root="2.16.840. 1, 113883.3.989.2.1.3.4"/>
¢(I— G.k.3.1: Authorisation / Application Number #2 -—>
<author typeCode="AUT">
<territorialAuthority classCode="TERR">
(territory classCode="NAT” determinerCode="INSTANCE">
Ccode code="G.k. 3.2” codeSystem="1.0.3166.1.2.2"/>
¢l— 6.k 3.2: Country of Authorisation / Application #2 —>
</territory>
{/territorialAuthority>
</author>
<pertinentInformation typeCode="PERT”>
<policy classCode="POLICY” moodCode="EVN™>
<code code="J2.5.k” codeSystem="2.16.840. 1.113883.3.989.5.1.3.2.1.47/>
<1- 0@eJ2.5.k: —ABEEREDY XIRKHE #2 —
</policy>
</pertinentInformation>
{/approval>
</subject0f>
{subjectOf typeCode="SBJ">
<characteristic classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883, 3.989. 5. 1.3.2.1. 10" displayName="$EZEMHEDRREEL"/>

(value xsi:type="CE” code="J2.4.k” codeSystem="2. 16, 840. 1. 113883.3.989.5.1.3.2.1.37/>
<1-- 880]J2. 4. k: HERREFORAKS #2 —> ’
{/characteristic>
</subject0f>

{/asManufacturedProduct>
{ingredient classCode="ACTI">
" <quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<!— G.k. 2.3.r.3a: Strength (number) #2-1 —>
¢!—— G.k. 2.3.r.3b: Strength (unit) #2-1 —>
<denominator value="17/>
</quantity>
<1ngred1entSubstance classCode="MMAT” determinerCode="KIND">
<code code="G. k. 2.3.r.2b” codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a"/>
<1—— G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #2-1 -—>
<1-= G.k.2.3.1.2b Substance / Specified Substance TermID #2-1 —>
<name>G. k. 2. 3. r. 1{/name>’
<l-- G.k.2.3.r.1: Substance / Specified Substance Name #2-1 ——>
</ingredientSubstance>
{/ingredient>
<ingredient classCode="ACTI">
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
¢I— G.k.2.3.r.3a: Strength (number) #2-2 —>
¢(!— G.k.2.3.r.3b: Strength (unit) #2-2 —>
{denominator value="1"/>
</quantity>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
(code code="G:k: 2.3.1.2b” codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.22"/>
<l-— G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date/Number #2-2 ——>
{!— 6.k 2.3.r.2b Substance / Specified Substance TermID #2-2 —>
<name>G. k. 2. 3. r. 1{/name> )
<l-- G.k.2.3.1.1: Substance / Specified Substance Name #2-2 —>
</ingredientSubstance>
</ingredient>
</kind0fProduct>
(subjectOf typeCode="SBJ">
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{productEvent classCode="ACT” moodCode="EVN"> _
{code code="1" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 18" displayName="retailSupply”/>
{performer typeCode="PRF"> :
<assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG” determinerCode="INSTANCE">
<addr>
{country>G. k. 2. 4{/country>
¢]— G.k.2.4: Identification of the Country Where the Drug Was Obtained #2 -——>
</addr>
</representedOrganizationd
</assignedEntity>
</performer>
{/productEvent>
</sub ject0>
<subjectOf typeCode="SBJ">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="—f AERZ D AFEHR"/>
(value xsi:type="CE” code="J2.6.k” codeSystem="2. 16, 840. 1. 113883.3.989.5.1.3.2. 1.5"/>
<1—- @86]2.6.k: —RXAERHROATER #2 —>
</observationEvent> ' ' )
</subject0f>
</instance0fKind>
</consumable>
<outhoundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<l—— G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reaction #1-—> ‘

Reaction #l —>
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2~a02f~42d4d6£4657" />
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #1 ——>

¢!—= G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #1 —>
CactReference classCode="0BS” moodCode="EVN"> ) v
{id root="154eh889-958b-4512-a02f-42d4d6£4657f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
R 1= G.k.9.i.3.la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reaction #2 ——> : ’
<1—— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2
Reaction #2 ~—> '
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4ebc-93e9-5b860b314220" />
{/actReference>
<{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
(l— G.%. 9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #2 —

¢!—— G.k.9.1,3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS” moodCode="EVN"> -
. {id root="2baa28d6-cYe8-4ebc-93e9-5b860b314220" />
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G, k.9.i.3.1b"/>
{1— G.k.9.1.3.1a: Time Interval between Beginning of Brug Administration and Start of Reaction / Event (number) Drug #2
Reaction #3 —> . ’
<l-— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2
Reaction #3 —>
<actReference classCode="0BS” moodCode="EVN™>
- ¢id root="3aB8626ch-9f1b-4ea8-8a0f-e0ff34430adf”/>
{/actReference> :
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
<l— G.k.9.1i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #3 —
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Reaction #4 —>

Reaction #4 ——>

Reaction #5 ——>

Reaction #5 -->

Reaction #6 ——>

Reaction #6 -->

Reaction #7 ——>

Reaction #7 —>

¢l— G.k.9.i.3.2b: Time Interval between Last Dose of Drug
¢actReference classCode="0BS”:moodCode="EVN">
<id root="3a8626cb-9f1b—~4ea8-8a0f-e0ff34430adf”/>
{/actReference> ’
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<l— 6.k.8.i.3.1a: Time Interval between Beginning of Drug

¢l-— 6.k.9.1i.3. 1lb: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN"> )
<id root="2¢99840f-08b4-499¢c—-80ff-dd8415f4f8a5"/>
{/actReference>
<{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE"> .
<pauseQuantity value="10" wnit="G.k.9.1i.3.2b"/>
<!~ G.k.9.i.3.2a: Time Interval between Last Dose of Drug

<l—— G.k.9.1.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN"> :
<id root="2¢99840f-08b4-499c-80ff-dd8415f4f8a5" />

{/actReference>

</outhoundRelationship1>

<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢!-= 6.k.9.1.3.1a: Time Interval between Beginning of Drug

<t—~ 6.k.9.i.3.1b: Time Interval between Beginning of Drug

" CactReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b-83c1-34f9ddbTeaéd” />
</actReference> )
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
<l— G.k.9.i.3.2a: Time Interval between Last Dose of Drug
<l-- 6.k . 9.i.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd”/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<l-- G.k.9.i.3.1a: Time Interval between Beginning of Drug

¢!—— G.k.9.i.3.1b: Time Interval between Beginning of Drug

CactReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640£fb18f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
(pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢!— G.k.9.1.3.2a: Time Interval between Last Dose of Drug

<!— G.k.9.i.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640fb18f"/>
{/actReference>
</outhoundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢!— G.k.9.i.3.1a: Time Interval between Beginning of Drug

{l-— G.'k.9.1.3:1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb-cel4bc279dBe”/>
</actReference>
</outboundRelationshipl>
CoutboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="6.k.9,i.3.2b"/>
<!— G.k.9.i.3.2a: Time Interval between Last Dose of Drug
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and Start of Reaction / Event (unit) Drug #2, Reaction #3 —>

Administration and Start of Reaction / Event (number) Drug #2

Adwinistration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction #4 —

and Start of Reaction / Event (unit) Drug #2, Reaction #4 —>

Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2

and Start of Reaction / Event (number) Drug #2, Reaction #5 —

and Start of Reaction / Event (unit) Drug #2, Reaction #5 —>

Administration and Start of Reaction / Event (number) Drug #2

Administration and Start of Reaction / Event (unit) Drug #2

and Start of Reaction / Event (number) Drug #2, Reaction #6 —

and Start of Reaction / Event (unit) Drug #2, Reaction #6 —>

Administration and Start of Reaction / Event (number) Drug #2

Administration and Start of Reaction / Event (unit) Drug #2

and Start of Reaction / Event (number) Drug #2, Reaction #7 —



<actReference classCode— OBS” moodCode="EVN">
<id root="e0342969-38be—423f-b6bb-cel4bc279d8e” />
</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
¢l—= G.k.9.1i.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reaction #8 —>

Reaction #8 —>
<actReference classCode="0BS” moodCode="EVN™>
<id root="al5be092-8070-426d-af04-6863263443e0”/>,
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode=" SAE >
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
U—GkﬁleaTmehmnﬂbﬁmeut%nofhmaMSunofhunm/Emm(mmu)Dwgw Reaction #8 —

>
¢l-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reactlon / Event (unit) Drug #2, Reaction #8 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263443e0"/>
</actReference>
¢/outboundRelationshipl>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2. 16, 840. 1. 113883.3.989.2.1.1. 19" displayName="blinded”/>
<value xsi:type="BL” value="true”/>
¢1-- G.k.2.5: Investigational Product Blinded #2 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
¢I— G.k.4.r : Dosage and Relevant Information (repeat as necessary) #2-1 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<(text>G. k. 4. r. 8</text>
¢1-- G.k. 4.r.8: Dosage Text #2-1 —>
CeffectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢!-—- G.k.4.r.4: Date and Time of Start of Drug #2-1 —>
<high value="20090101"/>
(1= G.k.4.r.5: Date and Time of Last Administration #2-1 —>
{/effectiveTime> ’ .
(routeCode code="G. k. 4. r. 10, 2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystenVersion="G. k. 4.r. 10.2a”>
(1= G.k.4.r. 10.2a: Route of Administration TermID Version Date / Number #2-1 —>
¢1-- G.k. 4. r.10.2b: Route of Administration TermID #2-1 -->
<originalText>G. k. 4. r. 10, 1</originalText>
¢l=— G.k.4.r.10.1: Route of Administration (free text) #2-1.-—>
</routeCode> )
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—- G.k.4.r. 1a Dose (number) #2-1 —>
1= G.k.4.r.1b: Dose (unit) #2-1 —>
<consumable typeCode="CSY">
<instanceOfKind classCode="INST">
(productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<l— G.k.4.r.7: Batch / Lot Number #2-1 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<formCode code="G.k. 4.r.9.2b”" codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
¢l— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-1 —>
¢!-- G.k. 4.1.9.2b: Pharmaceutical Dose Form TermID #2-1 —>
{originalText>G. k. 4.r. 9. 1</originalText>
<!—- G.k. 4:r.9.1: %nmwﬂmﬂDue%m(ﬁwtuﬂ#Zl—)
</formCode>
</kind0fProduct>
</instanceOfKind> -
</consumable>
CinboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
Ccode code="28" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
(value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2, 16. 840. 1. 113883. 3. 989.2.1. L. 14" codeSystemVersion="G. k. 4.r.
11.2a">

¢1—'G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #2-1 -->
<}— G.k.4.r.11.2b: Parent Route of Administration TermID #2-1 —>
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CoriginalText>G. k. 4. r. 11. 1</originalText>
{1-- G.k.4.r.11. 1: Parent Route of Administration (free text) #2-1 —>
</value>
{/observation>
</inboundRelationship>
</substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢l-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-2 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8{/text> .
<!— G.k.4.r.8: Dosage Text #2-2 —>
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢!— G.k.4.r.4: Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k.4.r.6b"/>
<1-— G.k.4.r.6a: Duration of Drug Administration (number) #2-2 -->
¢}-= G. k. 4.r.6b: Duration of Drug Administration (unit) #2-2 —>
{/effectiveTime> .
<routeCode code="G.k.4.r.10.2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10, 2a">
¢l— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-2 —>
1= G.k.4.1.10.2b: Route of Administration TermID #2-2 -—>
<originalText>G. k. 4. r. 10. 1</originalText>
(1= G. k. 4.r. 10. 1: Route of Administration (free text) #2-2 —>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<!— G.k. 4.r. 1a Dose {number) #2-2 —>
<!-- G.k. 4.r. 1b: Dose (unit) #2-2 —>
<consumable typeCode="CSM™>
<instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</1otNumberText>
¢l-- G.k.4.r.7: Batch / Lot Number #2-2 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.r.9.2a">
<!-- G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 —> -
<!=- G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-2 —>
<originalText>G. k. 4.r.9. 1</originalText>
{!-—- G.k. 4.r.9.1: Pharmaceutical Dose Form (free text) #2-2 >
</foruCode>
</kind0fProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. L. 113883. 3. 989. 2. 1. 1. 19" displayName="parentRouteOfAdninistration”/>
(value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. .
11.2a"> ' :
{!— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-2 —>
¢{!=— G.k.4.r.11.2b: Parent Route of Administration TermlD #2-2 —>
<originalText>G. k. 4. r. 11, 1{/originalText>
<!— G.k.4.r.11. 1: Parent Route of Admlnlstratlon (free text) #2-2 —>
</value>
</observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
<l-= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-3 -—>
<substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. r. 8</text>
<1-—- G.k.4.r.8: Dosage Text #2-3 -->
CeffectiveTime xsi:type="IVL_TS">
<width value="4" unit="G. k. 4.r.6b"/>
<}— G.k.4.r.6a: Duration of Drug Administration (number) #2—3 -
<1~= G.k.4.r.6b: Duration of Drug Administration (unit) #2~3 —>
<high value="20090101"/>
<{1-- G.k.4.r.5: Date and Time of Last Administration #2-3 ——>
</effectiveTime>
<routeCode code="G. k. 4. r.10.2b” codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10.2a">
¢{!— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-3 —->
<{}— G.k.4.r.10.2b: Route of Administration TermID #2-3 ——>
’ CoriginalText>G. k. 4. r. 10. 1</originalText>
¢~ G.k.4.1.10.1: Route of Administration (free text) #2-3 ——>
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{/routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
(}=- G.k.4.r.1a Dose (number) #2-3 —->
¢l-- G.k.4.r.1b: Dose (unit) #2-3 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<productInstanceInstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</1otNumberText>
<1-- G.k.4.r.7: Batch / Lot Number #2-3 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G. k. 4.1.9.2b" codeSystem—”TBD—DoseForm’ codeSystemVersion='G. k. 4.1r.9.2a"

(!—- Gk 4r.9. 2b. Pharmaceutical Dose Form TermID #2-3 ——>
<originalText>G. k. 4. r. 9. 1<{/originalText>
¢}]— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-3 —>
</formCode>
</kind0fProduct>
</instanceOfKind>

</consumable>

<inboundRelationship typeCode="REFR">
Cobservation classCode="0BS” moodCode="EVN">

<code code="28" codeSystem="2. 16, 840. 1.113883. 3. 989. 2. 1. 1. 197 displayName="parentRouteOfAdministration”/>
(value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840.1. 113883.3.989.2.1. 1. 14" codeSystemVersion="G. k. 4. r.
11.22"> . '
(1= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-3 —>
¢l=— G.k.4.r.11.2b: Parent Route of Administration TermID #2-3 ——>
CoriginalText>G. k. 4. r. 11. 1</originalText>
<1-- G.k.4.r.11.1: Parent Route of Administration (free text) #2-3 —>
</value>
{/observation>
</inboundRelationship>
</substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
¢1-~ G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #2-4 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">

<text>G. k. 4. r. 8</text>

¢!-- G.k. 4.r.8: Dosage Text #2—4 ——>

<effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS">

<{period value="10" unit="G.k.4.r.3"/>

<l— G.k.4.r.2: Number of Units in the Interval #2-4 —>

(1= G.k.4.r.3: Definition of the Time Interval Unit #2-4 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">

<low value="20090101"/>

<l-— G.k.4.r.4: Date and Time of Start of Drug #2-4 ——>
</comp>

</effectiveTime> )

(routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 14" codeSystemVersion="G. k. 4.r. 10. 2a">
<}— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-4 —-> .
<}— G.k.4.1r.10.2b: Route of Administration TermID #2-4 —>
<originalText)G. k. 4. r. 10. 1<{/originalText>
¢1=—G. k. 4.1.10. 1: Route of Administration (free text) #2-4 ——>

{/routeCode>

<doseQuantity value="10" unit="G.k.4.r.1b"/>

<)—- G.k. 4.r, la Dose (number) #2-4 ——>

<l-- G.k.4.r.1b: Dose (unit) #2-4 —>

<consumable typeCode="CSM">
<instanceOfKind classCode="INST">

<¢productInstanceInstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</1lotNumberText>
¢1— G.k.4.r.7: Batch / Lot Number #2-4 —>

</productInstancelnstance>

<kind0fProduct classCode="MMAT” determinerCode="KIND">
‘{formCode code="G.k.4.1.9.2b" codeSystem” TBD-DoseForm” codeSystemVerslon' G k.4r.9 22"

1= G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-4 ——>
CoriginalTextDG. k. 4.r. 9. 1</originalText>
. ¢l—— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-4 -->
</formCode>
{/kindOfProduct>
{/instance0fKind>
{/consumable>
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<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
(code code="28" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.11.2b” codeSystem="2. 16,840, 1, 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. 1.
11.2a"> ‘
<!— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-4 —>
<!-— G.k.4.xr.11.2b: Parent Route of Administration TermID #2—4 —>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<!-— G.k.4.r.11. 1: Parent Route of Administration (free text) #2 4 —>
</value>
{/observation>
</inboundRelationship>
</substanceAdministration> .
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
{!—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-5 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8{/text>
<I—- G.k.4.1.8: Dosage Text #2-5 ——>
<effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/>
<l-- G.k.4.1.2: Number of Units in the Interval #2-5 ——>
<l=— G.k.4.r.3: Definition of the Time Interval Unit #2-5 —>
</comp> )
<comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
(I~ G.k.4.1.5: Date and Time of Last Administration #2-5 ——>
</comp>
</effectiveTime>
<routeCode code="G.k. 4.r.10.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<!— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-5 ——>
<!~ G.k.4.r.10.2b: Route of Administration TermID #2-5 —>
<originalText>G. k. 4.r. 10. 1{/originalText>
<!-- G.k.4.r.10. 1: Route of Administration (free text) #2-5 —>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<{l-— G.k. 4.1. 1a Dose (number) #2-5 —->
<l—— G. k. 4.1. 1b: Dose (unit) #2-5 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNunberText>
¢1-- G.k.4.r.7: Batch / Lot Number #2-5 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
<!-— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5 —->
<l-- G.k.4.r.9. 2b: Pharmaceutical Dose Form TermID #2-5 —>
<originalText>G. k. 4. r. 9. I</originalText>
<l— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-5 —>
</formCode> :
</kind0fProduct>
{/instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN"> -
<code code="28" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.11.2b"” codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 14" codeSystemVersion="G.k. 4.1
11, 2a™>
<{l-— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-5 -->
<l-— G.k.4.r.11. 2b: Parent Route of Administration TermID #2-5 —>
<originalText>G. k. 4. r.11. 1</originalText>
<{1— G.k.4.r.11.1: Parent Route of Administration (free text) #2-5 —>
</value>
{/observation>
</inboundRelationship>
</substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP” >
<l-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
<text>G. k. 4.r. 8</text>
<l-- G.k.4.r.8: Dosage Text #2-6 ——>
<effectiveTime xsi:type="SXPR_TS">
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{comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/>
¢(I-— G.k. 4. 1. 2: Number of Units in the Interval #2-6 —>
¢!-- G.k.4.r.3: Definition of the Time Interval Unit #2-6 ——>
- </comp>
{comp xsi:type="IVL_TS” operator="A">
(width value="4" unit="G.k.4.r.6b"/>
¢I~— G.k.4.r.6a: Duration of Drug Administration (number) #2—6 —>
¢(l-- G.k.4.r.6b: Duration of Drug Administration (unit) #2-6 ——>
</comp>
{/effectiveTime> .
¢routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 147 codeSystemVersion="G. k. 4. r. 10. 2a">
(!— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-6 —>
<1—= G.k.4.r.10.2b: Route of Administration TermID #2-6 —>
<originalText>G. k. 4. r. 10. 1{/originalText>
<l— G.k.4.r.10.1: Route of Administration (free text) #2-6 ——>
</routeCode>
(doseQuantity value="10" unit="G.k.4.r.1b"/>
{l=- G.k.4.r.1a Dose (number) #2-6 —>
(!-- G.k.4.r.1b: Dose (unit) #2-6 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST”>
- <productInstanceInstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<1-- G.k.4.r.7: Batch / Lot Number #2-6 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
<formCode code= G.k.4.r.9.2h” codeSystem—”TBD-DoseForm’ codeSystemVersion=’G.k.4.r.9.Za”>
<!—- G.k.4.r.9.2b- Pharmaceutical Dose Form TermID #2-6 ——>
<originalText>G. k. 4. r. 9. 1</originalText>
(l=— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-6 —>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
Kcode code="28" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2.1, 1.19” displayName=" parentRouteOfAdm1n1strat1on />
(value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 14" codeSystemVersion="G. k. 4.r.
11.2a">
{l— G.k. 4.1.11.2a: Parent Route of Administration TermID Version Date / Number #2- 6 -=>
¢l— G.k.4.r.11.2b: Parent Route of Administration TermID #2-6 —>
<originalText>G. k. 4. r. 11. 1</originalText>
¢I— G.k.4.r.11.1: Parent Route of Administration (free text) #2-6 —>
</value>
</observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship? typeCode="COMP”>
¢1— 6.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 -—>
<substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. . 8</text>
¢}~ G.k. 4.1.8: Dosage Text #2-7 —>
CeffectiveTime xsi:type="PIVL_TS™>
<period value="10" unit="G.k.4.r.3"/>
<= G.k.4.r.2: Number of Units in the Interval #2-7 —>
¢l—- G.k. 4.r.3: Definition of the Time Interval Unit #2-7 —>
</effectiveTime>
(routeCode code="G. k..4. r. 10. 2b” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 14" codeSystemVersion="G. k. 4.r. 10.2a">
<l-= 6.k 4.7.10.2a: Route of Administration TermID Version Date / Number #2-7 ——>
<l=- G.k.4.71.10.2b: Route of Administration TermID #2-7 —>
<originalText>G. k. 4. r. 10. 1{/originalText>
¢l— G.k.4.r.10.1: Route of Administration (free text) #2-7 —>
</routeCode>
(doseQuantity value="10" unit="G.k.4.r. 1b"/> . )
(!1=- G.k.4.r.1a Dose (number) #2-7 —>
1—- G.k. 4.r. 1b: Dose (unit) #2-7 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode=" INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<!— G.k.4.x.7: Batch / Lot Number #2-7 —>
</productInstancelnstance>
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<kindOfProduct classCode="MMAT” determinerCode="KIND">
¢formCode code="G. k. 4.r.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
<{!-- 6.k.4.r.9. 2a: Pharmaceutical Dose Form TernID Version Date / Number #2-7 ——>
<]— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-7 —>
CoriginalText>G. k. 4. 1. 9. 1<{/originalText>
<l-- G.k.4.1.9. 1: Pharmaceutical Dose Form (free text) #2-7 -->
{/formCode>
</kind0fProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
(value xsi:type="CE" code="G.k. 4.r.11.2b" codeSystem="2, 16. 840. 1. 113883, 3. 989.2. 1. 1. 14" codeSystemVersion="G. k. 4. r

11.2a">
<!— G.k. 4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-7 —>
<l-- G.k.4.r. 11, 2b: Parent Route of Administration TermID #2-7 ——>
{originalText>G. k. 4. r. 11. 1{/originalText>
<l-= G.k.4.1.11.1: Parent Route of Administration (free text) #2-7 —->
</value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outbhoundRelationship2 typeCode="COMP">
<!-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-8 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8{/text>
(I-- 6. k. 4.r.8: Dosage Text #2-8 —>
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
<}— G.k.4.f. 4: Date and Time of Start of Drug #2-8 -->
<{/effectiveTime>
<routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 14” codeSystemVersion="G. k. 4.r. 10. 2a">
{!—— G.k.4.r.10. 2a: Route of Adwinistration TermID Version Date / Number #2-8 —>
<{}-- G.k.4.7.10.2b: Route of Administration TermID #2-8 —>
CoriginalText>G. k. 4. r. 10. 1</originalText>
I~ G.k.4.r.10.1: Route of Administration (free text) #2-8 —>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<!— G.k.4.r.1la Dose (number) #2-8 —>
© (== G.k. 4. r.1b: Dose (unit) #2-8 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
<prdductInstanceInstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. x. 7</lotNumberText>
<{— G.k.4.r.7: Batch / Lot Number #2-8 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="XIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k: 4.r.9.2a">
{1-- G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 -->
<l-- G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-8 —>
<originalText>G. k. 4. r. 9. 1<{/originalText>
<}— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-8 ——>
{/foruCode>
</kindOfProduct>
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r. 1l.2b” codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 14" codeSystemVersion="G. k. 4. r.
11.2a">

{!=- G.k.4.r. 11, 2a° Parent Route of Administration TermID Version Date / Number #2-8 ——>
¢{}—— G.k.4.r. 1L 2b: Parent Route of Administration TermID #2-8 —>
<originalText>G. k. 4. r. 11. 1<{/originalText>
{!— G.k.4.r.11.1: Parent Route of Administration (free text) #2-8 —>
{/value> :
{/observation>
{/inboundRelationship>
</substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
¢l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-9 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
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{text)G. k. 4. r. 8</text>
¢!— G.k 4.r.8: Dosage Text #2-9 ——>
CeffectiveTime xsi:type="IVL_TS">
<high value="200901017/>
¢l-- G.k.4.1.5: Date and Time of Last Administration #2-9 —>
{/effectiveTime> .
(routeCode code="G. k. 4.r.10.2b" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a">
<l— G.k. 4.1.10.2a: Route of Administration TermID Version Date / Number #2-9 —>
(l-- G.k.4.r.10.2b* Route of Administration TermID #2-9 —>
CoriginalText>G. k. 4. r. 10. 1</originalText>
(!~ G.k.4.1.10.1: Route of Administration (free text) #2-9 —>
{/rduteCode>
(doseQuantity value="10" unit="G.k.4.r.1b"/>
<}— G.k. 4.r.la Dose (number) #2-9 —>
¢l-= G.k. 4.r.1b: Dose (unit) #2-9 —>
{consumable typeCode="CSM">
(instanceOfKind classCode="INST">
(productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<}-- G.k.4.r.7: Batch / Lot Number #2-9 —>
{/productInstancelnstance>
CkindOfProduct classCode="MMAT” determinerCode="KIND">
<formCode code="G. k. 4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.r.9.2a">
¢1— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-9 -—>

{originalText>G. k. 4. r. 9. 1{/originalText>
¢l— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-9 —>
</formCode>
</kind0fProduct>
</instance0OfKind>
{/consumable>
<inboundRelationship typeCode="REFR"> )
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2, 16. 840, 1, 113883, 3.989.2.1.1.19” displayName="parentRouteOfAdministration”/>
(value xsiitype="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840.1.113883.3.989.2.1.1.14" codeSystemVersion="G. k. 4. r.
11.22™>
<l-- G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-9 —>
¢!=- G.k.4.1.11. 2b: Parent Route of Administration TermID #2-9 —>
CoriginalText)G. k. 4. r. 11. 1</originalTextd
¢l=- G.k.4.1.11.1: Parent Route of Administration (free text) #2-9 —>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<l-= G.k.4.1: Dosage and Relevant Information (repeat as necessary). #2-10 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
{}— G.k. 4.r.8: Dosage Text #2-10 —>
<effectiveTime xsi:type="I1VL_TS™>
<width value="4" unit="G.k.4.r.6b"/>
(l-- G.k.4.r.6a: Duration of Drug Administration (number) #2-10 —>
(1-- G.k. 4.r. 6b: Duration of Drug Administration (unit) #2-10 —>
{/effectiveTime>
(routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16, 840. 1. 113883. 3, 989. 2. L. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a”>
¢1-- G.k.4.r.10.22: Route of Administration TermID Version Date / Number #2~10 —>
(}=~ G.k.4.1.10.2b: Route of Administration TermID #2-10 —>
<originalText>G. k. 4. r. 10. 1</originalText> )
<l— G.k.4.1.10.1: Route of Administration (free text) #2-10 —>
</routeCode>
{doseQuantity value="10" unit="G.k. 4.r.1b"/>
¢!— G.k.4.r. la Dose (number) #2-10 —>
{!-- G.k.4.r.1b: Dose (unit) #2-10 —>
<consumable typeCode="CSM"> '
<instance0OfKind classCode="INST”> :
(productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l— 6. k.4.r.7: Batch./ Lot Number #2-10 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND")
(FormCode code="G. k. 4.r.9.2b" codeSystem="TBD~DoseForn” codeSystemVersion="G.k.4.r.9.2a">
¢l-- G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 —>
" <1— G.k.4.r.9,2b: Pharmaceutical Dose Form TermID #2-10 —>
<originalText>G. k. 4. 1. 9. 1<{/originalText>
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<l=— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-10 —>
</formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G.k. 4.1
11.2a">
<!— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-10 —>
- <i— G.k.4.r.11.2b: Parent Route of Administration TermID #2-10 —>
<originalText>G. k. 4.r. 11. 1{/originalText>
¢l— G.k.4.r.11.1: Parent Route of Administration (free text) #2-10 —>
</value>
</observation>
</inboundRelationship>
{/substanceAdninistration>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="SUMM™>
(observation classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19”7 dlsplayName— cumulativeDoseToReaction”/>
<value xsi:type="PQ” value="10" unit="G.k.5b"/>
¢!-— G.k 5a: Cumulative Dose to First Reaction (number) #2 —>
¢}—— G.k.5b: Cumulative Dose to First Reaction (unit) #2 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” displayName="gestationPeriocd”/>
<value xsi:type="PQ" value="10" unit="G. k. 6b"/>
(1= G.k.6a: Gestation Period at Time of Exposure (number) #2 ——>
¢i—- G.k.6b: Gestation Period at Time of Exposure (unit) #2 —->
</observation> .
</outboundRelationship2> .
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="31" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.1i.4" codeSystem="2.16.840.1.113883.3.989.2.1.1,16"/>
<l—- G.k.9.1i.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #1 ——>
<outboundRelationshipl typeCode="REFR”>
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889- 958b—45fZ-aOZf—42d4d6f4657f /)
<{/actReference>
</outboundRelationshipl>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2. 16. 840. 1, 113883, 3.989.2.1.1.19” dlsplayName— recurranceOfReaction”/>
{value xsi’type="CE” code=" 6.k 9.1.4” codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 16"/>
<l— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #2 —>
<outboundRelationshipl typeCode="REFR"™>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-cOe8-4e6c-93e9-5b860b314220"/>
</actReference>
<{/outboundRelationshipl>
{/observation>
</outboundRelationship2> : .
<outboundRelationship2 typeCode="REFR”> -
{observation classCode="0BS” moodCode="EVN"> .
<code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G.k.10.1” codeSystem="2.16.840.1. 113883.3.989.2.1.1.17"/>
¢!—- G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #2-1 -->
{/observation)
{/outboundRelationship2>
CoutboundRelationship2 typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” .displayName="codedDrugInformation”/>
<value xsi:type="CE" code="G.k.10.r” codeSystem="2,16.840.1, 113883.3.989.2.1.1.17°/>
<!—- G.k. 10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2 —>
<{/observation)
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
. {observation classCode="0BS” moodCode="EVN">
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<code code="2" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19" displayName="additionalInformation”/>
<value xsi:type="ST">G.k.11<{/value>
¢!— G.k. 11: Additional Information on Drug (free text) #2 —>
<{/observation> ’ -
</outboundRelationship2>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2b" codeSystem="2.16. 840. 1. 113883. 6. 163" codeSystenVersion="G. k. 7.1. 2a”>
¢}=—— G.k.7.1.2a: MedDRA Version for Indication #2-1 —>
<1=— G.k.7.r.2b: Indication (MedDRA code) #2-1 —>
<originalText>G. k. 7. r. 1{/originalText>
¢l-= G.k.7.r.1: Indication as Reported by the Primary Source #2-1 —>
{/value> .
<performer typeCode="PRF”>
<assignedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 21" displayName="sourceReporter”/>
<{/assignedEntity>
</performer>
</observation>
¢/inboundRelationship>
<inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="indication”/>
<value xsi:type="CE" code="G.k.7.r.2b" codeSystem="2.16.840. 1. 113883.6. 163" codeSystemVersion="G. k. 7.r.2a">
¢!-= G.k.7.r.2a: MedDRA Version for Indication #2-2 ——>
= G.k.7.r.2b: Indication (MedDRA code) #2-2 —>
<originalText>G. k. 7. r. 1<{/originalText>
¢l-- G.k.7.r.1: Indication as Reported by the Primary Source #2-2 ——>
</value> ’
<performer typeCode="PRF">
CassignedEntity classCode="ASSIGNED">
(code code="3" codeSystem="2. 16, 840. 1. 113883. 3. 989.2.1.1.21" displayName="sourceReporter”/>
</assignedEntity>
<{/performer>
</observation>
</inboundRelationship>
<inboundRelationship typeCode="CAUS">
<act classCode="ACT” moodCode="EVN">
<code code="G.k. 8" éodesystem=”2.16.840.l.113883.3.989.2.1.1.15”/)
<!-- G.k. 8: Action(s) Taken with Drug #2 —>
</act>
</inboundRelationship>
{/substanceAdministration>
" {/component>
{/organizer>
</subject0f2>
{subjectOf2 typeCode="SBJ">
Corganizer classCode="CATEGORY” moodCode="EVN"> )
<code code="1" codeSystem="2.16.840.1.113883.3.989.5.1.3.2,1.11” displayName="{EBRDIZE"/>
<component typeCode="COMP"> .
{observation classCode="0BS” moodCode="EVN">
{code code="7" codeSystem=’2.16.840.l.113883.3.989.5.1.3.2.1.10” displayName="J8 HEI%" />
(value xsi:type="INT” value="1"/>
<l— @8@J2.13.r.1: BHER #1 —>
<{/observation>
</component>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN"> )
<code code="8" codeSystem="2. 16, 840. 1. 113883, 3, 989. 5.1.3.2.1.10" displayName="3SREH"/>
(value xsi:type="ED">J2.13.r.2¢/value>
< @0@J2.13.1.2: XfRIRA #1 —
</observation> : :
{/component>
<component typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN">
Ccode tode="9" codeSystem="2, 16.840; 1, 113883. 3. 989. 5. 1.3. 2. 1. 107 displayName="BAZEFR"/>
<value xsi:type="CE” code="J2,13.r.3" codeSystem=’2.16.840.1,113883.3.989.5.1.3.2.1.7'/)
<1— @@8J2.13.r.3: BARAE #1 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16, 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" displayName="1X3&F DEF DHE"/>
<value xsi:type="BL”.value="true”/>
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<1-- @88J2.13.1.4: REDPOEROEE #1 —>
{/observation>
</component>
{/organizer>
</subject0f2>
<subject0f2 typeCode="SBJ">
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1. 11" displayName="{EBROMEE"/>
<component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2. 16. 840, 1. 113883. 3. 989, 5.1.3.2. 1. 10" displayName="J&R HiEI¥"/>
<value xsi:type="INT” value="1"/>
<}— @@eJ2.13.r.1: BHEE #2 —>
<{/observation>
</component>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16.840. 1. 113883, 3. 989.5.1.3.2. 1. 10" displayName="%i & H"/>
(value xsi:type="ED">]J2.13.r.2¢/value> N
<1 808J2.13.r.2: HHRHKRB #2 —>
</observation>
</component>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2.16.840. 1. 113883. 3. 989. 6. 1.3. 2. 1. 10" displayName="BAZE4R"/>
Cvalue xsi:type="CE” code="J2.13.r.3" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.77/>
<!-— @00J2.13.r.3: BARAH #2 —>
{/observation>
{/component>
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3. 2, 1. 10" displayName="#IEF DIEMDHFE"/>
<value xsi:type="BL” value="false”/>
<1— @88J2.13.1.4: FEHROEFOLE #2 —>
{/observation>
</component>
{/organizer>
<{/subject0f2>
{/primaryRole>
</subjectl>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="20" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1. 18" displayName="interventionCharacterization”/>
¢value xsi:type="CE” code="G.k.1” codeSystem="2. 16.840. 1. 113883. 3.989.2, 1. 1.13"/>
<}— G.k.1: Characterisation of Drug Role Drug #I —>
¢subject2 typeCode="SUBJ”>
<productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0ef9ed” />
{/productUseReference> ’
{/subject2>
</causalityAssessment>
</component>
<component typeCode="COMP”>
<causalityAssessment classCode="0BS” moodCode="EVN">
<code code="20" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="interventionCharacterization”/>
<value xsi:type="CE” code="G.k.1” codeSystem="2. 16.840. 1. 113883, 3.989.2.1.1.13"/>
<!— G.k.1: Characterisation of Drug Role Drug #2 —>
<subject2 typeCode="SUBJ">
{productlseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce—~3b3b=45c7-92dd-69e06730c3a9” />
</productUseReference>
<{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2. 16. 840, 1; 113883.3: 989. 2. 1. 1. 19" displayName="causality”/>
<value xsi:type="ST">G.k.9.1i.2.r.3¢/value>
<I— G.k.9.1.2.r.3: Result of Assessment Drug #1, Reaction #1, Assessment #1 —>
<methodCode>
{originalText>G. k. 9. i. 2. r. 2</originalText>
{1— G.k.9.i.2.r.2: Method of Assessment Drug #1, Reaction #l, Assessment #1 —>
</methodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
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{code>
(orlgxﬂalText)G.k.Q.1.2.r.1</origina1Text>

</code>
</assignedEntity>
</author>
<subjectl typeCode="SUBJ">
' (adverseEffectReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b—-45f2~a02f-42d4d6T4657" />
{/adverseBffectReference>
</subjectl>
<subject2 typeCode="SUBJ">
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a~9c30-67671b0ef9ed”/>
{/productUseReferénce>
{/sub ject2>
{/causalityAssessment>
</component> ]
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="causality”/>
<value xsi: type— ST 75G. k. 9. 1. 2. 1. 3</value>

<methodCode)
<or1g1nalText)G.k.9.i.2.r.2</originalText>

</methodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
<code>
CoriginalText>G. k. 9.1i.2.r. 1</originalText>
{!— 6.k.9.1.2.r.1: Source of Assessment Drug #1, Reaction #2, Assessment # —>
</code>
{/assignedEntity>
</author>
<subjectl typeCode="SUBJ">
(adverseEffectReference classCode="0BS” moodCode="EVN">
Kid root="2baa28d6-c9e8-4e6c-93e9-5h860b3142207 />
{/adverseBffectReference>
</subjectl>
(subject2 typeCode="SUBJ">
<{productUseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-e039-4aTa-9c30-67671b0ef9ed”/>
</productUseReference>
{/sub ject2>
{/causalityAssessment>
</component>
{component typeCode="COMP">
<causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 19" displayName="causality”/>
{value xsit type— ST 75G. k. 9. i. 2. r. 3¢/value>

<methodCode>
@nymﬂaﬁ&k&LZnKkﬂﬂmHﬂD

</methodCode>
<author typeCode="AUT">
-<assignedBntity classCode="ASSIGNED”>
{code>.
<or1g1nalText>G.k.9.1.2.r.1(/or1g1nalText>

</code>
{/assignedEntity>
</author>
<subjectl typeCode="SUBJ™>
<adverseEffectReference classCode="0BS” moodCode="EVN">
¢id ‘root="2baa28d6~c9eB~4e6c-93e9-5b860b3142207/>
{/adverseEffectReference>
</subjectl>
<subject2 typeCode="SUBJ">
{productUseReference classCode="SBADM” moodCode="EVN">
¢id root="68d6f5ce-3b3b~45c¢7-92dd-69¢06730c329" />
{/productUseReference>
</subject2>
{/causalityAssessmentd
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{/component>
{component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
Ccode code="39" codeSystem="2. 16. 840, 1. 113883, 3. 980. 2. 1. 1. 19”7 displayName="causality”/>
<value xsi:type="ST”>G.k.9.i.2.r.3<{/value>
<1—G.k.9.1.2.1r.3: Result of Assessment Drug #2, Reaction #2, Assessment #2 ——>
<methodCode>
<originalText>G. k. 9. i. 2. r. 2{/originalText>
<1—G.k.9.3.2.1.2: Method of Asseésment Drug #2, Reaction #2,  Assessment #2 ——>
{/methodCode>
Cauthor typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
<code>
@nmmHuOQkQLZLKhnymHﬂD
<l-- G.k.9.i.2.r.1: Source of Assessment Drug #2, Reaction #2, Assessment #2 —>
</code>
</assignedEntity>
</author>
<subjectl typeCode="SUBJ">
<adverseBffectReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b3142207 />
{/adverseEffectReference>
</subjectl> '
¢subject2 typeCode="SUBJ">
<productUseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce—3b3b—45¢c7-92dd-69e06730c329"/>
{/productUseReference>
<{/subject2>
(/causalltyAssessment>
</component>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" displayName="comment”/>
<value xsi:type="ED">H. 2{/valued>
<l— H.2: Reporter’ s Comments —>
<author typeCode="AUT”>
<assignedBntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1.1. 21" dlsplayName— sourceReporter”/>
</assignedEntity>
{/author>
~ </observationEvent>
</component1>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
{code code="15" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” displayName="diagnosis”/>
(value xsi:type="CE” code="H.3.r.1b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="H. 3.r.1a"/>
<!—— H.3.r.1la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #1 —>
¢1— H.3.r.1b: Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #1 —>
<author typeCode="AUT”>
CassignedEntity classCode="ASSIGNED">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21" displayName="sender”/>
{/assignedEntity>
{/author>
</observationEvent>
</component1>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
Ccode' code="15" codeSystem="2, 16, 840. 1. 113883. 3. 989, 2, 1. 1. 19" displayName=" d1agnosls />
<value xsi:type="CE” code="H.3.r.1b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="H.3.r.1a"/>
<J-- H.3.r.la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #2 —>
<!— H.3.r.1b: Sender’ s Diagnosis / Syndrome and / or Reclassification of React1on / Event (MedDRA code) #2 —>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED"> .
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sender”/>
{/assignedEntity>
</author>
</observationEvent>
</componentl>
<componentl typeCode="COMP”>
<observationBvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED")H. 4</value>
<!— H.4: Sender’s Comments ——>
Cauthor typeCode="AUT">
CassignedEntity classCode="ASSIGNED">
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<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 21" displayName="sender”/>

{/assignedEntity>
</author>
{/observationEvent>
{/componentl>
<component] typeCode="COMP”>
{observationEvent classCode="0BS" moodCode="EVN">

{code code="3" codeSystem— 2.16.840. 1. 113883. 3. 989.5.1.3.2.1.10 displayName="RETIZH T B2 A

<value xsi:type="ED">J2.7.2{/value>
<1-- 008]2.7.2: RETERATEIAVF —>
{/observationEvent>
</componentl>
<componentl typeCode="COMP">
{observationBEvent classCode="0BS” moodCode="EVN">

{code code="4" codeSystem="2. 16.840. 1. 113883.3.989.5. 1. 3. 2.1.10” displayName="/%%E mmwaﬁ 2

<value xsi:type="ED">]J2.9{/value>
<1— @6@J2.9: BRIEDOMRHAE —>
{/observationEvent>
</component1>
<componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN">

<code code="5" codeSystem="2. 16. 840. 1. 113883, 3.989. 5. 1. 3. 2. 1. 10” displayName="4# DXH:"/>

<value xsi:type="ED">J2.10</valuey

Py

i
{/observationEvent>

</component1>

{component1 typeCode="COMP">
<observationBEvent classCode="0BS” moodCode="EVN">

(code code="6" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 10" displayName="Z DBELEIEE />

<value xsi:type="ED">JZ.11</value>
<1— @eajz. 11: ZOMBEEEE —>
</observationEvent>
</component1>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS”. moodCode="EVN">

<code code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5.1.3.2.1.10” displayName="SRERBDER"/>

¢value xsi:type="ED">J2.16</valued>
<I— @88)2.16: WENBOER —>
{/observationEvent>
</component1>
<componentl typeCode="COMP">
CobservationEvent classCode="0BS” moodCode="EVN">

{code code="13" codeSystem="2. 16. 840, 1. 113883. 3. 989. 5. 1.3.2. 1. 10" displayName="{&1"/>

<value xsi:type="ED">J2.19</value>
<1— @@eJ2.19: HEL —>
{/observationEvent>
</componentl>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode— EVN">

<code code="14" codeSystem="2. 16. 840. 1. 113883.3, 989. 5. 1.3.2.1.10” displayName="{§%2"/>

<value xsi:type="ED">J2.20</valued
<1— @eeJz.20: fHE2 —>
{/observationEvent>
{/component1>
<componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">

<code code="15" codeSystem="2. 16.840, 1. 113883. 3. 989.5. 1. 3. 2. 1. 10” displayName="{§%3"/>

<value xsi:type="ED”>J2, 21<{/value>
<1-- @8@J2. 21: fH&E3 —>
</observationEvent>
{/component1>
<componentl typeCode="COMP"™>
{observationEvent classCode="0BS” moodCode="EVN">

{code code="16" codeSystem="2.16.840. 1. 113883. 3.989.5.1.3.2.1.10" displayName="f§#%4"/>

<value xsi:type="ED">J2.22{/value>
<1— @68J2.22: &4 —>
{/observationEvent>"
</component1>
</adverseEventAssessment>
</component>
<component typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN">

S

<code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="additionalDocumentsAvailable”/>

<value xsi:type="BL” value="true”/>
¢)-— C.1.6.1: Are Additional Documents Available? —>
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</observationEvent>
{/component>
{component typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="23" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19” displayName="localCriteriaForExpedited”/>
<value xsi:type="BL” value="true”/>
<l-- C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? ——>
</observationEvent>
</component>
{component typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
<code code="36" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="summaryAndComment”/>
<value xsi:type="ED” language="H.5.r.1b"DH.5. r. la{/value>
{!— H.5.r.la: Case Summary and Reporter’ s Comments Text #I ——>
¢(l~- H.5.r.1b: Case Summary and Reporter’s Comments Language #1 ——>
<author typeCode="AUT™>
CassignedEntity classCode="ASSIGNED”>
<code code="2" codeSystem="2.16.840. 1. 113883, 3.989. 2. 1. 1.21” displayName="reporter”/>
{/assignedEntity>
{/author>
</observationEvent>
</component>
<component typeCode="COMP">
<obsexrvationEvent classCade="0BS” moodCode="EVN">
{code code="36" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="summaryAndComment”/> -
<value xsi:type="ED" language="H.5.r.1b">H. 5. r. la</value>
<!~- H.5.r.1a: Case Summary and Reporter’s Comments Text #2 —>
¢!— H.5.r.1b: Case. Summary and Reporter’s Comments Language #2 —>
<author typeCode="AUT">
CassignedEntity classCode="ASSIGNED">
<code code="2" codeSystem="2, 16.840. 1. 113883. 3.989. 2. 1. 1. 21" displayName="reporter”/>
{/assignedEntity>
</author>
</observationEvent>
</component>
<outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 22" displayName="initialReport”/>
{subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
CassignedEntity classCode="ASSIGNED">
{code code="C. 1. 8.2" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.3"/>
<l— €.1.8.2: First Sender of This Case —->
{/assignedEntity>
{/author>
{/controlActEvent> ,
{/sub ject0f2> :
{/relatedInvestigation>
</outboundRelafionship>
<outboundRelationship typeCode="SPRT”>
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
<subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C. 1, 10. 1" root="2.16. 840.1.113883.3.989.2.1.3.2"/>
¢l—= €.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
(/controlActEvent>
{/sub ject0f2>
</relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code nullFlavor="NA"/>
{subject0f2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r" root="2.16.840.1.113883.3.989.2.1.3.27/> ‘
(1= C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary) #2 —>
{/controlActEvent>
</subject0f2>
</relatedInvestigation>
<{/outboundRelationship>
<outboundRelationship typeCode="SPRT”>
<priorityNumber value="1"/>
<l— C.2.r.5: Primary Source for Regulatory Purposes #1 —>
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(relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1.113883. 3,989.2.1.1.22" displayName="sourceReport”/>
{subjectOf2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
(assignedEntity classCode="ASSIGNED”>
<addr>
¢streetAddressLine>C. 2. r. 2. 3</streetAddressLine>
<!— C.2.r.2.3: Reporter’s Street #1 —->
<city>C. 2. 1. 2. 4</city>
<l— C.2.1.2.4: Reporter's City #1 >
{state>C. 2. r. 2. 5{/state>
<l— €.2.r.2.5: Reporter’s State or Province #1 —>
<postalCode>C. 2. r. 2. 6</postalCode> :
(l=~ C.2.1.2.6: Reporter’s Postcode #1 —->
</addr>
<telecom value="tel:C.2.r.2.7"/>
<I— C.2.1.2.7: Reporter’s Telephone #1 —>
{assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>
<prefix>C. 2. r. 1. 1</prefix>
<}— C.2.r.1.1: Reporter’s Title #1 ——>
<given>C. 2. r. 1. 2{/given>
<l— C.2.xr.1.2: Reporter’s Given Name #l —>
<given>C. 2. r. 1. 3¢/given>
¢(l-- C.2.1r.1.3: Reporter’s Middle Name #1 —>
(family>C. 2. r. 1. 4¢/family>
<l<- C.2.r.1.4: Reporter’ s Family Name #1 —>
</name> ‘
<asQualifiedEntity classCode="QUAL™>
{code code="C.2.r.4" codeSystem="2. 16.840. 1. 113883, 3.989.2. 1. 1. 6"/>
(I— C.2.r.4: Qualification #1 ——>
{/asQualifiedEntity> )
<asLocatedEntity classCode="LOCE™>
(location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.2.r.3” codeSystem="1.0.3166.-1.2.2"/>
¢l— C.2.r.3: Reporter’s Country Code #1 ~->
</location> )
{/aslocatedEntity>
{/assignedPerson>
(representedOrganization classCode="0RG" determinerCode="INSTANCE">
{namedC. 2. r. 2. 2{/name>
{1== C.2.r.2.2: Réporter’s Department #1 —>
<assignedEntity classCode="ASSIGNED”>
(representedOrganization classCode="ORG” determinexrCode="INSTANCE">
<name>C. 2. r. 2. 1</name> '
<l-= C.2.r.2.1: Reporter’s Organisation #1 —>
{/representedOrganization>
{/assignedEntity>
{/representedOrganization>
</assignedEntity>
{/author>
“ ¢/controlActEvent>
<{/subject0f2>
<{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT">
(relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 22" displayName="sourceReport”/>
<subjectOf2 typeCode="SUBJ"> :
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
<addr>
{streetAddressLine>C. 2. r. 2. 3¢/streetAddressLine>
<!-- C.2.r.2.3: Reporter’s Street #2 —>
<city>C. 2. 1. 2. 4<{/city>
<l-— C.2.r.2.4: Reporter’s City #2 -—>
{statedC. 2. r. 2. 5{/state>
<!— C.2.1.2.5: Reporter’s State or Province #2 —>
<postalCode>C. 2. r. 2. 6</postalCode>
<!— C.2.1r.2.6: Reporter’s Postcode #2 ——>
</addr>
<telecom value="tel:C.2.r.2.7"/>
<}~ C.2.r.2.7: Reporter’ s Telephone #2 —>
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(assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>
<prefix>C. 2.r. 1. 1{/prefix>
<l-— C.2.r.1.1: Reporter’s Title #2 —>
<given>C. 2. r. 1. 2{/given>
<{l— C.2.r.1.2: Reporter’s Given Name #2 —>
<given>C. 2. r. 1. 3{/given>
<l— €.2.1.1.3: Reporter’ s Middle Name #2 —>
<family>C. 2.r. 1. 4</family>
<l=— C.2.r. 1.4: Reporter’s Family Name #2 -->
{/name>
CasQualifiedEntity classCode="QUAL">
<code code="C. 2.r.4” codeSystem="2. 16. 840. 1, 113883.3.989.2.1.1.67/>
<]== C.2.r.4: Qualification #2 —>
{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="C.2.r.3” codeSystem="1.0.3166.1.2.2"/>
{!-— C.2.x.3: Reporter’s Country Code #2 —>
</location>
</asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="ORG” determinerCode="INSTANCE”>
<name>C. 2. r. 2. 2{/name>
{!— C.2.x.2.2: Reporter’ s Department #2 ——>
<assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="ORG” determinerCode="INSTANCE">
<name>C. 2. r. 2. 1{/named> -
<!— C.2.1.2.1: Reporter’s Organisation #2 —->
</representedOrganization>
{/assignedEntity>
{/representedOrganization>
</assignedEntity>
{/author>
</controlActEvent>
</subject0f2>
</relatedInvestigation>
</outboundRelationship)
<subjectOf1 typeCode="SUBJ]">
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
<code code="C.3.1” codeSystem="2, 16, 840. 1. 113883.3.989.2.1.1.7"/>
<{——C.3.1: Sender Type —>
<addr> :
{streetAddressLine>C. 3. 4. 1{/streetAddressLine>
<I-—C.3.4.1: Sender’s Street Address —>
{eity>C. 3. 4. 2</city>
¢l--C.3.4.2: Sender’'s City >
{state>C, 3. 4. 3{/stated
¢l-- C.-3.4.3: Sender’s State or Province —>
</addr>
(telecom value="tel:C.3.4.6"/>
<l-- C.3.4.6: Sender’s Telephone —>
<telecom value="fax:C.3.4.7"/>
<]=-C.3.4.7: Sender’ s Fax ——>
<telecom value="mailto:C.3.4.8"/>
<}—=C.3.4.8: Sender’ s E-mail Address —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>C. 3. 3. 2</prefix>
<1— €.3.3.2: Sender’ s Title —>
<given>C. 3. 3. 3</givend
<l— €.3.3.3: Sender’s Given Name ——>
<given>C. 3. 3, 4</given>
<l— C.3.3.4: Sender’s Middle Name —>
<family>C. 3. 3. 5</fanily>
¢l— C.3.3.5: Sender’s Family Name ——>
{/name>
<asLocatedEntity classCode="LOCE”>
<location classCode="COUNTRY” determinerCode="INSTANCE”>
{code code="C.3.4.5” codeSystem="1.0.3166.1.2.2"/>
<!— C.3.4.5: Sender’s Country Code —>
</location>
{/asLocatedEntity>
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</assignedPerson>
(representedOrganization classCode="ORG" determinerCode="INSTANCE” )
<name>C. 3. 2{/name>
<!— C.3.2: Sender’s Organisation ——>
{/representedOrganization>
{/assignedEntity>
{/author>
<primaryInformationRecipient typeCode="PRCP">
CassignedEntity classCode="ASSIGNED™>
<assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<{name>
<prefix>J2. 18. 2</prefix>
<l— @@@Jz2.18.2: ZEE REE —
{family>J2. 18. 3</family>
<1— @@eJz.18.3: RfFEF M —
{givend]J2. 18. 4</given>
<1— @8eJ2.18.4: BfEH & —
{/name>
</assignhedPerson>
(representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>J2. 18. 1{/name>
<I-- @@@J2.18.1: RIFF MMk —
</representedOrganization>
{/assignedEntity>
</primaryInformationRecipient>
</controlActEvent>
</subject0f1>
<subject0f1 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extehsion="C.1.9.1.r.2” root="2. 16.840.1.113883.3.989.2.1.3.3"/>
(= C.1.9.1.1.1: Source(s) of the Case Identifier (repeat as necessary) #1 -->
<}— €. 1.9.1.1.2 Case Identifier(s} #1 —>
</controlActEventd>
</subject0f1> )
<subjectOf1 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN"> .
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.r.2" root="2, 16.840, 1. 113883. 3.989. 2. 1. 3. 3"/>
<{!— €.1.9.1.1.1: Source(s) of the Case Identifier (repeat as necessary) #2 —>
<l=- C.1.9.1.1. 2 Case Identlfler(s) #2 -
~ </controlActEvent>
{/subject0f1>
<subject0f2 typeCode="SUBJ”>
(investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 23" displayName="ichReportType”/>
(value xsi:type="CE” code="C.1.3" codeSystem="2.16.840.1.113883.3.989.2.1.1.2"/>
<l-- C.1.3 Type of Report —>
</investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ”>
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1, 23" dlsplayName- otherCaseIds />
<value xsi:type="BL” value="true”/>
<!-—— C.1.9.1 Other Case Identifiers in Previous Transmissions —>
</investigationCharacteristicd
<{/subject0f2>
<subject0f2 typeCode="SUBJ">
‘<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 23" displayName="nullificationAmendmentCode”/>
<value xsi:type="CE” code="C.1.11.1" codeSystem="2, 16.840.1.113883.3.989.2.1.1.5"/>
<l== C.1.11.1: Report Nullification / Amendment —>
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2. 16. 840. 1, 113883. 3.989. 2. 1. 1. 23" displayName=" nul11f1catlonAmendmentReason />
(value xsi:type="CE"™>
<originalText>C. L. 11. 2{/originalText>
<l— C.1.11.2: Reason for Nullification / Amendment —>
{/value>
</investigationCharacteristic>
</subject0f2>
<subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2.16.840. 1. 113883. 3. 989. 5. L. 3. 2. 1. 12" displayName="385IES (REZR "/
(value xsi:type="CE” code="J2.1a” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.1"/>
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- @eeJe. 1a: MANEFS BESW —
</investigationCharacteristic> :
</subject0f2> :
<subject0f2 typeCode="SUB]”>
(investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 989, 5, 1. 3. 2. 1. 12" displayName="$8$5#2HA"/>
<value xsi:type="TS” value="20130107"/>
<1— @a@J2.2.1: MERER —
<{/investigationCharacteristic>
</subject0f2>
(subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2. 1. 12" displayName="8lEBERIZHT B X '
{value xsi:type="ED">]J2.2.2<{/value>
d— 068]2.2.2: HEBEPIETHEIAL b -
</investigationCharacteristic)
</sub ject0f2>
<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2. 16. 840. 1. 113883, 3,989.5. 1. 3.2. 1. 12” displayNane="E)Bs&& 7 F 7"/>
<value xsi:type="CE” code="J2.3" codeSystem="2.16.840.1. 113883.3.989.5.1.3.2.1.27/>
<1 @eeJ2.3: AIEREREZZ S —
</investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
(code code="5" codeSystem="2. 16. 840. 1. 113883, 3.989.5.1.3.2. 1. 12" displayName="#&EX2475 7" />
. <value xsi:type="CE” code="J2.8.1” codeSystem="2.16.840. 1, 113883.3,989.5.1.3.2.1.6"/>
<1 @00]2.8.1: HWM&RBIHT 5 —
</investigationCharacteristic>
"</subject0f2>
<subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS” moodCode="EVN"> .
<code code="6" codeSystem="2.16. 840. 1. 113883.3.989. 5. 1. 3. 2. 1. 12" displayName="$ %%t Bt DEME"/>
(value xsi:type="ED">]J2.8.2<{/value>
<I— 800]2.8.2: WiERRI-OEA —>
{/investigationCharacteristic>
</subject0f2>
{/investigationEvent>
</subject>
</controlActProcess>
</PORR_IN049016UV>
<l-- Message #1 —>
<l-— Message #2 —>
<!-- PORR_IN049016UV —>
<I— /PORR_INO49016U0V —>
<l-- Message #2 —>
<receiver typeCode="RCV">
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.4” root="2.16. 840. 1. 113883. 3. 989. 2. 1. 3. 14"/>
<{I— N.1.4: Batch Receiver Identifier —>
</device) -
{/receiver>
¢sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.3” root="2.16.840. 1. 113883. 3. 989. 2. 1. 3. 13"/>
<!-— N.1.3: Batch Sender Identifier ——>
{/deviced
</sender>
</MCCI_IN200100UV01>
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XMBRA VA FZ A (HHFEERE)

<?xml version="1.0" encoding="UTF-8"7>
<MCCI_IN200100UV01 ITSVersion="XML_L.0” xsi:schemaLocation="urn:hl7-org:v3 MCCI_IN200100UVO1. xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www. w3.org/
2001/XMLSchema-instance”>
<id extension="N.1.2" root="2.16.840. 1. 113883. 3. 989. 2. 1. 3.22"/>
<¢!— N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
<l— N.1.5: Date of Batch Transmission —>
<responseModeCode code="D"/>
CinteractionId extension="MCCI_IN200100UV01” root="2.16,840.1.113883.1.67/>
<name code="N.1.1” codeSystem="2. 16.840.1.113883.3.989.2.1.1.1"/>
<1~- N.1.1: Type of Messages in Batch ——>
{l— Message #1 —> )
<PORR_IN049016UV>
<id extension="N.2.r. 1" root="2.16. 840 1.113883.3.989.2.1.3.1"/>
<)== N.2.r.1: Message Identifier —>
{creationTime value="20101214151617"/>
¢l== N.2.r.4: Date of Message Creation —>
CinteractionId extension="PORR_IN049016UV” root="2.16.840. 1.113883.1.6"/>
<processingCode code="P"/>
(processlngModeCode code="T"/>
<acceptAckCode code="AL"/>
{receiver typeCode="RCV™>
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.2.r.3” root="2.16.840.1. 113883. 3. 989.2.1.3.12"/>
1= N.2.1.3: Message Receiver Identifier —
</device>
{/receiver>
<sender- typeCode="SND">
(device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.2.r.2" root="2.16.840. 1, 113883. 3.989.2.1.3.11"/>
¢!-— N.2.r.2: Message Sender Identifier —>
</device>
</sender>
{controlActProcess classCode="CACT” moodCode="BEVN">
<code code="PORR_TE049016UV” codeSystem="2. 16.840.1. 113883.1. 18"/>
¢{1-—-'HL7 Trigger Event ID —>
(effectiveTihe value="20101214151617"/>
<l— C.1.2: Date of Creation —>
<subject typeCode="SUBJ">
<investigationEvent classCode="INVSTG” moodCode="EVN">
¢id extension="C.1.1” root="2.16.840.1.113883.3.989.2.1.3.17/>
¢!— C.1.1! Sender’s (case) Safety Report Unique Identifier —->
<id extension="C.1.8.1” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
<!— C.1.8.1: Worldwide Unique Case Identification Number —>
<id exten51on- "J2. 1b” root="2. 16. 840. 1. 113883 3.989.5.1.3.2.3.1"/>
<l— @eay2. 1b: WHES (B —>
<code code="PAT_ADV_EVNT” codeSystem="2. 16. 840. 1. 113883. 5. 4 />
<(textOH. 1(/text>
¢!— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Add1t1onal Relevant Informat1on -—>
(statusCode code="active”/>
<l—- @08J2.7.1 BT, RETRES —>
<effectiveTimed
<low value="20090101"/>
<¢}-—- C.1.4: Date Report Was First Received from Source ——>
</effectiveTime>
<availabilityTime value="20090101"/>
<!— C.1.5: Date of Most Recent Information for This Report >
(reference typeCode="REFR”>
‘<document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840, 1. 113883. 3.989.2. 1. 1. 27" d1splayName—”11teratureReference />
<title>J2.17.x</title>
<I-- geeyz.17.r RB/HROLSEA #1 —
(text mediaType="application/pdf” representatlon‘”864 >C.4.r. 2</text>
<1--'C.4.r.2: Included Documents #1 —> ‘
<bibliographicDesignationText>C. 4. r. I</bibliographicDesignationText>
<]— C.4.r.1: Literature Reference(s) #1 —>
{participation typeCode="AUT">
CassignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0RG” determinerCode="INSTANCE">
<asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
{code code="J2.15.r" codeSystem="1.0.3166.1.2.27/>
<l— 86@J2. 15.r ARE #1
</location>
{/asLocatedEntity> -



</representedOrganization>
{/assignedEntity>
{/participation>
</document>
{/reference>
<reference typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
{code code="2" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 27" displayName="literatureReference”/>
<title>J2. 17.r</titled
<1 888J2. 17.r AR /HHEOLHRA #2 —>
{text mediaType="application/pdf” representation="B64">C. 4.r. 2<{/text>
<l— C.4.1.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1<{/bibliographicDesignationText>
<l—- C.4.r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<representedOrganization classCode="0RG” determinerCode="INSTANCE”>
CasLocatedEntity classCode="LOCE™>
(location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="J2.15,r" codeSystem="1.0. 3166. 1.2.2"/>
<i—— @@@J2.15.r AkE #2 —>
</lecation>
{/asLocatedEntity>
{/representedOrganization>
{/assignedEntity>
</participation>
</document>
{/reference>
<component typeCode="COMP">
<adverseEventAssessment classCode="INVSTG” moodCode="EVN">
{subjectl typeCode="SBJ">
<primaryRole classCode="INVSB]">
<playerl classCode="PSN” determlnerCode— INSTANCE” />
<{subjectOfl typeCode- SBJ”>
(researchStudy classCode="CLNTRL” moodCode="EVN">
<id extension="C.5.3” root="2.16.840.1.113883.3.989.2.1.3.5"/>
<l— C.5.3: Sponsor Study Number —>
. <code code="C.5.4" codeSystem="2. 16. 840, 1. 113883.3.989.2.1.1.87/>
¢}— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed ——>
<titledC. 5. 2</title>
<¢!— C.5.2: Study Name —>
<authorization typeCode="AUTH">
{studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.x. 1”7 root="2. 16.840. 1. 113883, 3.989,2,1.3.67/>
{1— C.6.1.r.1: Study Registration Number #1 -->
Cauthor typeCode="AUT">
<territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.1.2" codeSystem="1.0.3166.1.2.27/>
<1— €.5.1.r.2: Study Registration Country #1 ——>
</governingPlace>
{/territorialAuthority>
{/author>
</studyRegistrationd>
</authorization>
<authorization typeCode="AUTH">
<studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.1” root="2.16.840. 1. 113883, 3.989.2.1.3.6"/>
<l— C.5.1.r.1 Study Registration Number #2 —>
<author typeCode="AUT">
{territorialAuthority classCode="TERR">
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSystem="1.0.3166.1.2.27/>
<!~ C.5.1.r.2: Study Registration Country #2 —>
</governingPlace> :
{/territorialAuthority>
{/author>
</studyRegistration
{/authorization>
{/researchStudy>
</subjectOf1>
<{subject0f2 typeCode="SBJ">
Corganizer classCode="CATEGORY” moodCode="EVN">
<code code="4" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. 1. 1. 20" displayName="drugInformation”/>
{}— G.k Drug(s) Information (repeat as necessary) #I —>
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<component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a—9c30-67671b0ef%ed” />
<consumable typeCode="CSM">
<instanceOfKind classCode="INST"> )
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{code code="G.k.2.1.1b" codeSystem="TBD-MPID"/>
<l-- G.k.2.1.1b: Medicinal Product Identifier (MPID) #1 —>
<name>G. k. 2. 2{/name>
<l— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #l —>
<asManufacturedProduct classCode="MANU">
<subjectOf typeCode="SBJ”>
<approval classCode="CNTRCT” moodCode="EVN™>
<id extension="6G.k.3.1” root="2.16. 840, 1. 113883. 3.989.2.1.3.47/>
<}— G.k.3.1: Authorisation / Application Number #1 —>
<author typeCode="AUT">
<territorialAuthority classCode="TERR">
(territory classCode="NAT” determinerCode=" INSTANCE >
{code -code="G. k.3, 2" codeSystem="1.0. 3166. 1. 2. 277>
<{!— G.k.3.2: Country of Authorisation / Application #1 —>
</territory>
</territorialAuthority>
</author>
<pertinentInformation typeCode="PERT">
(policy classCode="POLICY” moodCode="EVN">
<code code="]J2.5.k" codeSystem="2. 16.840. 1.113883.3.989.5.1.3.2.1.4"/>
<I— @@@J2.5.k: —BRAERKFEDVV XIKFE #1 —>
</policy>
{/pertinentInformation>
</approval>
© {/subject0f>
(subjectOf typeCode="SBJ">
{characteristic classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="$TERKMFORRES"/>’
{value xsi:type="CE” code="]2.4.k" codeSystem="2.16.840. 1. 113883.3.989.5:1.3.2.1.37/>
<1-- @88J2.4.k: FERLFORRKSL #1 —>
{/characteristic)
<{/subjectOf>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN">
<generalizedfaterialKind classCode="MAT” determinerCode="] KIND >
<code>
<originalText>J2. 12{/originalText>
<1— @a8J2.12: WBREAEF —>
{/code>
</generalizedMaterialKind>
" </asSpecializedKind>
(ingredient classCode="ACTI1”>
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”/>
¢}—- G.k.2.3.r.2b: Substance / Specified Substance TermlD #1-1 ——>
<name>G. k. 2. 3. r. 1</name> '
¢}— G.k.2.3.r.1: Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
</ingredient>
{ingredient classCode="ACTI">
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G. k. 2.3.r.2b” codeSystem="TBD-Substance”/>
<l-- G.k.2.3.1.2b: &MMMe/ﬁuﬁmdemmehmm#12—>
<name>G. k. 2. 3. r. 1</name>
¢l— G.k.2.3.r.1: Substance / Specified Substance Name #1-2 -->
</ingredientSubstance)
</ingredient>
</kind0fProduct>
<subjectOf typeCode="SBJ">
<observationEvent classCode="0BS” moodCode="EVN"> .
“Ccodé code="2" ‘codeSysten="2. 16, 840. 1. 113883. 3. 989, 5. 1. 3. 2. 110" displayName="—fEREFRLKDOAFRER"/>
<value xsi:type="CE” code="J2.6.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.5"/>
— @eeJ2.6. k: —RAERKOAFER #1 —> .
</observation§vent>
</subject0f>
</instanceOfKind>
{/consumable> )
{/substanceAdministration>
{/component>



</organizer>
</sub ject0£2>
{subject0f2 typeCode="SB]">
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2.16. 840, 1. 113883. 3.989.5.1.3.2, 1. 11” displayName="TAERDLE"/>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code="7" codeSystem="2. 16. 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="/RHEI¥"/>
<value xsi:type="INT” value="1"/>
<l— @eeJ2.13.r.1: EHEH #1 —>
{/observation>
{/component>
{component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="x}5HR"/>
(value xsi:type="ED">J2. 13, r. 2</value>
<l— 08872.13.1.2: WEKRA #1 —>
{/observation>
</component> N
<component ‘typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="PR%E40"/>

<value xsi:type="CE” code="]2,13.r.3” codeSystem'="Z. 16, 840. 1. 113883, 3.989.5,1.3,.2. . 77/>
<I-- @e@J2.13.r.3: BARAA #1 —>
{/observation> oo -
</component>

{component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="$3IKh DiER DF " />
<value xsi:type="BL” value="true”/>
<I— @68J2.13.1r. 41 REPOEFMOHE #1
{/observation>
</component>
{/organizer>
</subject0f2>
{subjectOf2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
{cade code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3.2. 1. 11" displayName="{RERDE"/>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10™ displayName="/8 HiEI%"/>
Cvalue xsi:type="INT” value="1"/> ’
«K1-- @8@J2.13.r.1: A= #2 —
</observation>
{/component>
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="5tSIKRH"/>
<value xsi:type="ED">J2.13.r.2</value>
<l-- 000)2.13.r.2: REKB #2 —
{/observation>
</component>
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16. 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="BAS$8"/>
<value xsi‘type="CE” code="]2.13.r.3" codeSystem="2.16.840. 1.113883.3.989.5.1.3.2.1.7"/>
<l @eeJ2.13.r.3: BAR4R #2 —
{/observation>
</component>
<component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
Ccode code="10" codeSystem="2. 16. 840. 1. 113883. 3.989.5. 1. 3. 2. 1. 10" displayName="3RFEP DIEF| D F E"/>
<value xsi:type="BL” value="false”/>
<l @eaJ2.13.r.4: REPOEFOFE #2 —>
{/observation)
{/component>
{/organizer>
</subject0f2>
</primaryRole>
</subjectl>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2.16, 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED">H. 4</value>
{!— H.4: Sender’ s Comments —>



<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
<code code="1" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 21" displayName="sender”/>
</assignedEntity> '
</author>
{/observationEvent>
</component1>
<componentl typeCode="COMP">
CobservationEvent classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1.3.2. 1. 10" displayName="RZETIZXT D2 A }"/>
<value xsi:type="ED">J2.7.2</value>
<}— @8@J2.7.2: RETIHTEIAVF —>
{/observationEvent>
</componentl1>
<componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10” displayName="45#% D XE"/>
<value xsi:type="ED">J2.10<{/value>
<1 @eaJ2.10: SHOFIE —>
</observationEvent>
</componentl>
<componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1. 3.2. 1. 10" displayName="% DB EHFEE"/>
<value xsi:type="ED">J2. 11<{/value) :
<1— @eeJz.11: ZDMBEFERS —
{/observationEvent>
¢/component1>
<componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1. 107 dlsplayName—”ﬂ“:Wb@E)ﬁ >
<value xsi:type="ED">]J2. 16</valued>
<l—- @eeJ2.16: WENBOEM -
{/observationEvent>
</componentl>
</adverseEventAssessment>
<{/component>
<component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
- {code code="23" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19” displayName="1localCriteriaForExpedited”/>
<value xsi:type="BL” value="true”/>
¢l— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —->
</observationEvent>
</component>
<outboundRelationship typeCode="SPRT">
<relatedInvestigation plassCode=’INVSTG" moodCode="EVN">
<code code="1" codeSystem="2. 16, 840. 1, 113883. 3. 989. 2. 1. 1. 22" displayName="initialReport”/>
<subjectOf2 typeCode="SUBJ™>
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT™>
CassignedBntity classCode="ASSIGNED">
<code code="C.1.8.2" codeSystem="2. 16. 840, 1. 113883.3.989.2.1.1.37/>
¢!— C.1.8.2: First Sender of This Case ——>
</assignedEntity>
{/author>
{/controlActBEvent>
</subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG” moodCode=" EVN >
{code nullFlavor="NA"/>
<subject0f2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r” root="2.16.840.1.113883.3.989.2.1.3.27/>
(l-— ¢ 1.10.r: Identlflcatlon Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
{/controlActEvent>
</subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT">
(relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
<subject0f2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">



<id extension="C.1.10.r" root="2.16.840.1.113883. 3.989.2.1.3.2"/>
¢{}— C.1.10.r: Identification Number of the Report ¥hich Is Linked to thls Report (repeat as necessary) #2 —>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigationd
</outboundRelationship>
<subject0f1 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED”>
<addr>
{streetAddressLine>C. 3. 4. 1</streetAddressLine>
{l—- C.3.4.1: Sender’s Street Address -->
<city>C. 3. 4. 2</city>
<l--C:3.4.2: Sender’s City —>
{statedC. 3. 4. 3(/state>
¢l-- C.3.4.3: Sender’s State or Province —->
</addr>
<assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>
<prefix>C. 3. 3. 2</prefix>
<1— C.3.3.2: Sender’s Title —>
<given>C. 3. 3. 3</given>
<!— C.3.3.3: Sender’s Given Name —>
<given>C. 3. 3. 4<{/given>
{]— C.3.3.4: Sender’s Middle Name —>
{family>C. 3. 3. 6</family> .
{!— C.3.3.5: Sender’s Family Name —>
{/name>
asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="C.3.4.5” codeSystem="1.0.3166.1.2.2"/>
<]—— C.3.4.5: Sender’s Country Code —>
</location>
{/asLocatedEntity>
</assignedPerson>
{representedOrganization classCode=" ORG determinerCode="INSTANCE">
<name)C. 3. 2</name>
<l— C.3.2: Sender’s Organisation ——)
{/representedOrganization)
</assignedEntity>
{/author>
{/controlActEvent>
</subject0f1>
<subject0f1 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.r.2” root="2.16.840. 1. 113883.3.989.2.1.3.3"/>
¢l—— C.1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #l —>
<l-- €. 1.9.1.1.2 Case Identifier(s) #1 —>
{/controlActEvent>
{/subject0f1>
<subject0fl typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.r.2" root="2.16. 840.1. 113883. 3.989.2.1.3.3"/>
<= C.1.9.1.1.1: Source(s) of the Case Identifier (repeat as necessary) #2 -->
{!— C.1.9.1.r.2 Case Identifier(s) #2 —>
{/controlActEvent>
</subject0f1>
<subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 23" displayName="1ichReportType”/>
<value xsi:type="CE” code="C.1.3” codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.2"/>
<}— C.1.3 Type of Report —>
</investigationCharacteristic>
<{/subject0f2>
{subjectOf2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1. 23" displayName="otherCaselds”/>
<value xsi:type="BL” value="true”/>
<}— C.1.9.1 Other Case Identifiers in Previous Transmissions —)
. </investigationCharacteristic>
<{/subject0f2>
<subjectOf2 typeCode="SUBJ">
<investigationCharacteristic classCodé="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" dlsplayName— nullificationAmendmentCode”/>
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(value xsi:type="CE” code="C.1.11.17 codeSystem="2. 16. 840. 1. 113883. 3.989.2.1. 1.5"/>
¢1-- C.1.11.1: Report Nullification / Amendment —>
</investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS” moodCode="EVN">
(code code="4" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="nullificationAmendmentReason”/>
<value xsi:type="CE™>
CoriginalText>C. 1. 11. 2</originalText>
¢l— C.1.11.2: Reason for Nullification / Amendment ——>
</value>
<{/investigationCharacteristic>
</subject0f2>
(subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS” mocdCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3.989. 5. 1. 3. 2. 1. 12" displayName="EBIE S (W&ESH) "/
(value xsi:type="CE” code="J2.1la” codeSystem="2.16.840. 1. 113883.3,989.5.1.3.2.1.1"/>
<l-- eseJ2. 1a: WBES (BEFE —
<{/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUBJ”>
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16.840, 1.113883. 3.989.5,1.3.2.1. 12" displayName="$%5EHEA"/>
<value xsi:type="TS” value="20130107"/>
<1-- @eeJ2.2.1: WERER —
</investigationCharacteristic>
{/subject0f2>
(subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN"> ‘
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 12” displayName="$$&5ERHAIETZ A2}/
<value xsi:type="ED">J2.2.2</value>
<1 000J2.2.2: WEBBHRACETDI=2AVF —
</investigationCharacteristic> :
</subject0£2>
</investigationEvent>

</subject>
{/controlActProcess>
</PORR_IN049016UV>
{!— Message #1 —>
<l-- Message #2 —>
<!-- PORR_IN049016UV —>
<!— /PORR_IN049016UV —>
{!— Message #2 —>
<receiver typeCode="RCV">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.4” root="2.16.840.1.113883.3.989.2.1.3.14"/>
<]— N.1.4: Batch Receiver Identifier —>
{/device>
{/receiver>
<sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.3” root="2.16.840. 1. 113883. 3. 989. 2. 1,3.13"/>
¢1-- N.1.3: Batch Sender Identifier ——>
</device>
</sender>
</MCCI_IN200100UV01>



XML»/i%ﬁlM YARE VA GEHRERE)

<7xml version="1.0" encoding="UTF-8"?7>
<MCCI_IN200100UV01 ITSVersion="XML_1.0” xsi:schemalocation="urn:hl7-org:v3 MCCI_IN200100UV01. xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www.w3. org/
2001/XMLSchema-instance”>
<id extension="N.1.2” root="2.16.840. 1. 113883, 3.989.2.1.3,227/>
<l-- N.1.2: Batch Number —>
<creationTime value="20101214151617"/>
<¢!-- N.1,5: Date of Batch Transmission —>
{responseModeCode code="D"/>
<interactionld extension="MCCI_IN200100UV01” root="2.16.840. 1. 113883. 1.6"/>
<name code="N.1.1” codeSystem="2. 16, 840. 1. 113883.3.989.2.1.1.17/>
<l-- N.1.1: Type of Messages in Batch —>
<l-— Message #1 —>
<PORR_IN049016UV>
<id extension="N.2.r.1” root="2.16.840.1.113883.3.989.2.1.3.1"/>
{I—= N.2.r.1: Message Identifier —>
{creationTime value="20101214151617"/>
¢!~~ N.2.r.4: Date of Message Creation —>
<interactionld extension="PORR_INO49016UV” root="2.16. 840, 1. 113883.1.67/>
{processingCode code="P"/>
<processingModeCode code="T"/>
<acceptAckCode code="AL"/>
<receiver typeCode="RCV™>
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N. 2.r.3” root="2.16.840. 1. 113883. 3.989. 2. 1. 3. 127/>
¢l-- N.2.1.3: Message Receiver Identifier —>
<{/device>
</receiver>
<sender typeCode="SND">
(device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.2.r.2" root="2, 16. 840. 1. 113883, 3.989. 2.1, 3. 11"/>
¢l-= N.2.r.2: Message Sender Identifier —>
{/device>
{/sender>
<controlActProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TE049016UV” codeSystem="2.16.840. 1. 113883.1. 18"/>
{!—— HL7 Trigger Event ID —> .
CeffectiveTime value="20101214151617"/>
¢]— C.1.2: Date of Creation -—>
{subject typeCode="SUBJ”>
{investigationEvent classCode="INVSTG” moodCode="EVN">
<id extension="C.1.1” root="2.16.840. 1. 113883,3,989.2,1,3.1"/>
<l— C.1.1: Sender’s (case) Safety Report Unique Identifier —>
<id extension="C.1.8.1” root="2.16.840.1.113883.3.989.2.1.3.2"/>
¢l-- C.1.8.1: Worldwide Unique Case Identification Number ——>
<id extension="J2.1b” root="2.16.840.1. 113883, 3.989.5.1.3.2.3.1"/>
<1— eeeJ2. 1b: WAES (FH) —>
<code code="PAT_ADV_EVNT” codeSystem="2. 16, 840. 1, 113883.5.4"/> -
<text>H. 1</text>
<l-- H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information ——>
{statusCode code="active”/> )
. <l-- 008J2.7.1 5T, KETEKZ —>
<effectiveTime>
<low value="20090101"/>
<!-- C.1.4: Date Report Was First Received from Source —->
</effectiveTime>
<availabilityTime value="20090101"/>
<!~ C.1.5: Date of Most Recent Information for This Report —>
<reference typeCode="REFR"> ‘
<document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 27" displayName="literatureReference”/>
<text mediaType="application/pdf” representation="B64">C.4.r.2<{/text>
<l-— C.4.r.2: Included Documents #1 —>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
{l— C.4.r.1: Literature Reference(s) #1 —>
.{participation typeCode="AUT™>
<assignedBntity classCode="ASSIGNED">
{representedOiganization ¢lassCode="0RG” determinerCode="INSTANCE">
<asLocatedEntity classCode="LOCE”>
(location classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="J2.15.1” codeSystem="1.0.3166,1.2.27/>
<l-— @@eJz. 15.r AFKE #1 >
</location> .
</asLocatedBntity>
</representedOrganization>
{/assignedEntity>



{/participation
</document>
</reference>
(reference typeCode="REFR™>
<document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840, 1. 113883, 3,989. 2. 1. 1. 27" displayName="1iteratureReference”/>
<text mediaType="application/pdf” representation="B64”>C.4.r.2<{/text>
¢1— C.4.r.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
{l=- C.4.r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
(representedOrganization classCode="0RG” determinerCode="INSTANCE">
<asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
<code ‘code="]2. 15.r" codeSystem="1. 0. 3166. 1. 2. 2"/>
<l— @8@J2.15.r AKRE #2 —>
{/location>
{/asLocatedEntity>
{/representedOrganization>
{/assignedEntity>
{/participation>
</document>
</reference>
{component typeCode— COMP”>
(adverseEventAssessment classCode="INVSTG” moodCode="EVN">
<subjectl typeCode="SBJ">
<primaryRole classCode="INVSBJ">
(playerl classCode="PSN” determinerCode="INSTANCE"/>
<subjectOf1 typeCode="SBJ">
(researchStudy classCode="CLNTRL” moodCode="EVN">
<id extension="C.5.3" root="2.16.840. 1.113883.3.989.2.1.3.5"/>
<I— €.5.3: Sponsor Study Number —>
<code code="C.5.4” codeSystem="2.16. 840. 1. 113883, 3. 989. 2. 1. 1. 8"/>
<I— C.5.4: Study Type Where Reaction(s) / Bvent(s) Were Observed —>
<titledC. 5. 2</title>
<l— C.5.2: Study Name —>
<authorization typeCode="AUTH”>
(studyRegistration classCode="ACT" moodCode="EVN">
<id extension="C.5.1.r.1” root="2. 16. 840. 1. 113883. 3. 989. 2. 1. 3 6"/>
¢{l— C.5.1.r.1: Study Registration Number #1 —>
Cauthor typeCode="AUT">
(territorialAuthority classCode="TERR">
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE">
(code code="C.5.1.t.2" codeSystem="1.0.3166.1.2.2"/>
¢l-- C.5.1.1.2: Study Registration Country #1 ——>
</governingPlace>
</territorialAuthority>
{/author>
</studyRegistration>
</authorization>
<authorization typeCode="AUTH">
{studyRegistration classCode="ACT” moodCode="EVN">
(id extension="C.5.1.1.1” root="2.16.840. 1. 113883.3.989.2.1.3.6"/>
¢I— C.5.1.r.1 Study Registration Number #2 ——>
<author typeCode="AUT">
<territorialAuthority classCode="TERR™>
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE">
¢code code="C.5.1.r.2" codeSystem="1.0.3166.1.2.2"/>
¢!—- C.5.1.1.2: Study Registration Country #2 ——>
</governingPlace>
{/territorialAuthority>
</author>
</studyRegistration>
</authorization>
{/researchStudy>
</subject0f1>
<subject0f2 typeCode="SBJ">
Corganizer classCode=" CATEGORY” moodCode="EVN">
<code code="4" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 20" d1splayName—”drugInformatlon />
¢<1— G.k Drug(s) Information (repeat as necessary) #I —>
.<component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039—-4a7a~9c30-67671b0ef9ed” />
<consumable typeCode="CSM">



<instanceOfKind classCode="INST">
<kind0fProduct classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.1.1b” codeSystem="TBD-MPID"/>
¢i—- G.k.2.1.1b: Medicinal Product Identifier (MPID) #1 —>
<name>G. k. 2. 2{/nane>
<t=- G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 —>
<asManufacturedProduct classCode="MANU">
<subjectOf typeCode="SBJ">
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1” root="2.16.840.1.113883.3.989.2.1.3.4"/>
<l-- G.k.3.1: Authorisation / Application Number #1 ——>
<author typeCode="AUT">
(territorialAuthority classCode="TERR™>
{territory classCode="NAT” determinerCode="INSTANCE">
<code code="G.k. 3.2” codeSystem="1.0.3166.1.2.2"/>
{}== G.k.3.2: Country of Authorisation / Application #1 —>
{/territory>
{/territorialAuthority>
</author>
<pertinentInformation typeCode="PERT">
<policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k” codeSystem="2.16.840. 1. 113883. 3.989.5.1.3.2.1.4"/>
<I— 888J2.5.k: —RRAERRED) RIRKHE #l —
{/policy> .
</pertinentInformationd
</approval>
</subjectOf>
<subjectOf typeCode="SBJ">
{characteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1, 113883. 3.989. 5. 1. 3. 2. 1. 10" displayName="$7EIERE DORILEXH"/>
<value xsi:type="CE” code="J2.4.k” codeSystem="2, 16.840. 1.113883.3,989.5.1.3.2.1.3"/>
<I— 060J2. 4. k: FERDFOREES #1 —>
</characteristic>
</subjectOf>
</asManufacturedProduct)
<asSpecializedKind classCode="GEN">
(generalizedMaterialKind classCode="MAT” determinerCode="KIND">
<code>
<originalText>J2..12{/originalText>
I 86J2.12: BBRHTE —>
</code>
{/generalizedMaterialKind>
</asSpecializedKind>
<ingredient classCode="ACTI”>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”/>
<}~ G.k.2.3.r.2b: Substance / Specified Substance TermID #1-1 —>
<name>G. k. 2. 3. r. 1<{/name>
<!— G.k.2.3.r.1: Substance / Specified Substance Name #1-1 ——> .
</ingredientSubstance) ’
</ingredient)
<ingredient classCode="ACTI">
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”/>
<l— G.k.2.3.1.2b: Substance / Specified Substance TermID #1-2 ——>
<nawe>G. k. 2. 3. r. 1</name> -
<}— G.k.2.3.r.1: Substance / Specified Substance Name #1-2 —>
</ingredientSubstance>
</ingredient>
</kind0fProduct>
<subjectOf typeCode="SB]">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3,989. 5. 1. 3. 2. 1. 10" displayName="—fXBERKBDOAFERK"/>
<value xsi:type="CE” code="J2.6.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.5"/>
<I— @eaJ2.6.k: —XAERROAFEE #1 —>
{/observationEvent>
{/subject0f>
</instanceOfKind>
{/consumable>
{/substanceAdministration>
<{/component>
</organizer>
</subject0f2>
<subject0f2 typeCode="SB]”>
{organizer classCode="CATEGORY” moodCode="EVN">



<code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989.5.1.3.2.1. 117 displayName="{RERDIFE"/>
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2.16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="F& HiEI¥"/>
<value xsi:type="INT” value="1"/>
<I— @8J2.13.r.1: BHEXK #1 —
</observation>
</component>
{component typeCode="COMP">
Cobservation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2.16. 840. 1. 113883, 3.989. 5. 1. 3. 2. 1. 10” displayName="X}GIRHB"/>
<value xsi:type="ED">J2.13.r.2</value>
<l— 68@J2.13.r.2: REKRE #H —>
{/observation>
</component>
<component typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN">
(code code="9" codeSystem="2, 16. 840. 1. 113883, 3,989, 5. 1. 3. 2. 1. 10” displayName="B5E4R"/>
<value xsi:type="CE” code="J2.13.r.3" codeSystem="2.16.840.1. 113883.3.986.5.1.3.2. L. 7"/>
<l-- @8@J2.13.r.3: PARIB #1 —> :
{/observation>
</component>
<component typeCode="COMP">
~ <observation classCode="0BS” moodCode="EVN"™>
{code code="10" codeSystem="2. 16, 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="#IKPOEMDHE"/>
<value xsi:type="BL” value="true”/>
<l @@@J2.13.1.4: REPOEFIOFE #1 —>
</observation>
{/component>
{/organizer>
</sub ject0f2>
<subject0f2 typeCode="SBJ">
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2, 16. 840. 1. 113883, 3. 989.5.1.3.2.1.11 displayName="{RER DEE"/>
{component typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
(code code="T" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="/EHE¥"/>
<value xsi:type="INT” value="1"/>
<1—— @@8J2.13.r.1: JBHEHK #2 —>
</observation>
</component>
{component typeCode="COMP”>
Cobservation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2.16.840. . 113883.3. 989.5.1.3.2, 1. 10" displayName= ﬁ&?ﬁ%’b
<value xsi:type="ED">J2. 13.r. 2{/value>
<1-- @88J2.13.xr.2: REIHRE #2 —>
</observation>
{/component>
{component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2.16.840. 1. 113883. 3. 989, 5. 1. 3. 2. 1. 10” displayName="B%&+8"/>
<value xsi:type="CE” code="J2.13.r.3” codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2. 1. 7/
<l— @@8J2.13.r.3: FAFEH #2 —>
{/observation>
</component>
<component typeCode="COMP">
<observation classCode=" OBS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883, 3, 989. 5. 1. 3. 2. 1. 10" displayName="$¢3EF DIERDHE"/
<value xsi:type="BL” value="false”/>
- <l— @eaJ2.13.1.4: WEPOEFIOEE 42 —>
{/observation>
</component>
{/organizer>
</subject0f2>
{/primaryRole>
{/subjectl>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2.16.840.1. 113883. 3. 989.2. 1. 1. 19" displayName="comment”/>
<value xsi:type="ED">H.4</value>
¢<!— H.4: Sender’s Comments ——>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
<code code="1" codeSystem="2.16.840. 1. 113883, 3.989.2.1. 1. 21" displayName="sender"/>
</assignedEntity>



</author>
{/observationEvent>
</component1>
<componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1.3. 2. 1. 10” displayName="RETITHTBaAL />
<value xsi:type="ED">]2.7.2{/value>
<I-- @60]2.7.2: RETEHTBIAVF —
</observationEvent>
</component1>
{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 10" displayName="4# Dxti"/>
<value xsi:type="ED">J2.10</value)
<1 @@aJ2. 10: A& DG —>
* {/observationEvent>
</componentl>
{componentl typeCode="COMP"> .
<observationEvent classCode="0BS” moodCode="EVN">
" <code code="6" codeSystem~"2.16.840. 1. 113883.3.989.5.1.3.2.1. 10" displayName="% Dl EFEE"/>
<value xsi:type="ED">J2.11</value>
<1— @@eJ2.11: ¥DMBBEALE >
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2.16.840. 1. 113883.3.989.5.1.3. 2. 1.110” displayName="8B&ERNENDEL"/>
<value xsi:type="ED">J2.16</valued
<1— @66J2.16: MENEOER —>
</ohservationEvent>
{/component1>
{/adverseEventAssessment>
- {/component>
<component typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
<code code="23" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="localCriteriaForExpedited”/>
<value xsi:type="BL” value="true”/>
<1-- C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? -—>
{/observationEvent>
{/component>
<outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 22" displayName="initialReport”/>
<subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
<code code="C.1.8.2" codeSystem="2. 16.840. 1. 113883.3.989.2.1,1.3"/>
{!-- C.1.8.2: First Sender of This Case —>
{/assignedEntity>
{/author>
{/controlActEvent>
</subject0f2>
{/relatedInvestigation>
{/outboundRelationship>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/> ’
{subjectOf2 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r"” root="2.16.840.1.113883.3.989.2.1.3.2"/>
<1-- C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
</controlActEvent>
</sub ject0£2>
</relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
<subject0f2 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
<!~- C.1.10.xr: Identification Number of the Report Which Is Linked to this Report (repeat as necessary) #2 —>
{/controlActEvent>
</subject0f2> .



</relatedInvestigation>
{/outboundRelationship>
<subject0fl typeCode="SUB]">
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
CassignedEntity classCode="ASSIGNED">
<addr>
{streetAddressLine>C. 3. 4. 1{/streetAddressLine>
{!--C.3.4.1: Sender’s Street Address —>
<city>C. 3. 4. 2</city>
{!-— €.3.4.2: Sender’s City —>
{state>C. 3. 4. 3¢/state>
<}-— C.3.4.3: Sender’s State or Province —>
</addr>
(assignedPerson classCode="PSN” determinerCode="INSTANCE">
{name>
<prefix>C. 3. 3. 2</prefix>
<1— C.3.3.2: Sender’s Title —>
<given>C. 3. 3. 3¢/givend>
<1— C.3.3.3: Sender’s Given Name —>
<given>C. 3. 3. 4</given>
¢l— C.3.3.4: Sender’s Middle Name —>
(family>C. 3. 3. 5</family>
¢1— C.3.3.5: Sender’ s Family Name ——>
</name>
CasLocatedEntity classCode="LOCE">
{location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="C.3.4.5” codeSystem="1.0.3166.1.2.27/>
<!-- C.3.4.5: Sender’s Country Code —>
{/location>
{/asLocatedEntity>
</assignedPerson>
(representedOrganization classCode="ORG” determinerCode="INSTANCE">
<name>C. 3. 2{/name>
¢!— C.3.2: Sender’ s Organisation -->
{/representedOrganization>
{/assignedEntity>
</author>
{/controlActEvent>
</sub ject0f1>
<subjectOf1 typeCode="SUB]"> .
{controlActEvent classCode="CACT” moodCode="EVN"> :
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.r.2" root="2. 16. 840.1.113883.3.989.2.1.3.3"/>

<}— C.1.9.1.1.1: Source(s) of the Case Identifier (repeat as necessary) #1 -->
<}— €.1.9.1.r.2 Case Identifier(s) #1 —>
{/controlActEvent>
</subjectOf1>

<subject0f1 typeCode="SUBJ”>
CcontrolActEvent classCode="CACT” moodCode="EVN"> :
<id assigningAuthorityName="C.1.9.1.1r.1” extension="C.1.9.1.r.2" r00t=”2.16.840.1.113883.3.989.2.1.3ﬁ3”/)k
<!-- C.1.9.1.1.1: Source(s) of the Case ldentifier (repeat as necessary) #2 —>
<!— C.1.9.1.r. 2 Case Identifier(s) #2 —> '
{/controlActEvent> '
</subject0f1>
<subject0f2 typeCode="SUBJ”> .
{investigationCharacteristic classCode="0BS” moodCode="EVN”
<code-code="1" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2, 1. 1. 23" displayName="ichReportType”/>
<value xsi:type="CE” code="C.1.3” codeSystem="2, 16.840. 1. 113883.3.989.2.1.1.2"/>
<I-- C.1.3 Type of Report —>
</investigationCharacteristic>
</sub ject0f2>
<subject0f2 typeCode=fSUBJ'>
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="otherCaselds”/>
<value xsi:type="BL” value="true”/>
<1-- C.1.9.1 Other Case Identifiers in Previous Transmissions —>
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ”>
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" displayNeme="nullificationAmendmentCode”/>
(value xsi:type="CE” code="C.1.11.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.5"/>
<l— C.1.11.1: Report Nullification / Amendment —> A
</investigationCharacteristic> '
</subject0f2>



<subject0f2 typeCode="SUB]"> .
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1, 113883. 3.989, 2. 1. 1. 23" displayName="nullificationAmendmentReason”/>
<{value xsi:type="CE">
<originalText>C. 1. 11. 2{/originalText>
<l— C.1.11.2: Reason for Nullification / Amendment —>
</value)
</investigationCharacteristic>
</sub ject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 12" displayName="#iBIE S (BEHW "/,
<value xsi:type="CE” code="]2.1a” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.17/>

- @@@J2. 1a: RAIFES BEZH) —
</investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUB]J">

<investigationCharacteristic classCode="0BS” moodCode="EVN">

<code code="2" codeSystem="2. 16. 840. 1. 113883. 3.989.5.1.3.2. 1. 12"

"<Kvalue xsi:type="TS” value="20130107"/>
<I— @60J2.2.1: WERER —>
</investigationCharacteristic)
</sub ject0f2>
<subject0f2 typeCode="SUB]">

<investigationCharacteristic classCode="0BS” moodCode="EVN">

{code code="3" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1.12"

<value xsi:type="ED">J2.2.2<{/value}
<1— @@eJ2.2.2: MEBBRICETZaAV —
</investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ">

{investigationCharacteristic classCode="0BS” moodCode="EVN">

{code code="4" codeSystem="2. 16, 840. 1. 113883, 3,989.5.1.3.2.1. 12"

<1— @@8J2.3: BiEsRET 77 —>
</investigationCharacteristic>
<{/subject0f2>
</investigationEvent>
{/subject>
{/controlActProcess>
</PORR_INO49016UV>
{I— Message #1 ~—>
¢l— Message #2 —>
<!— PORR_IN049016UV —>
<!— /PORR_IN049016UV —>
<l— Message #2 —>
<receiver typeCode="RCV">
{device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.1.4” root="2.16.840. 1.113883.3.989.2.1.3.14"/>
<1— N.1.4: Batch Receiver Identifier —>
{/device> :
{/receiver>
(sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.3" root=”2.16.840.l,113883.3.989.2.1.3,13”/>
<!-— N.1.3: Batch Sender Identifier —->
</device> N
</sender>
</MCCI_IN200100UV01>

displayName="$3{5#E2 5 B "/>

displayName="#&BERICET =AY}/

displayName="EpBSsis 7 5 77" />
Cvalue xsi:type="CE” code="J2.3” codeSystem="2, 16. 840, 1, 113883.3.989.5.1.3.2.1.2"/>
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B3I DLTEHRREL. AEAEREMET O L, BRI L OBBIES
OftEEZboTEMTET ERD,

TF—5 A 8N

FAE %L | |

XPath /MCCI_IN200100UVO01[@ITS Version="XML,_1.0'l[@xsi:schemal.ocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UV[r]/cbntrolAc‘tProcess[@classCod
e='CACT'][@mood Code="EVN'l/subject[@typeCode='"SUBJ'][1)/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'l/id[@root="2.16.840.1.113883.3.989.5.

1.3.2.3.1'1[1]l/@extension ‘

LR

U T, BEDRE L 25 A AR, BE. HEIE 253 25 1 HROES |

EH L IIE 273 &HE 1 HEROFE 2HICEDLEREZMoILA L 2D,
HEiE. | &XIKR CCYYMMDD % TR#i9 22 &, .
TF—F R CCYYMMDDhhmmss. UUUUI+ | -ZZzz]
FFAE EER)




XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'] [@xsi:schemaLocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd' ]/PORR IN049016UVIrl/controlActProcessl@classCod

e='CACT'][@mood Code="EVN"//subjectl@typeCode="SUBJ'I[1]/investigationEvent

[@classCode="INVSTG'l[@mood Code="EVN'//subjectOf2[@type Code="SUBJ"][inve
stigationCharacteristic/code[@code='2'][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'1[1)/investigationCharacteristic[@classCode="OBS'l [@mood Code="EVN'
Ivaluel@xsi:type="TS'l/@value

[J2.21 BERBE R ] IZOWT UTIORTHEE, BARLELHEICRRT 2.
cFEBRIZBV T, m14%ﬁ%#65@ CHENBAFINZA) & [J221 FEE
WA BRRDIEE . :

- BB 253 £ 1 EEOE 3ES LI 273 £ 1 B ED REHIR 2 &8
LT3 Z L%, MERGEESELIINERFIARIEESEE L TWIEE
305%W@ﬁ¢ﬁ%f%5k%xfwt& A, B 1RERET HENTEMNER
c;015auwwﬁiwﬁﬁfké L LA LTS '

FET I

L

7= 5

10000J

FrAE

A

XPath

]/Value [@xsi't

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'1[@xsi:schemaLocation="urn:hl7-
org:v3 v |
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[r]/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'//subjectl@type Code="SUBJ'[1]/investigationEvent
[@classCode='INVSTG'l[@mood Code="EVN'l/subjectOf2 [@typeCode=’SUBJ 1linve
stigationCharacteristic/codel@code='38'][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'1l[1])/investigationCharacteristicl@classCode="OBS'l[@mood Code="EVN'
e="ED"|/text(

FETECR

e ey e B X peepeey e m@%ﬁﬁ%m%wf\mM§ﬁﬁ'ﬂ@m@4

(1) OIENT2HE0HE. NERZREHT 5,
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- XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'[@xsi:schemaLocation="urn:hl7-
org:v3 |
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIxrl/controlActProcessl@classCod
e='CACT'}[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'H@moodCode="EVN'l/subjectOf2[@typeCode="SUBJ'][inve
stigationCharacteristic/codel@code="4"1[@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1.12'1[1)/investigationCharacteristic[@classCode="OBS'[@mood Code="EVN'
I/valuel@xsi:type="CEl[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.2'//@code

EEBH | BERREEORRSETT,
FLEH BIHES & VTR o — FMEEZBIR L CRET 5,
 ATOBEHEERICSOWNT, —BRAEERUANOEEROBAE, [1=TRE %R
Eh b (5=iRM2 L] OFMLZNENERLERT S L,
- ETOBERBRFICSWT, —BRAEEROBEIL =% L] 15 [7=PMS
R (OTC)] DHMLENTIBR LEH TS Z &, '
F— 4R IN ' '
FrRE B 5 &R
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:h17-
org:v3d

| e="EVN"/valuel@xsi:type='CE@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'1/@code o

MCCI_IN200100UV01.xsd'//PORR_IN049016UVIr]/controlActProcess[@classCod
e="CACT'l[@moodCode='"EVN'/subject@typeCode="SUBJ'l[1]/investigationEvent
[@classCode='INVSTG'] [@mood Code="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1}/adverseEventAssessment[@classCode=TNVSTG'][@mo .
0dCode="EVN'l/subject1[@typeCode="SBJ'[1]/primaryRole [@classCode=TNVSBJ'
l/subjectOf2l@typeCode='SBJ'lHorganizer/codel@code="4'l[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.201][1}/organizer[@classCode='"CATEGORY'l[@mood Code="E
VN')/component[@typeCode='COMP'][substanceAdministration/idl[kl/substanceA
dministration[@classCode='SBADM'l[@moodCode="EVN'l/consumable[@typeCode
='CSM'][1)/instanceOfKindl@classCode="INST'//kindOfProduct[@classCode="MM
AT'l[@determinerCode="KIND')//asManufactured Productl@classCode="MANU'l/su
bjectOfl@typeCode='SBJ'l[characteristicl[1)/characteristiclcode[@code="11[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10]1[1][@classCode="OBS'][@mood Cod

HHEBHA

RS EREERDEAD Y 2 K4, %R RE R ERR Ch b
| ZEERT |
EEFE | RS L @Y — FEZBRLTRET D &,

3




- BHERES—RAEEROHEIL. ThENOBHPREEIC OV T [01=5—4
ER&] 55 TO=H=HERR] RO [2S=HES MERR) OFHLBR LR
ToHZ L | |

- BHBEEENERMERRERR OHE L. ThTLOBHPEEIC OV T 4=
ERMEREEERS] FRET L,

2AN

B 5 B

/MCCI_IN200100UV01[@ITSVersion="XML,_1.01[@xsi:schemaLocation="urn:hl7-
org:v3 _
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod |
e='CACT']l[@moodCode="EVN'l/subject[@type Code="SUBJ'}[1]/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG'l[@mo
0dCode="EVN"/subject1[@typeCode="SBJ'I{1] /primaryRole[@classCode="INVSBJ'
I/subjectOf2[@type Code="SBdJ'l[organizer/code[@code='4'][@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.20'1][1}/organizerl@classCode="CATEGORY'|[@moodCode='E
VN'l/component[@typeCode='COMP'][substanceAdministration/id][k]/substanceA
dministration[@classCode='"SBADM'l[@mood Code="EVN'l/consumable[@type Code
='CSM'l[1)/instanceOfKind[@classCode="INST'V/kindOfProduct(@classCode="MM
AT'[@determinerCode="KIND')/asManufacturedProduct[@classCode=MANU")/su
bjectOfl@type Code="SBJ'l[approvall[1)/approvall@classCode='CNTRCT'l[@mood
Code='"EVN'l/pertinentInformation[@typeCode="PERT"] [1]/poliéy[@classCode:'PO
LICY'l[@moodCode="EVN'l/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4')/@code

HEREES —RAEREMLOHEDAFRREZ T,

B REN—RAERLDOBAIE. TN 0B AHEREEIZOWTHHES L v Ed)
Zpa— NEZBIRLCEH T & \ '

1A

B | %

Bk 5 B




XPath

(value)

/MCCI_IN200100UV01[@ITSVersion="XML_1.01{@xsi:schemalocation="urn:hl7-
orgv3 v ' ,
MCCI_IN200100UV01.xsd'//PORR_IN049016UVIr)/controlActProcess[@classCod
e='CACT"][@moodCode="EVN"/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/component[@typeCode="COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l[@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode="INVSBJ'
I/subjectOf2[@typeCode='SBJ'l[organizer/codel@code='4'l[@codeSystem="2. 16.840.
1.113883.3.989.2.1.1.2011[1)/organizerl@classCode='"CATEGORY'][@mood Code='E
VN']/component[@typéCode=’COMP‘] [substanceAdministration/id][k]/substanceA
dministration[@classCode="SBADM'l{@mood Code="EVN'l/consumable[@typeCode
='CSM'1[1)/instanceOfKind[@classCode="INST'l/subjectOf[@typeCode="SBdJ'l/obse
rvationEvent[code[@code="21[@codeSystem='2.16.840.1.113883.3.989.5. 1.3.2.1.10
T11[@classCode="OBS'l[@mood Code="EVN'l/valuel@xsi:type="CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'/@code |

XPath
(null

flavor)

/MCCI_IN200100UV01[@ITSVersion=XML,_1.01{@xsi:schemaLocation="urn:hl7-
org:v3 ) 4 ' .
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r}/controlActProcess[@classCod
e='CACT"{@mood Code="EVN'l/subject@typeCode='SUBJ'] [1)/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component [@typeCode="COMP"[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l[@mo
odCode='EVN']/subject1[@typeCode:'SBJ 1[1)/primaryRolel@classCode="TNVSBJ'
I/subjectOf2[@type Code="SBJ'][organizer/codel@code="4"][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'11[1)/organizer[@classCode="CATEGORY ' [@moodCode="E
VN'l/component[@typeCode='COMP'][substanceAdministration/id][1]/substanceA

. dministration[@classCode:fSBADM'] [@moodCode#'EVN']/consumable[@typeCode
='cSM'][1)/instanceOfKind[@classCode="INST')/subjectOfl@type Code='SBJ'l/obse

rvationEventlcode[@code="2"1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
ll[1][@classCode="OBS"l[@mood Code="EVN'l/value[@xsi:type='"CE'l [@codeSystem
'2.16.840.1.113883.3.989.5.1.3.2.1.5'}/@nullFlavor
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XPath

/MCCI_IN200100UV01 [@ITSVe;'sion='XML_1.0'] [@xsi:schemaLocation="urn:hl7-
org:v3 ‘

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UV[rl/controlActProcessl@classCod
e="CACT'1{@moodCode="EVN'l/subject@typeCode="SUBJ'|[1)/investigationEvent |
[@classCode=INVSTG'][@mood Code="EVN'}/statusCode/@code .

EHEHE | RETHREOHAI. KETHREOEAETT,

RETE | el

Vabhmb £it! 10000J

FFAE H He#E _

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'[@xsi:schemaLocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{rl/controlActProcessl@classCod
e="CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode='"COMP'l[adv
erseEventAssessment][1]/ adverseEventAssessment{@classCode=TNVSTG'l[@mo
0dCode="EVN')/component1[@typeCode='"COMP'l[observationEvent[codel@code='
3'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']1[1)/observationEvent[@c

lassCode='0BS'1[@moodCode="EVN'l/valuel@xsi:type="ED'}/text(

TH B @A BIVE BB SO TR FE IR 1 3B T L RIS D BINEE DEE I RE T
Do Co ‘ ‘ ' ' :

SHFE | RUTEHE0R [I=RENSHN ERETHCL,

748 | IN 3

HAE | ISAERE |

XPath /MCCI_IN200100UV01 [@ITSVersion="XML._1. 0'] [@xsi:schemaLocation="urn‘hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT'][@moodCode="EVN/subjectl@type Code='SUBJ'1[1)/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'l/subjectOf2[@typeCode='"SUBJ'llinve
stigationCharacteristic/code[@code='5'l[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.121][1)/investigationCharacteristic[@classCode="OBS'] [@moodCode='"EVN'
Iivaluel@xsi:type='CET[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6 }/@code

FECEE D
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5 — Z 10000J
HFRE B B

XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'] [@xsiischemaLocation=‘urn thl7-

org-v3
-MCCI_INZOOIOOUVO1.xsd']/PORR_INO49016UV[r]/controlActProcess[@classCod
e='CACT'l[@mood Code="EVN'l/subject [@typeCode='"SUBJ'I[1)/investigationEvent
[@classCode='INVSTG'][@mood Code="EVN'/subjectOf2[@typeCode="SUBJ'| linve
| stigationCharacteristic/codel@code='6'1[@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1. 12']][1]/1nvestlgatlonCharacterlstlc[@classCode—‘OBS'] [@moodCode—‘EVN
I/valuel@xsi:type="ED'l/textQ

R B DB AT, Tk 24 73 A 6 B IR T 0306 BEA S EEEERS
Bmkn TR AR 5 MEIEN A 51 ) O—HBKEL>\C) ORI

RBHI LR HDPRRENA T4 ) KLV RENTAERNELZTEHT D,

o Wakva 2L
F—H A 10000J
FrAE B B EHE
XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[{@xsi:schemaLocation="urn:hl7-
org-v3 .
MCCI_IN200 100UV01 xsd']/PORR INO49016UV[r]/contr01ActProcess[@classCod
e='CACT'][@moodCode="EVN' /subjectl@typeCode="SUBJ'1[1)/investigationEvent
[@classCode="INVSTG'|[@moodCode="EVN'}/component[@typeCode="COMP'[adv
erseEventAssessment][1])/adverseEventAssessment [@classCode="INVSTG'][@mo
0dCode="EVN'//component1[@typeCode='"COMP'][observationEvent[code[@code='
41[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10111[1)/observationEventl@c
lassCode='"0BS'l[@moodCode="EVN'/value[@xsi:type="EDl/text(

TE B i W DRIERZICRTT 5 EEE OFFMICED < LE L 5B OXHRT OV TRRE
35, '

SRR E L

F— & 10000J

TAE B H T




XPath

/MCCI IN200100UV01[@ITSVersmn“'XML 1.0'l[@xsi:schemal.ocation="urn:hl7-

org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr]/controlActProcess(@classCod

e='CACT'|[@moodCode="EVN'l/subject[@typeCode="SUBJ'] [1_]/investigationEvent

[@classCode="INVSTG'l{@moodCode="EVN'l/component{@typeCode='"COMP'l[adv

erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG][@mo -
0dCode=EVN')/component1[@typeCode='"COMP"|[observationEvent [codel@code="

51[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.101]1[ 1)/observationEvent[@c

lassCode="OBS"[@moodCode="EVN']/valuel@xsi:type="ED")/text()

EEHUA | FOMBELRLIEEES

T L

Vahet £} 10000J

FAE B R .
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemaLocation="urn:hl7-

org:v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT'll@moodCode="EVN'/subjectl@type Code="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'] [@moodCode='EVN']/component[@typeCodei'COMP’] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'][@mo
0dCode="EVN']/component1[@typeCode='COMP'][observationEvent[code[@code="
6'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']][1]/observationEvent[@c
lassCode="OBS'1[@moodCode="EVN'l/valuel@xsi‘type="ED'l/text() h

HE A ERHEBEICEH L W IRDREETEFT, k

REFE | BRHEBEZEDN L CORVESICE. BREGHEECERL TV ABREa—
RREToI L ' :

F—Z R 70d

FFRE B B

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemal.ocation="urn:hl7-

org:v3

MCCI_IN200100UV01.xsd'l/PORR, IN049016UV[r]/controlActProcess[@classCod
e='"CACT'll@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'l/component{@type Code='"COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'[{@mo

0dCode="EVN'l/subject 1 {@typeCode="SBJ'][1]/primaryRole[@classCode=INVSBJ'
l/subjectOf2[@typeCode="SBJ'l[organizer/codel@code='4'l [@codeSystem='2.16.840.
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1.113883.3.989.2.1.1.2011[1]/organizer[@classCode='CATEGORY'] [@mood Code="E
VN'l/component[@type Code='COMP'][substanceAdministration/idl/substanceAd
ministration[@classCode="SBADM'][@mood Code="EVN'l [consumable/instanceOf
Kmd/kmefProduct/asSpe01ahzedKlnd/generahz_edMaterlaled/code/ongmalTe
xt}[1]/consumable[@typeCode='"CSM'l[1)/instanceOfKind[@classCode=TNST'l/kin
dOfProductl@classCode="MMAT'] [@determinerCode='KIND']/ asSpecializedKind[
@classCode='"GEN'[1]/ generahzedMaterlalKlnd[@classCode 'MAT'|[@determiner
de='KINDl/code/origi IText/text() ‘

HHEMA /{:Tgﬁ Tliz. BREEREORBHEEEREET 5.

THFE | BBREEBERRE mwm\w\ . EMET L,

F—zH | 2N

HAE YL

XPath /MCCI_IN200100UVO01[@ITS Version="XMI,_1.0'] [@xsi:schemaLoeation="urn:h17-
org:v3

MCCI_IN200100UV01.xsd')/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'l/subject[@typeCode='SUBJ'[[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1}/adverseEventAssessment|[@classCode=INVSTG'l{@mo

6dCode="EVN']/ subject1[@typeCode='SBJ'l[1]/primaryRole[@classCode="INVSBJ'
VsubjectOf2[@typeCode="SBJ'] [organizer/codel@code=' 1'l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'[l[r}/organizer[@classCode='"CATEGORY' [@moodCode
='EVN'l/component[@type Code='COMP']/observationl@classCode="OBS'l[@mood

Code="EVN'[code[@code="7"l{@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10"
1I/valuel@xsi:type="INT'l/@value

HA A R LD, BRHERBICEHIN TV IRHBREEZTHT D,
FEF TR BEREERHEZRH L TWABAICIE, BHEERTEZ LN TE D, 7B, BHRE
' BEREZRE L TRV HAIT, ERERHEEICEHR L TV ONRREEZEHTD

e, F—OWBBREMEE COBROERERER L T5B81. Vo~ TRY-> TR
#iaz i,

F—%® | 1000J

| A E REREE
XPath /MCCI INZOOlOOUVOl[@ITSVersmn—'XML 1.0'l[@xsi: schemaLocat1on urn:hl7-

orgv3 .

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UV[r]/controlActProcess[@_classCod
e='CACT'[@mood Code="EVN'l/subjectl@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'l/component[@typeCode="COMP'][adv

9




erseEventAssessment] [1]/adverseEventAsseésment[@classCode='INVSTG'] [@mo
0dCode="EVN'l/subject1{@typeCode="SBJ'] [1] /primaryRolel@classCode=INVSBJ'
1/subjectOf2[@typeCode="SBJ'l[organizer/codel@code="1"1[@codeSystem="'2.16.840.
1.113883.3.989.5.1.3.2.1. 11Tl [x)/organizerl@classCode='CATEGORY'] [@moodCode
—'EVN']/component[@typeCode—'COMP‘]/observation[@classCode—'OBS'] [@mood
Code="EVN'] [code[@code—'s'] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
i'type="ED'}/text()

HEHHA BRETEBEEICRER SN TV IR EEZRT,

FRET i BRAHEHEZRHE L TWVIBREITIE, BREEB T LB TES, BB, R

EREZEHLTORWVESICE, BIKS X Vs o — FEZRR L CD®T 52
L, | '
F—FE | IN
FAE | BIES BB
XPath | IMCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org:v3 4

MCCI_IN200 100UV01 xsd'J/PORR_IN049016UV{rl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'l/subject[@typeCode='"SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'//component[@typeCode="COMP'l[adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode="INVSTG'l[@mo

0dCode="EVN'l/subject1[@typeCode="SBJ'[1)/primaryRole[@classCode=INVSBJ'
1/subjectOf2[@typeCode="SBJ'] [organlzer/code[@code—'l "@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'1] [r]/organlzer[@classCode—'CATEGORY 1[@moodCode
='"EVN'}/component[@type Code='"COMP'l/observationl@classCode='"OBS'l[@mood

Code="EVN'l[code[@code="9'1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
N/valuel@xsi:type='"CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7'l/@cod

HB A %’lpxﬁ&ﬁb@(niﬁﬁﬁk %&%EPUD%&Eﬁ%@ﬁﬂ%TT

TR I— FETRRLS T —NAVETHEYERIVIEEE (True=F ] ., WRWVWESIX
False=] #@&RT2Z L,

F—&E | T—E 10A

FFAME true=H

false=4%
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XPath

/MCCI_IN200100UV01[@ITS Version="XML_1.0'] [@xsi2schemaLocation='urn1hl7-

org:v3
MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UV[r]/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN')/subject[@typeCode='"SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'I[@moodCode="EVN' l/component[@typeCode='"COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG']/[@mo
0dCode="EVN"/subject1[@typeCode="SBJ'l[1}/primaryRole[@classCode="INVSBJ'
I/subjectOf2[@typeCode="SBJ'l[organizer/codel@code=" 1'[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'1][rl/organizer[@classCode="CATEGORY'l [@mood Code
=EVN'/componentl@type Code="COMP']/observation[@classCode="OBS'l[@mood
Code="EVN'l[codel@code='10'1@codéSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1
O']]/value [@xsi:type='"BL'l/@value ‘ '

| J2.144

5E§EI =

IEE.JEEE

%%@%ﬁxé YMEDEWERENBRBREREEN L FRITERVLOTHIHEIT
ﬂ%m%w@w%ﬁi%ﬂ&#@mmR%E@Eixmﬂwﬁ/ﬁ%$%@@ﬂmA
a—R) LEES O, BWEREICRE - BBREN 5T 5, (FREOHBTEEX
ABAARD (8. ZOMOEREEASHESICHRLTOEEFHE] © (1) 238BT
5z k,)

T IE

F—sH

| == rEroBRLCERT B L,

1N

FFAME

1=RA0
2=Bk&

XPath

| /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemaLocation="urn:hl7-

org-v3

MCCI_IN200100UVO01. xsd']/PORR IN049016UV{rl/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN')/subject@typeCode="SUBJ'][1}/investigationEvent
[@classCode="INVSTG'|[@mood Code="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessmentl[1]/adverseEventAssessmentl@classCode='INVSTG'][@mo

0dCode="EVN/subject1[@typeCode="SBJ'I[1]/primaryRole[@classCode=TNVSBJ'
/subjectOf2[@typeCode="SBJ'|[observation[idl[code[@code="'29"][@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19'111[il/observation[@classCode='"OBS'][@mood Code=
"EVN'l/outboundRelationship2[@typeCode="PERT'] [observation/code[@code="11"1[
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1)[1]/observation[@classCode=
'OBS'[@moodCode="EVN'l/valuel@xsi:type='CE'l[@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.8/@code

HH A

WMFERE &R O EEERE IV T, FMEIC b\fiﬁﬂ:P&J/’@bV\%‘iéth\éiEé\
NFREERT,
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ERSGE

Eo— Fro@iliia— RERIRUTERTLIZ &,

WRBEDOHE. REF/LMEFEZOFTENXIL. RREEZFTOE LR T L,
o, SAEHBREDGES. HEE{ToREEREHTIZ L, .
EEREICRBWT, BEEORBEBICL > TR—OHEER R ShIZHE, 1 SDOH
HELLTHRELTELIXZA R, TOBICIIREKEL 1 BBIZEHE L., BVERLEFR]
ALT, ZHBBURIZZOMOAREEZRETDHZ L,

#% B, A—OEBENMIE TR ENEBEITIT. YFIARECSOWTEBNERET 2, *
DERIZIE, BIERE OB ICEIT CUZEMBEORERE L RH T Z &, YEBED
NREPEEH DGRV RLERAT S Z L,

7B, SEOEBNERRRELRDEEIL. BRELTHZ L,

2A

ISO 3166-1 7/ 7 7-2 DE=Z— K

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org:v3 o | E
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess [@classCod
e='CACT'][@moodCode="EVN'l/subjectl@type Code='SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'l/referencel@typeCode=REFR'][docu
ment/code[@code="21[@codeSystem="2.16.840.1.113883.3.989.2.1.1.271][r}/docum
entl@classCode="DOC'{@moodCode="EVN'l/participation[@typeCode='AUT)/assi
gnedEntity[@classCode="ASSIGNED'V/representedOrganization[@classCode="OR
G'll@determinerCode="INSTANCE'l/asLocatedEntityl@classCode="LOCE'/locatio
nl[@classCode="COUNTRY'l[@determinerCode="INSTANCE'l/code[@codeSystem=
'1.0.3166.1.2.2'/@code |

J2.16 BER

EE B

DEEOERZ T

HRHRE R VSEHBRE DSBS, UERE

A | 2L |

T—a 8 500dJ

FFEE H HEeHE

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0"[@xsi:schemal.ocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess[@classCod
e="CACT'][@moodCode="EVN"l/subjectl@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessment][1]/adverseEventAssessment [@classCode='INVSTG'] [@mo
0dCode="EVN")/component1[@typeCode="COMP'l [observationEventlcode[@code='
12'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']]l[1]/observationEvent[@

classCode='OBS'l[{@moodCode="EVN'l/valuel@xsi:type="ED'l/text()




TH B A WMERBEDOHE. TERERER B Xid [FERREER B3] OZTRT,
FREAIE 721 '
F—a B IN
FAIE 1=BEERER B %
2=3EBEFR R /BT 50
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalLocation="urn‘hl7-

org:v3 :
MCCI_IN200100UV01.xsd' ]/PORR IN049016UVIx]/controlActProcess[@classCod -
e='CACT'[@moodCode="EVN'l/subject[@typeCode='SUBJ'][1]/investigationEvent
[@classCode="INVSTG][@mood Code="EVN')/referencel@type Code="REFR'l[docu
ment/code[@code="2'1[@codeSystem='2.16.840.1.113883.3.989.2.1.1.27]][r]/docum
entl@classCode="DOC'I[@mood Code="EVN'l/title/text()

ECE

ICSR D2 (=& DM 2

R#EFE | MIATBIEAERGE E}?%%%‘% SR L BT B,

F—&3 | 100d

FrAE k1

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcessl@classCod
e='"CACT'][@moodCode="EVN"/subjectl@typeCode='"SUBJ'l[1]/investigationEvent
[@classCode='INVSTG'[@moodCode="EVN'l/subjectOf1[@typeCode='"SUBJ']l[cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent(@classCode="CAC
T'l[@mood Code="EVN'l/primaryInformationRecipient{@typeCode="PRCP"}/assign
edEntity [@classCode='ASSIGNED'l/representedOrganization[@classCode="ORG']
[@determinerCode="INSTANCE'l/name/text() '

B H i

ICSR DEBEHEDEEZ 2T,

mELE | BERIESRT D,

F—4E | 100J

FFAME B B FE#

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd'}/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT"][@moodCode="EVN'l/subject@typeCode="SUBJ'] [1]/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN'l/subjectOf1[@typeCode="SUBJ'l[cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode='CAC
T'][@moodCode="EVN'l/prim aryInformationRecipientl@typeCode="PRCP'}/assign
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edEntity[@classCode="ASSIGNED")/assignedPersonl@classCode="PSN'l[@determ
inerCode="INSTANCE'l/name/prefix[1]/text(

HE %A ICSR DEZEFE DO EFRT,

RFE | MEOEEEOKEERT S,

T— g R 100J '

FFAEE B B FeH .

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'[@xsi:schemaLocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT'][@moodCode="EVNl/subjectl@typeCode="SUBJ'I[1]/investigationEvent
[@classCode="INVSTG'H[@moodCode="EVN'l/subjectOf1[@typeCode="SUBJ'l[cont
rolActEvent/primaryInforfnationRecipient] [1)/controlActEventl@classCode='CAC
T [@moodCode='EVN‘]/primaryInformationRecipient[@typeCode:'PRCP']/assign
edEntityl@classCode="ASSIGNED"/assignedPersonl@classCode="PSN'][@determ

Code="INSTAN CE']/name/famﬂy[l]/textO

) =
HEFH | ICSR OREEHEOLETT,
BB MEOHEBEROL FFEHT 5,
Vahmb i 100J
FEE B B ,
XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemaLocation="urn:hl7-

orgv3 v

| MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/control ActProcess[@classCod

e='CACT'][@mood Code="EVN'l/subjectl@type Code="SUBJ T1]/investigationEvent
[@classCode=INVSTG'][@mood Code="EVN'}/subjectOf1[@typeCode="SUBJ"][cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode='CAC
T [@moodCode='EVN’]/primaryInformationRecipient[@typeCode=‘PRCP']/assign
edEntityl@classCode='ASSIGNEDV/assignedPerson[@classCode="PSN'] [@determ

inerCode="INSTANCE'/name/given[1]/text( _

FiHEHE
E#mE | 2L
T—F B 10000J
FrAE B HER ,
XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'[@xsi:schemaLocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcessl@classCod
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e='CACT'][@moodCode="EVN"l/subjectl@typeCode="SUBJ'I[1] finvestigationEvent
[@classCode="INVSTG'] [@moodCode='EVN‘]/component[@.typeCode='COMP']A[adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode=TNVSTG'l[@mo
0dCode="EVN'l/component1 [@typeCdde='COMP'] [observationEvent[code[@code='
131[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1011][1]/observationEventl@
classCode="OBS'l[@moodCode="EVN'l/valuel@xsi:type="ED'}/text(

H B A FiHEE

F#ETIE 7L

Vahnb £ 10000

FrARME B Bk .

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'[@xsi:schemaLocation="urn‘h17-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT'][@moodCode="EVN")/subjectl@typeCode="SUBJ'l[1}/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'/[@mo
0dCode="EVN'l/component1[@typeCode='"COMP'][observationEvent[code[@code='
14'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10T11[1]/observationEvent[@
classCode="OBS'] [@moodCode="EVN'l/valuel@xsi:type="ED'l/text() -

EH A

TIREHE

EEFIE L

T 10000J

HEME & f il

XPath /MCCI_IN200100UV01[@ITS Version="XML,_1.0'l[@xsi:schemaLocation="urn:hl7-
orgv3

_ odCode='EVN’]/component 1[@typeCode='COMP'][observationEventlcode[@code="

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r]/controlActProcess[@classCod
e='"CACT'][@mood Code="EVN'l/subjectl@typeCode="SUBJ'|[1]/inve stigationEvent
[@classCode="TNVSTG'[@mood Code="EVN'//component[@typeCode="COMP'[adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode="INVSTG'][@mo

15'] [@c0deSyste‘m:'2.16.‘840‘.‘1.113883.3.9‘89.5.1.‘3.2.1.10']]][1]/observation‘Event[@
classCode='"OBS'l[@moodCode="EVN'l/value[@xsi:type="ED'}/text(

TH H A FHEHE
RREHE 2L

F— s

10000J
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FrAE

EF==EhuN

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemalocation="urn:hl7-
org-v3 , | .
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr]/controlActProcess[@classCod
e='"CACT'l[@moodCode="EVN')/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN']l/component{@typeCode='"COMP'][adv
erseEventAssessment][1)/adverseEventAssessment@classCode=TNVSTG'] [@mo |
0dCode="EVN'l/component1[@typeCode="COMP']l[observationEvent[code[@code='
16'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1]/observationEvent|@
classCode='"OBS'HH@moodCode="EVN']/value[@xsi:type="ED'l/text(
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